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ENGLISH
Timel: 3 Hours : - Maximﬁm Marics : 80
Text:Who Moved My Cheese ' '
L. AnsWer the fol.lowinvg qdéstions ina wof'd, a phrase or.a .sentence‘ each. (10x1=10)
, 1) Who are the two little people in the story? |
2) W_ho‘says “We resist cﬂange because we are afraid of éhahge’?
3) Whosaid -‘The Cheese story was Waste oftime’? - |
| 4) . Who continued to waké up early every -day?
5) B Mention the writer 6f the stofy “Who Moved My Cheése”. |
: 6j ‘What do the four characters in the story represent?
7)  Name the two mice in the story.
8) Who ére ‘hem 5nd haw’ in thé story?
'9) Who feels ‘Tt is better late than never*?

10) Who gather for the lunch inbhicago?

II. Write a short note on any four of the following:

1)
2)
3)
4)
- 5)
N 6)

The Maze.

The narrator of the Story.

The writings on the Mazc whll.
The Gathering,of Classmates.
The ‘.disCussioﬂ intheend’.

Hem.

" (4%5=20)

[P.T.O.
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‘Who moved my Cheese is a motiVational‘fbusiness fable’ - claboratc.'

i - OR)
Sketch the charactef of Haw. h
erte a bnef note on ‘Sniff and Scurry
(OB ‘
Write a brief summary of the story “Who Moved My Cheese”. .

 Substitute the following phrases with one word_.
1) Movement forward or towards achieving something.

2) Very unhappy fora long period of time.

3).  Very silly orunreasonable.

4) Something that makes you to reﬁlember something.
5) Liked more than any other thing, |

- Convert the followmg sentences as directed.

1) Heattendedall the papers. [convert to passive voice]

2) Hewas warned by his parents. [convert to active voice]

3)  Cutthecake. [convert to passive voice]

4) Coluymbus discovered America. [convert to passwe v01ce]
5) Let the door be opened. [convert to active vonce]

(1x10=10)

(1x10=10)

(5x1=5)

- (5x1=5)

Draft anotice informing your college students about the ‘Patrlotlc Song’ competmon .
orgamzed inyour college highlighting the details of the time, place, date, prizes, rules,

etc.

(1x5-5)~

Write a paragraph on the ideas mherent inthe followmg saymgs |Provcrbs| Precepts/ o

Maxlms.

i) “All th'at glitters is not Gold”

- (OR)
ii) ‘Barking dogs seldom bite’.

(1x5—5)-




 memmmE ® . usa

Do the proof reading of the following passage for the pﬁblication. (1x5=5)
The ‘Madhya Nisheda’ Andolan is 2 group of NGOs and rights activists who have

- been campaigning to ban alcohol in the state for nearly a decade. The campaign by

F)

women in 2018 chief minister Siddaramaiah dismissed the demand of women’s group
too ban alcohol in his trademark Jocular stile during a speech in Raichur, which led to
them seating on dharna’ and than a padayatra,(March) demanding prohibition in the

state Karnataka has seen four chief ministers since then, but little action on their
- demand to ban alcohol Ironically it was the pandemic which handed the Andolan a sort
- of pyrrhic victory when their was now alcohol sail for a entire month in April 1 2020.

Make a ‘Review’ of the following article or a Cinema seen by you. (1x5=5)

. Bamboo is perhaps the most useful plant in the world. It grows in almost all .

tropical and subtropical countries. The only continents in which bamboo does not
grow are Europe and Antarctica. In India. It grows extensively in the north east and.in
the Western Ghats. There are varieties of bamboo that grow to a height of 40 metres,

~and bthers that reach a Height of only a metrp. Bamboo is among the fastest growing

~  plants of the world; one plant in J apan recorded a growth of 121 centimetres in ohe

~ day! youcould almost see if growing!

-'The Bamboo is a variety of grass, with a Woody, many - jointed stem. The stem

itselfis hollow and is connected to a rhizome network which spreads out beneath the

‘surface of the soil. Roots grow out of this network of rhizomes and help the plant to

. -absorb and distribute food and water from the soil. Many species of Bamboo flower
~ once in several years and then die. One of the species flowers regularly once in 120

years: Bamboos of that species all over the world flower together in the same year,

~ and then die.

‘Bamboo is a versatile plant. Men have found several ‘uses for it. Bamboo
shoots are a staple diet in many Asian countries. The shoots are pickled or stewed,

- apd served as delicacies.
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CORPORATE ACCOUNTING- I ' '

Paper - I
* (RepeaterlRegular)

‘Time : 3 Hours | o Maxi_mum«Marks.:,so :
Instructtons to Candtdates .

1) - AttenqptALL Sectwns accordmg to Internal Chotce.
- 2)  Simple & Non-programmable Calculators are Allowed.

SECTION - A
e - e
Answer any TEN of the following. ' , B ‘(1082.=20)

. e 108 eu3080.
1 2 Whatis fim @der@riﬁng.? ‘{

,. | 93&33 ;%@Qw_lugod.aoﬁdeab ?
b) Deﬁne preference shares.

B B4 s@;m =3, a:aaa |
c) Give therjournal ently for'tﬁe reissue of forfeited Shares at‘- discognt. :
o Am&g’ﬁraeen_ aﬁ&d 8ed>ri;:§oq ;’xm&ﬁ@aﬁ Rerdoss Spez NG wdowd.

d) V}ha_,t is underwritting of shares ? |

SeOTITRy, LAEAR LDOE SOTTERD ?

- [PT.O.
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k)

| Romsbod w3, ea.

N @ 363230230

What is final dividend ? Who declares it ?

8030 CoYR0E SOTSED ? BB GIR AFFORTRS ?

" Expand FMP & ACE.

PMP 253 ACE 20h 2300,

What i is the max1mum remuneration payable to managenal personnel when the
company is having adequate proﬁts ? "

foe.a:oo:m 1&9 C)D?{fﬁ@nad *‘morbcso o m*ﬁaﬁ Wb, 'éaezzos Natpaﬁéo:b 27,

: 3@».)8

What is meant by effective capital ?

BOmIRITI0 LBV aodﬁeﬁa 9

Define Goodwill: =LA

Gif/e-two factors effecting valuation of goodwﬂl

#omdoe:b ﬁi?gaiagt QPFOR 2 abmma | 03N 23920.
Wilat is ’fair value of sﬁare_s '7 o

cdner, Bedoned TP, Soddess 7"

What ére the objectives of underwrittirigv;?

2.LDERTOT: z.,a":'ocf QTR T EBRYID. P0.
X} [ %) ,Q ol .
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. SECTION - B.

o - w
- , AnsWer any THREE of, the fblloivin‘g. o o i (3>'<5='15)_

tiewors 3¢ emga\kb.x |

2.  Prepare a statement of profit & loss as per Part-Il of revised schedule. | )

8 Revenue fiom opertions ©20,00,000
. b) | Other I'ncome-. o B | '_ .7'2,00_,0007 R
& Cost of materials consumed: 15,00,000
b)) .Employee i;eneﬁt‘expenses B 3,20‘,&;00-
€) Tax expenses t 1,80,000
& B StntoB0%003 oor-ai, Taebey apaml Satn, o -VI agm —
2) [STOMD Ymd o -20,’00,006 -
B w0 emmad R S 200000 |
O Ly B AR T issame f
) oS Pogs Sd 320000
¢) :éoﬁ' Sy R " 1,80,000

[PTO.
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3. Rajlaxmx Ltd. issued 100000 equlty shares of Rs.10 each, the whole of the issue was
underwrltten as follows :

P-40% B-30% and K—30%

| The applications received by the company were- for 80000 shares in all out of which
marked applications received as follows ,

P-20000, B-8500 and K-6500
Determine the hability of underwriters.

- oomed, é. awm dr.10 m»aa w3Sad 100000 *amaas 3edm¢ab soasd s eg]bt@?’
a’oz&é‘orbab B N3 rodn DBONT.

P-40% B-30% and K-30%

243, 80000 - SRR A&eﬁo.-'soand% SIS, | S00,3 Lerd S NS

B3 — \: ‘ L - _
P-20000, B-8500 and 6500

g z{:sﬁmdcs esmzsao@m soma.

4. Anagha Co Ltd dec1ded to issue 20000 Equlty shares of Rs. 10 each, 1ssued at a
.premrum of Rs. 2 each. The money is collected as follows.

Rs. 4 on application
Rs. 6 on allotment (including premium)

Rs. 2 on first & fmal call All the money recelved except 2000 shares held by Mr.
_ 'Rahul of final call pass the Joumal entries. . :
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'esaram 50. REHI. faada dra 10 308 " LSod 20000 3@607#30 TdR.2 T & 0030
oond, mﬁ?&:‘c’bﬁbﬁ wENE &3@&336 &3 Ssadaﬁ & WNI03 3}'&90 ai)odmrbdd)' :

ge. 4 wRFod Xwe3, ge. 6 60235033'2-:’@3 (a,emcmo)'mm adn.2 FFH R

03 8308 HedoHd ) Fedone &a To3R 8T LTOAS OB DRSS 2000

- Bedond 30D T 2009,
droensd mawmfagt pm. o .
.. The proﬁts of Rohit partnershlp firm for the past 5 years was as follows
- 2014-950000, 2015-60000 2016 72000, 2917-66000 and 2018-72000

- It was decided to value the goodwrll of dn fimm at 3 years purchasc of the average

profits of the past five years under snmple average proﬁts

Compote value of goodwill.

draesoa_‘ me)rra_o% #oﬁeod:» aootos Swairﬂ#oamée éﬁ?ﬁsoé’ aeée:ond.
2014-90000, 2015-60000, 201’6-72000, 2017-66000 3 2013{72000

390 00 SRFAY CoR YoURed ROYRE ooyl T BRFT DOCD sPee sesr ‘

‘53‘30:3 3 m’ao mno’ozd éeérm’am 3553 aocsoaoaom

:r"Fror"n' theféllowhg particulars of Avani Co Ltd. you are required to calculate the

managerial remuneration in the following situtations.

1. There is only one whole time director.

. 2. There are two whole time director.

Net profit before provision for income tax and managers remuneration but after
depreciation and provisions for repair is Rs.13,50,000

[ET.O.
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Depreciation provided in the books Rs.5,25,000
~ Provision for repairs on machinery Rs. 50,000

' Actual expenses incurred on repairs during the year Rs.40-,000-

o3 3030 O, B3 39N QeRTVI [TNYIY, esqsax: B 903 ~oc$z;3s-‘zwo 5maﬁbﬁ
e omszc:bﬁa ciﬁ To80. B

1. mmrlsQ 28 dTerBech A3
2. st aush e BETy age

tsmcda 3ot B 5;3*3&'6 ~ozpa5§ 3ROTOR a&mdo S8 e ) 300D
- 3038 aw.f o3 awebmn 13, 50 000

A 5033 T'..:jmfdeﬁdad ssse 5, 25 000
: Q‘boé o oBéonen wWod ﬁuﬁ-‘d@ 3nooA, 50 000

3R rcScD bwebmh é’oﬁdmn &0 DWF 40000
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* Answer any TVlIO.r - S L (23’15=30)

| zﬁe%'ad. adds erusa&ol' o |

7.~ . USW Ltd. 1ssued 2000 shm of Rs 10 each the share amount bemg payable as
: follows T TS _

 Rs. 2 on apphcatmn Rs. 3 on allotment :

Rs 3onﬁrstcallandRs 20nﬁnnlcall

€

- Apphcatlons were. recelved for 1590 slm'es whxch were alloted The DlI'CCtOIS made :
~all calls except 150 shares all money were reoelved These shares were forfeited &

o relssued at Rs. 8 per ‘share.’

. USW e, eaada 2000 semmso do m dod wz!oﬁd anacbaw & smm &
$9ngod sOobeand. |

e, 2 ertrab e, o, 3 Foaleodt de. 3 D 90 Bt de2 sosh b

o ;-;1500 secbmﬁ mg eﬁs‘ﬂ% uoacbsdm e@ﬁ% BorBOIRNES. JTIeFTTI ).
: soo:brm: RREN STOQF 150 Jedoriv 830D Fro WOBTTOY, TN & SedorivRy
. aaaesamwo TAHET. SRR, de.8 dos o 3 wRNB amadnaad

Broewd ma)e?ﬂ% wdcn0 @orte e:p'.)ss aﬁgéodaaigl B0I0RD.

[P.T.O.
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8.

Jyoti Co Ltd issued 50000 equity shares of Rs.10 ‘each-to the public. The whole |

issue was underwritten by PQRS as- P-20000, Q-ISOOO R-IOOOO & S-5000

The applications received for Rs. 45000 shares of Wthh marked apphcatlons were.
as follows. :

*

P-22000, Q-9000, R-11000 S-1000

' Find individual liability of underwritters.

268 0. DobR0SY Te. 10 Go3 50000 Bechrivady MFEION HIVING. e,
Bedonid), Bedd rharcd YRR Hed PQRS wayconer @ows SnEoNT.

. P-20000, Q-15000, R-1oooo-.&_s-5000

_ R EIBOOT AT, Smd 2430, Bedonie? s 45000 mg SBY, 2,830, ma ma:m:su- ‘

mdaﬁraoaﬁ wocs e923e e 6& é:maoaa

P.22000, Q-9000, 'R-’11000 $-1000

| 60 THIRECT. FoDEE BARMOOBEDRY, FomeR0I0.

Following is the trail balance of Vidya Ltd.

 Particulars »/ o Qc.bl!  Credit
.Shar_e cgpital (50000 Eq. shares of Rs.10. each) - ~— 500000 _‘
Calls in a;rears o o . 7500 -
General reserve | , o - , - 20000
Profit & Loss Alc | o " - o | ~ 32500
Bank Account . . B o 35650 o  -_




mEmmEE 0 0 3enyese
| Sundry Debtors - | »: - o :8.700(): ‘ -
Reserve for doubiful debts . - 8350
Sundry cediors - L g0
G@wiii I | | | | . 20000 . -
Bmldmg o - 400000 -
Machmy o - R o 33._000_0' .
. Depreciati_oh' on:Machméry _' EU —' '3;3000 |
i{lv&snnents R R ‘ | R | '47506' | _ -
I;r\‘?lilnatzmy,,m—ipé"nm : e\ : - : 4-506_ - .
12% debentures M o - 3().60%50
| Outstandmg '7 i-i.xtérest, ._Ton debentures R | ; '-  - | ' 1'40_'00 o
Loans & advancesr | - . 42500 - -

Closing stock o ' | - 5000, ] -

J"Prepa_.re statement of ‘Assets and Liab.ili‘tics as on 31/3/2020.

‘om0t 31.03.2020 dom D, O. AHAE > VBRI TV FNFOIS.

[P.T!O.
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oo S s
" Beco worme (G0.10 8 50000 ecbriwd) - 500000
808> 18 | '-, | - . 7500 -
oot 3 =0 - 32500\'
mRny, 00 B, 20000 |
S - . 35650 -
S | | £7000 e
dogeb mod e 4350
m'aa’o@.ddd o | on : Y P ghon
ROROED 1, L= . .‘2'0606' - :
sz L o 4l(')000'o'~. SR
obos, | o - .3)300_00 .
2edpenEcnTd TR | no -
Do RIT9 | R | C e 133000
a%aao&meﬁ u | : B | - 47500‘-  -

T, Cops Ppivd I 4500 -
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12% mosgnh S - 300000’
OB 000 038 | - R ~ 14000
DO m;g:mémm. 3 | s -
oodp X | | | 00 -

A |
10 The bai'ance sheét of CSB Ltd‘as‘ on 3’.1/3/.2020 is as under
Paniculérs : - ‘Note No. k | - Amt,
I Eqﬁity and liabilities

(1) Share holders funds

‘Share capital | 1 400000
' Résel_'ves & surplus 2 134000

@) Current liabilitics
Trade | payables L(creditdrs) S | 376000
- Total - | 910000
i ASSétS'

(1) Non-current Assets

[PTO. |
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. Note 1

“Note 2

" Note 3

The expert valuer valued land & bulldmg Rs 300000

Tangible ﬁxed‘Asséts. coe 3:

intangible fixed Assets (Patents) —

B

Current Assets

Inventories (Stock)

Trade Receivabiés (Debtors) _

Cash & Cash equivalents -(Baok)

Share capital

4000 _eqixify shares of RleO each L

Rese-lfve:& Surplus ) |

General Reserve
Profit & Loss A/c._

Tangible fixed assets

Land & Building

Machinery

. 36323C230

-, 450000 -

'7f166666'f—f°
,1  j12oo0ol";

'f9ooooo“‘f-

400000
80000
44000

124000

200000
250000 .

450000

Goodwill @ Rs.350000 and Machlnery at Rs 220000 The Proﬁts of the company
were 160000 140000 & 180000 ' | : L
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N The'_ 'compa‘ny follows the praCtiée : of tran#fering‘ 20% of the profit to general
reserve. Similar type of companies earn at 10% of their shares, '

Assert'ain‘ thevalue of, shares u'nciler, | -
b Intnnsncvalue method -
: 3) i:;ir--v;l,.;g;neqiéd -
B 0. sy 512000 4 6 et 8 taons
|t o e
O w50
a"edouozsmq . o1 : 40(_)00()'
am abag o . 2 134000
@ wﬂvm
(maanm) S | 376000

LA .9710’0‘00‘

[PT.O.
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I eansd | - .
1) u0 agg égnéo :
| _ﬁ;aezsd%oa&nd) o 3 ‘4'5‘0000
| ertensd wook i (Hoer) 70000
@ 50 o -
| oo : -~ 100000
momd®> .~ A: 160000
o o - 120000
ey |5 500000
i 1 B oy
4000 RORRT, Jedorisod
60100 So8 SR . 400000
wEs 2 0 e i | 80000
matng, 90 o o

o3 oy B a8 124000
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8% of the net profit to Miss. Ashu Manager

One part time director Mr. Siddent was given 5% of net profit as honoi‘aﬁum.

*

Two Managers Miss Amruta and Miss Nikita got 14% of net pfoﬁt.

The totaI Jr‘e_:mune'rat'i‘on»paid by the compémy w‘it,s'25% of net profits.

| Comment Ac'm_,cgch of ihe élbove payments.

2,3 LB 900 ©. aderss womeosd Rex, ot i aeacs m 263 oM
*:bmmnmmamn ozpaaaos:m 8 svnao:; tedons. ,

.a_).

b)

c)

—d)

@)

Be. 7% Z»)af# oaz;juab wmm aderoacS &e. demos essson mdoand

Q0x° 35+ aaoﬁ aﬁ?_mz;d sé. 8%.%9&363?\:3 (B a?eud).

'eemsc’,) :bderd%oad X &mos eﬁoﬁ ﬂadasqmcf cﬁawdd) 5% :om# VP, .-
' ﬁ:azsemnd :

- goodd waa's'md)mad MlSS emaa m Mnss ;)aoaa fadbﬁ 5e 14% :0;3#
ooy, irazsemnd

cSer s sbodeab e, ATT0N 190 Bor0vE L, S CorD 325% SR,

oed AT ROGRSINY wor}, ey eI, CrvRy UKD,
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III Semester B.Com. 4 (CBCS) Degree Examination, April - 2022

- E-Commerce
(Regular)

Time : 2 Hours Maximum Marks : 40
Instructions to Candidates:

1) Attempt questions according to internal choice.
©0308 &SoNoR wWITY, 2, BINOR LUZOAD.

2) Draw diagrams for explanation wherever necessary.
13 OB, Seanug iy wOowd.

SECTION - A
apn - ©
Answer any Five questions of | the following. (5%2=10)
BINS Iesos 5 JINReR LuZ0R0.
1. a) What is E-Commerce ?
| Q-TORIREE Q0TTERY ?
b) State any two examples for C2C business model.
C2C B,3300 [REeR IRFYRTTR TR CEETRAYRY, 9%,
c) What is digital wallet ?
RUBS TSE H0TTE ?
d) Expand E-CRM and E-SCM.
E-CRM =03) E-SCM e, £30A.
e) What is digital signature ?
BIST B Q0TI ?
f)  What is Mail-Merge in MS-Word ?
| MS-Word 89, 060 &omF S50 2
g) State any two features of MS-Excel.

MS-Excel 8 cdna)teutn S8R &3& nVI) 39A.

[P.T.O.



Lt TN

44876/C5010 @ . ) 10 A

SECTION - B

opont - w
Answer any Two questions of the following. . =x5=10)
ARRETAL 0B> BIAGR GvIOD. |
Explain B2C Business model.
B2C #3500 Snmdabay DEoR.
Write a note on Core Banking Solution.
BRET" 230,080 TWOTOT s}, TS 2ToND.
What is Digital Marketing ? State its significance.
BB Indrudon’ 008 7 BEo BOBIFTIY, 9.
State the advantages of MS-Word.
MS-Word 2wt &cdeendned) &oxo.

SECTION - C
open - o

Answer any Two questions of the following. (2x10=20)
CURIIRET OB BIOT v3oR0. | |
Explain the advantages and dis-advantages of E-Commerce.
A-TOWAFT SDTROND ) UFORRRUNT), D3O
Briefly explain the methods of E—Payments.
[-TRDENY IPINTR), NOBTION DTOR.
What is E-Goverance ? Explain its types.
Y-VBYS S0TO ? VWO T,FORGRY, DTN
What is social commerce ? Explain its uses.
RORRET TTT FOTTED 7 BT evBcdRenneR) HHOA.
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III Semester B.Com. 4 (CBCS) Degree Exammatlon March - 2022
Practicals on Skill Development

(Regular) ‘ -

 Time : 2 Hours L ' AR “ 'AMoximllm'Marks_:‘ttO
Instruct:ons to Candidates: B o o
' 1) Attempt questions accordmg to internal cholce
T &0308 e:so:’oﬁ@ﬁ L9 DY, ZInen £030RD.

| 2) Draw dlagrams for explanatlon wherever necessary.
eﬁa‘daqbq Beaooes3 Ny, WS0000.

 SECTION - A
- Qdegert - _
SR - S o (5x2=10)
_ Answer any Five of the following -questions. '
3 89N s 5 JFRen evsono. In2aUnd
1. a)° What do you mean by underwnttmgs of secuntles ?
et &3 "3@&"3 ne i), SRl)s LBOTFOTTERD 7
b) Expand RTGS and NEFT.
- RTGS &3 NEFT Q%oa w3oD.
c) Define Enterpreneurship.
ooy obeed Q0GR 2
d) Define Skill:
- PBOT 539,8; udo‘wo
e) Write any four Socm-cultural factors affectmg a busmess. .
RSB Foed TOLFI WTOT WY, I RN T *ao,oﬂaﬁ eosm?ab é@ﬁoo
f) What is quantitative analysis ? |
 DomnmngE A3 Houded ?
2 What is an e-wallet ?

e-wallet Q0T3O 7 | \
| [P.T.O.
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2.

@

SECTION - B
| o - W

- Answer any Two of the following -questions.
31 #9913 CIRYTTAR SR FION CUZORD.

~ (2x5=10)

Mention any 5 successful enterpreneurs in your region.

aa%ﬁdeﬁd SRR 5 0B, LOBFTHCTRY, Bewd.

. . Prepare SWOC analy31s report of any imaginary company.
CIRJTRTTR ﬁawa)cﬁa SWOC adaodoab 280000. -

Draw a specimen of Debt card and Credit card.

BT B R 3 QLT TRFNY Seasotss, WRRD.

Calculate value of” share using intrinsic value mcthod from give mformatlon
Rs.1,00,000

a) Land and buildings

b) Plant '(agreed value)

c) Assets . (less depriciation)
d) Trade Receivables

e) Goodwill_ (agreed value)

f) Cash equivalents

g) Workmen's deposits :
h) Sundry Creditors
i) No. of equity shares

a) a0 S sms
b) o (w@on Bed)

c) AN (V9 Tt3)
d) =o,ze0 ToesANeL

e) Romosd (2.0 83)

) Inch ZRRS

g) TNOFES BOT

" h) D07 monedd:
i) ?@W&ﬁﬁ Jedony ;1305335

Rs.
Rs.
- .Rs.

" Rs.
Rs.
Rs.
Rs.
Rs.

60,000
25,000
10,000
80,000
35,000
26,000
54,000

10,000
 ©50308 SPY,T TFI0D. Fews Bedors [P, FoTEHACWO..

on. 1 00 ,000

_%

5656655

60,000
25,000
10,000
80,000 -
35,000
26,000
54,000
10,000

1]
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SECTION: - C
. | ot - i ‘ ,

AnSWer any Two questions of the followhg S (2X10=2ﬁ)

NS Qmmmaddra Q0 ZIRER ¢UZ0AD. ,

6. Draft a statement of assets and habllltxes as per Schedule-IH of the companies
Act-2013. : |
oD moty -20130 3a,, Il O ’m oy sy AommOiY Byt
30332040. - L e ' ’

7. List out the prbblems faced by'Rural Entrepreneurs.

e SNty REHORT IR NYR) TLRRE.

8. Calculate mean, median and mode from the following data.
81 39N TeIoN0T e, WAL TRy BeednvRy Oy aaaa
80, 145 90, 50, 105, 175 95 120 145, 165

.9,

| Compute trend values by ﬁndmg 3 yearly moving -average for followmg time

series and draw graph. 7 _
8 NS TIPS 3 JAFAY BOVS FoWO et BFE IPO,IN

- BORROWD.
| Year 2011 2012 2013 2014 2015 2016 2017
Sales 412 438 446 - 45\41 470 483 " 490

- BRoW
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I Semester B.Com. 4 (CBCS) Degree Examination, Aprll 2022

- Quantitative Analysis for Business Decisions
~ Paper - 3.6
(Regular)

Time : 3 Hours B _ | " Maximum Marks : 80
Instructtons to Candzdates y '

1 Workmg steps should be mentioned.
- 2)  Simlpe calculator is allowed.

SECTION-A

dpnt - ©
' Answer any ‘ten' of the following. : - '  (10%x2=20)

9N CIRRHTREAR TH @,Znon w36~&

1. | a)
b)
c)

d)

Define quantitative techniques.
TORRIGE 03,33y A,

~ What is a secular trend ?
A8,00° BH 20ETED ?

Write any two classification of quantltatlve techmques
woabang 303,03 esol 0@ BNEFBOLINTIY 280000.
What is a negative correlation ?

5@03%5 ,oouoqs epocsdem ?

Expand: (i) GM (ii)) HM

23020 : (i) GM (i) HM
32, 36, 48, 52, 40, 54, 46 then find the mode value.

32, 36, 48, 52, 40, 54, 46 Feew' IPO,TI F0BRRBOWO.

’g)

State any two limitations of quantitative techniques.
TORRIEIYE 308,53 T TR WSRTR), LISWO.

[P.T.O.




h)'

1))

k)

H

- Answer any THREE of the following:

@ © 44874/C0240

Mentlon any two uses of SQC. : L
~oa.m zsax;eo:‘o ] VoD, e cdnde adm emﬁo&raeriﬁ#aa emde.:nxa

State any two essentials of good average.

3 XoURD0d) odRHTSe TR »@ﬁ@%éﬁ#@t W30,

Write the formula of weighted AM.

3R8E e50BREIIs RooRd RRZERY, WAKWD.

What is a time series ? - |

T30 [oedSersBesd ?

82, 96, 72, 94, 95, 98 find medlan value.

82, 96, 72, 94, 95, 98 =ToxD 53’90 ﬁﬁa ﬁozﬁo&:@o‘wa
SECTION—B
S~ B

(3%5=15)

#NS caRRERRdR Fco TERER GUIORD.

Write the functions of ‘quantitative techniqués. |

TORRERYE B0BRE FODFATR], LSO,

Calculate mean for the followmg data:

B9rt 80k, XoORO emmcsasm FoROLAD.

X

f

10 20 _20-30 3040 | 4050 | 50-60 | 60-70
4 7 | 16 20 | 15| 8

Calculate 3 yearly moving averages for the folloﬁving data:

39NS TIOBRO0T 3 BAFoDH WOT FoULONTDY Fom> HAOWD.

| Year

1971

1972

1973

1974

1975

| 1976

1977 -

1978

1979 |-

Profit

72

78

96

94

82

81

92

102

90

Find the Spearmans Rank correlatlon for the followmg data.

B9 8ek, XY, AOHORN'T B eed IBTOWOE TOFOBBRY S0maE0.

FPed

Dhoni

29

28

17

T1s

20

26

27

25

34

19

' Kohli

31

32 -

25

29

42

15,

43

32

20

40|




Draw suitable ‘control chart for the following data and give the conclusion.

BN T4 ROYTHE doboY o WSTUIT) TuD X zoai DeoroddaRy, Bewo.

INNENEE, ® . 44874/C0240

39NS Yewor HURE LvBORD.

The following data gives ages and height of 10 mens.

NS Betwy 10 PYOows Sobmd DB VTR, DeRIT.

ample No 1,, 2 3 1 5 16 8 9 10
IS .-0033{ ' N : ' , :
No. of defects{i3 | 15 16 14 13 | 12 11. | 14 | 12 16
DBewng Road:. - | ' : ’
' : SECTION-C
‘ oyen - ¢ ;
‘Answer any 'two' of the followmg : (2x15=30)

15)

Ree (. [ 56 | 42 [36 [47 [49 |42 [60 172 ‘63‘ 56 |

o). (X):

[Height (y) 147 [ 125 |118 128 [ 145 140 [155 | 160 | 149 | 150

71) Calculate regressmn equatlon XonYand YonX& estimate.

&H0WOTD [TV X eﬂas’: Y ab& Y em X & 900030 RnG.

ii) Estimate the likely helght of men when age is 45

45 SRF IDdAZ PHooms aécﬁa:fab LH0DO%D  WIRR.

FWORT RO TOEse0ses 03TYTIC DO msaoa’saﬁ%a WBOWD.

b)- Two crlcketers scored the following runs in “the 10 innings.

QD0 §,8NC 10 BRONNTYY, TN SRYRY ROATTD.

Cricketer-M [12 [115 |6 |73 | 7 19‘119’36 84 129
388 -M |

Cricketer-N [47 [ 12 |76 42 1 4 | 51 ] 37 _48 I3 |01
$8ud -N - |

Fmd who is a better scorer and who 1S more consistent.

‘a) Write any two properties of correlatlon coefficient. - (2+13) |

evipiev) wgmuraaedc‘ W) R BT %doanmd ROUOTRY FOBIBRY, -

Following are the . figures of production (tosses) of a wheat ‘factory.
RReD FRCIoD, LUSBSoD (83a°) eodwosnd 83 FPNTosd.

- | Year -} 2007 2008 | 2009 2010 | 2011 2012 | 2013 |
Production 77 | 88 | 9% 85 91 928 90 -
- [T | ' |

as)

[P.T.O.




10.

11.

i)

it).

iii)

b)

LTI O o 44874/C0240

Fit a straight trend line by Least Square method and calculétc trend values.

| 8%, St g3c00z BOY Sear BIB00I erjpe % 353 ety

60:&360@0030

‘Draw the graph of trend values agamst the ongmal values.

Roew WSnen abrdessn '*‘asg WSne edesd TR0,
Estimate the production of wheat factory for the year 2015.
2015 § Reed TorSod LURTICHR), 0T,

- Write the scope of quantitative techniques. ' _ (5+10)

BORREEZE 303,nY - 39,80, WIoD. :
Eight samples. of size 100 each were inspected and the number of defectlves

~ in each of them were as follows (prepare np chart):

20830 ~o:o’oda %3 1003 oot B deesnenmn Soedamern dreany Kosd,olm),

560:33&:@0300 (np 3B):

Sample No. . |1 [2 |3 475.6 718
QuBrg o, S N

No. of Defectives| 4 |8 |2 6 213 |5 |1
Geesnd Joad, |

- SECTION - D
o -3

Case Study (Compulsory question) L Lt o : (1X15_=15) ,
TEom G obT (FEmad TF): |
Construct X chart and R-chart for the following data and state your conclusion. -

39NS MR X W@ B R uTSI) Sund 30T dmy :asas-oaaasab BewDd.
Sample No Sample Values .

S[RTO NO&S am:ib ab’ae) ned :

1 ] 6 13 14 |

2 9 g8 13 15

3 9 . 8 | 11 10

4 16 | - 18 13 8

5 13 21 19 - 17

6 18 . 16 20 22

- (Given for: n=5 A~0.58 D=0 Dg=2.12)
(NN dedeRnd: n=5 A,=058 D=0 Dz=2.12)
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Time : 3 Hours

Reg. No.

IIT Semester B.Com. 4 (CBCS) Degree Examination, April - 2022 '

Entrepreneurship Development
(Regular)

-

Maximum Marks: 80

Instructions to Candidates:

N 1 a)

1)  Attempt all queSﬁons ‘according to their internal choice.
DR, DYPANTR), 80308 SONOT SONOETN GUIOLD.

2) Section-D question No.12 is compulsory.
B3, Xoss, 12 313’%0&&33?\@3.

Section-A
azgéri -
Answer any TEN of the following. — (10x2=20)
SUNTRIIVY, L3003 @IE 20FORO. \ | —
» Define Entrepreneur.
emqsabécbai 9,35, 2eR0. _
b) Give the meaning of Entrepreneurship. -
'emc:gwaaeoébi) szﬁrﬁagl NERD. | |
c) - State two objgctivgs of entrepreneurship development.
o Rodendon GO GOR> CUETR) 398D,
~d) Expand: TCO and CEDOK. '
- TCO mon» CEDOK &xord.
e) Who is drone entrepreneur ?
ﬁ:aewac T TBeZonT iR 2
- What is venture capital ? .

m&*’fo:aeqsaﬁo WORNY 200 ..?

[P.T.O.
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'g) Give the meaning of angel investor.
SOBE* BERIROT TR DeaD.
h) Define rural entrepteneufshipr. |
- TRQ0er eunyEbeodal 28 Read.

i) - Name two industries started by Dhirubhai Ambani. -

Qedazpaoaa 302700 ‘awbod *ae.wms o1 b tmmdarw aﬁ‘n»dﬁa 3920,

" j) State two: objectives of Digital India.

AR BORMIRG FUB> VEBnYR) S98D.
k) What is business mcubator ?
%00 FoUFo WO aocﬁdem ?
1)  State two government schemes that 'support entrepreneurship.
o bt REad RRES ROSOE UR> ceeEndsy 30R0.

Section-B
Qg = B |
Answer any TI-IREE of the followmg ' ) | 7 - (3%5=15)

NSRS, e Bn0E, EVZORD.

‘Briefly explam the characteristics of Entrepreneur.

VBBV TORFHFNTRY, ROFTTON HIORO.
Explain the functions of NIESBUD.

~ NIESBUD 8 gocdeniva), 9040,

Explain different sources of finance to stimulate, support & sustain entrepreneurship.
B Ehdeodol BReas, FEoh Brte EbeEoD aaqs BEaBORE a:b:aoﬁ#ab DIORD.
Write a ‘brief note on Ratan. Tata. ‘
des 1mim B0 e, Fod 1 L300,
Explain the salient features of start—up-India. :

W -OT -080373 ‘rbeaoasm#mq DTORD,




1.

10.

1L

(LTI O  44872/C0220

- Section-C
: | wPPn - ¥ .
Answer any two of the following. (2x15=30)

PN 83863(5 QO wﬁﬁ@ﬁ SUZOAD.
Define Woman Entrepreneurshlp Explam the problem faced by Woman Entrepreneurs

- D& emd mwéoda maSoi:& :oeae =& emd QN 00T F:0F rie;fafo

QWORD.
Define entrepreneurshlp development Explam the problems faced in entrepreneurshlp_
development programmes. -

- eugEdddeudod ezpagao:b ma.’i CddR, Nea@D. emd Bodew3od o QoD FOORFE,E0TE,
adaoamas ab,o no, &)aia,oo

Explam the need and objectives of rurat Entrepreneurshlp

(UDRASORC A aéwécxb esses ALY emdedrieéao 2IOAD.

Explain the role of self-help-groups in stlmulatmg and supporting Entrepreneursh1p
i aaéeoéicm 2,WReTS HoNe ~aao‘.bﬁ#eb R -RBo03 moag;m* T, dab WORO.

Sectlon -D
, &)zpari 3 g |
B Case Study (Compulsory questlon) — = (1x15=15)

®,300 e-.sqSofos (fcsao:b a")

‘Mrs. Shanta is a graduate and has finished her tralmng in Entrepreneurshlp & wants

to. start a business in her town. As a trainer you are adverted to provide suggestions

for the following.

Q0RT BOOTD 2t BEDEFCOIRNGY, w23 Qdewdod 3dz3eaomgt TG, BN BB
3 BB VTR, TN Rep, TR GORFDODIY YRR WODRSTHT. I BT
Qex) e3ont B NS IZNeR LUBOWIET Soews TRNFSSFS JeRD. :
i)  Explain the challenges she may face in selling her business.

U0 AERIT DI, ST HBORBEHT ILOTVRY DFORD.
ii) 'What are the opportunities available for her to start the business.

B8R B3 DB, WS eswmnem 3Q2D. ‘

iii) What are the government schemes that are available for her to start the
- business. -

- o8 sz ai‘esarba:f‘;td@dd Toood odeexSnsd R ?
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_ Reg.No. |
CIII Semester B.Com. 4 (CBCS) Degree Examination, April - 2022
INNOVATIVE BANKING
(Regular) '
Time : 3 Hours | L Maximum Marks: 80
Instructions to Candidates: ' ‘
SECTION - A
SR - o

1. Answer any ten of the following.
(10><2-—20)

Bezows Ssg'gzﬁln@ﬁ SO0,
a. What is Bank ?
‘zaésos‘; D0TBe 7
~b. Who'is a customer of bank ? .
3,088 MR,TBS0BTeD> 2
~c. Who is a bailee 7~
| Beas3 Q0TS cIARE ?
d. Define crossing of a cheque.
143 SeDRRAVRITED HoBBeR> ?
€. Define endorsement..
| *to0w0E Ry, 9,200,000,
f.  What are post dated cheques ?
. Roods Omeoss WendondeRd 7
-g. What do you mean by scheduled banks ?
LB Wy OB 7 |
h. What do you mean by matenal alteration of a cheque ?
| zﬁéaﬁcfg,,oﬁa Bowew (W=F) WHOORTE DOTTERD ? |
[PTO.
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i. Expand : i) RTGS (ii) MICR

2308 280000 : i) RTGS  (ii) MICR

N _] What do you mean by e—bankmg ?

.ac&: aga m odon® QOTIBES> 7

| 'kk. ‘What .is an order cheque ?-

©3es s Q0BdeR> 7
. What do you mean by wrongﬁxl dishonour of cheque ?
' zSiab ITHN LPCADJH 2003 ?
| SECTION - B -
;R - W

Answer any three of the followmg o ' - (3x5=15)

desod o0 VZ0R0.
Bneﬂy dlscuss the primary functlons of commerclal banks

'm:ézs o), 0Bone: *aqS&)aﬁ BRIV, :o‘oéwmn 23350,

Explam the. sub31d1ary general relat;onshlp between banker and customer |

| ,000 Ty MG FDT DTN TR, RowoFSRy 20R0.

Distinguish between general crossmg and special crossmg N
RIT, BeDeBr TRy DBER BesdeeSro G, FEIARY WS

- ‘Banker is called a dignified borrower' ‘Explain.

"o osc"aab PSR RoOTRISed 580333338’ ~ IO,
What is ATM ? Explain its advantages to customers. ;
‘DLIR0° Q0TBER 9 ™ sseﬁ BTOOTNS W, oiraeassmfm WTIOXD.
SECTION - C
R - 8 . : ,
Answer any two of the fdllowing. | c ! :‘ (2><15=30)
Bees 20w, HUZ0R0. | o

Define terms ‘Bank' and 'Bankel‘ Explam the modem services rendered by commercial
banks. -

‘w057 B mo#o" Sum*m mm oD, msém zaaoabmb aetz:af e:sana)s ,

»edﬁ#ﬁa &)dbkb

(8




1L

L dw

9.

" 10.

INNEEL—— e 44873/C0230

‘Expl‘ain the special reletionship between banker and - customer.

EA08 083 o) M,IE0 IRW [dOd amw aouozsrt@z& DTOD.

- Explain the dlﬁ'erent types of loan prowded by the banks to its customers.
230,080 35 ,3Eon aewm DG FT0E ONT i, SO0,

What is online bankmg ? Discuss the advantages and dlsadvantages of e-bankmg -
sé,da‘ wa 20T OTBER 7 DT, zsg; 239,033 ©TARY ao& em&ﬁme@ﬂm zswrﬁac
| " SECTION - D
aen -8 7 |
Case study - compulosry questlon : : o I (IXI5=15)
BEom SELAbS : SEed B, | P o

- As a banker, how do you act in the followmg cases.
‘samzo moﬁdmn 1 NS & ﬁoﬂrt#e) Bert wéméeb ? R
a) -A cheque dated 1*July 2020 was presented for payment on 10® October 2020.

1 e md 2020 aaceaam BROOT zse‘asw aaaoe 10 esﬁ:aewd 2020 doci:
BARAC YY) 0N ot AR e'and

b) A fixed deposnt of Rs. 10 lakh for a period 2 years presented for with drawal =

just after 1 year by the customer.

dn.10 oﬁ a’nan QOB marm wooda‘ é‘e@ eL.Jalers 0] ieado z..oda I
ICI03T aooa';’dot‘ooa 23, 08NRQR erond

¢) A cheque dated 10% March 2021 was presented for payment on 1% March 2021.

10 Snese 2021 20D, BR00T asmm 1 &nede 2021 Jord TBERLD
- wp08n "dgp»e:and

'd) A crossed cheque is presented at counter and customer demands payment at

counter. |
BeDeomy, BRodT t.omd zée‘asag P00, a‘e?_g; 0,38 ,e’aoasc‘ﬁq,o&e
TBRITOL 8T CWRITS. ' '

e) Mr. Rohan has given a cheque to Miss Avani but cheque has been presented for
payment by Mr. Abhinav. - :

d:aeas T Fiodn 36 2L ) ewzo DOWION VBTN, BT © zss‘afo eszpaas
0Ly F 050 mﬁé e zua o3t Qg:ma" |
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- Reg. No.
I Semester B.Com. 3 Degree Examination March - 2022
Banking Law and Practice :
Paper - I |
(Repeaters)
Time : 3 Hours | , Maximum Marks : 80
SECTION - A
atpari -9
Answer any 10 of the following. | | (10x2=20)
Bens B BINOR Cv3oND. | |
1. a) Who is Banker ?

239,080 Q0BT 03RTD ?
b) Mention any two functions of Central Bank |

86033, w083 CARFTRTIL OB TOCDFNFRY 890,
¢) Mention any two objectives of R.R.B's.
 RRB's alnaimncs o0 euesnesy 3980,

—d) ‘ What do you mean by dormant account ? o o .

ST 203 Q0BT ? | |
e) What do you mean by state cheque ?

@D 8 0TTERD | B kS W¥e 20TBED ?
f) What is mutilated cheque ?

D% 85 QomdeRd ?
g) Mention types of ATM,

 ATM 8 OGvRy $9%0.

h) What is E-banking ?
O wR0don aod_deéo ?
i) Mention any two demerits of debit card.

B TOBFS QTR BTROBRONTRY, 39AD.
| o | [P.T.O.
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j) What is special .power of attorney ?
 ofex SF00 F300 SoTded 2
k) Expand: NEFT, RTGS.
D%0% wdowo: NEFT, RTGS.
) What is cash credit ?
SN B womSeRd 7
SECTION - B
o - W
Answer any Three of the following. : ‘ (3x5=15)
desor Roedd JInvid Lvgono.
2. What is ATM ? Explain its merits and demerits.
 ATM 0T8> 7 ATM 8 6308003 303 omIBeesdns wif HE00.
3. Distinguish between particular lien and general lien.
QOFF, FPST TR, T FWRT; FWPST TINY JF AN 89D.
4. Explain briefly the primary functions of commercial banks.
Jorde, 230, 080Ny @,qsaoﬁ TOODFNIVSY, BTN TOD.

S. What do you mean by material alteratlons of cheques ? and mention in what case
alterations are allowed by bank. -

BIP (PS8 LT SOTTHD 7 o) CART WETHSRE FBIR WETRHD
SUSHETS | |

6. What is EFT ? Explain the advantages of EFT.
EFT @0mgedd ? EFT o esbgeedndsy O=od.
SECTION - C
_ | e - ¥
Answer any Two of the following. ‘ (2x15=30)
tewos SOB TFMeR wZoRD. |
7. Explain the new services of commercial banks.
WL, 13, 0BONT IRSI Ae[NTTY, DB|OAD.
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- 10.

11.

Explain the circumstances in which banker can close customer account.

o, BIS a):)so:bab 39,085 03RS NoTPFnvd, mwﬂra@"u&dowdm QF[OXD.
What is joint stock companies ? Explain the Precautions to be takne incase of
accounts of joint stock companies.

BB WO Noz':’riv.b 0B8R 7 tiracsb LT feo,qrw 233N wr;‘ mo&

Sﬁm&wdmﬁ maommi B,30nVR), SO0, _
What is internet banking ? Explam the merits and demerits of internet banking.
DTS 139,08 0BT 7 AELTYS W, 088 BRTROIND =3 @aaabmwrt# e,
QTIOAD.
SECTION - D
_ RN - @
Case Study (1x15=15)
T80 W00 : ,
As a bank how you deal with the following situations.
QeY I, 080TON FINT BTN, Berd 3, BTORDD.
a) Mrs Gupta call to bank and ask account detail of her husband without his
consent. :

Bedd oy w08t IORRG I VAL Lo aete BEs WS J[N Wit
WIOATDN.

b) An account payee crossed cheque has presented for the payment over the

counter.
TRATIFAN TN, wow TFedeo QT WIS, IROMON 139,083 PoLTIY,
DOToTBRATN. ,

¢) A cheque dated 01-10-2021 presented for payment on 15-09-2021.
01-10-2021 OFo08 BoDT WY 15 09-2021 Do s WoTHOFTN womeri/
pnlaeratetanta® :

d) A cheque dated 01-06-2021 is presented for payment on 03-09-2021.
01-06-2021 o008 BROOT W), 03-09-2021 Somd .69 HOWOIE, wWower.

" e) A customer sent his bills of exchange for collection. Can you apply

garnishee order on the bills of exchange.
W) TR, BB DITOD BI,NPRY [TRACEMRN FWLATN & DT HZne Soed
‘BN e:stiezi’aﬂaﬂ\gi BROBRWIIB. -
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Reg. No.

III Semester B.Com Degree Examination, April - 2022
Business Statistics
(Repeater)

Time : 3 Hours - . Maximum Marks : 80
Instructions to Candidates: ' .- _

1) Working steps. should be mentioned.
2) Simple calculator -is allowed.

SECTION - A
OYRn - : _
" Answer any TEN of the following. ' | ©(10%2=20)
deoss BB BINeR e0gon0d. |
1. a) Define Business Statistics.
B, [B0F RO, TIRT @23, JeqO.
b) State two limitations of statistics.
AOSIR,TIRT CBRJTWAR T TREENTS), S90.
c) - What do you mean by random sampling ? -
. uBys Swdestn oomded 7
d)  Mention the types of graphs.
Beasous3) T3 T Fo0NERY 8920.
e) What do you mean by partition values ? Give the formula for P,, in continous
series. , '
DewE WSNL Q000 ? AP G erdoon Py, a8 Beg@Esy wickwd.
f) Find the range and co-efficient of range for the following data.
BINT TYAOT TR, DR TG TOTOBHT, FoRELRBOWD.
X-10 15 16 9 8 5 25 12
g) What do you mean by sample space ? Give an example.
DTEBFE S5 20BSed 7 LUHBTR B
h) Define Karl Pearson's co-efficient of Skewness.
PO LTS DRWBD 0TS Ty, Ve@d.
i) If E(x) = 8 find E (3x+10).

E(x) = 8 G0 E (3x+10) & B8 omb@owd. |
[PT.O.
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j)  Define probability mass functions (PMF).
Roys ooy POI w8 Je@D. '
k) What do you mean by time series ?
w08, erd 20TTER 2
) - Mention component of time series.
Fow3,eed0d VONnYI) E9A0.
SECTION - B
NPt - W
Answer any THREE of the following. . (3%x5=15)
NI, wiems e B,BNerR Gu30AD. :
2.  What do you mean by census survey ? Differentiate between primary data and
" secondary data. '
Ron, B0 2oBdeR> ? THAB W TRGE BIoBNT ST 2,393 W0,
3.  Draw suitable diagram to represent the following data.
& 9N DFORIY AR e Bessowd R, 1S00D.
Monthly Exp. (3ori$ &:=30)

Item Family A Family B
€903 DEDOW A oW B
Food 1000 2800
Ehaple] '

Clothing - 600 1500
uaﬂ“

Rent 300 400
woldnn , '

Others 1500 2700
2338

4. Calculate mean deviation from mean for the following data.
B $UNT TIOBNRPOT FTIROO00T DIOBCHI) FOBO&LRONWD.
X 10 11 12 13 14 15
f 2 5 10 15 12 6

5.  Find mathematical expectation for the following data.
R BYNI DIOHBR NedzoTT QOEFFBOT) BOWoEEBCWD.
X -1 0 1 2 :
P(x) 02 04 03 0.1
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6.  Calculate 3 yearly moving average for the following data
39N A8 3 SHFNY 230 FToROODRY  FoELBOD.

Year 2013 2014 2015 2016 2017 2018 2019 2020 2021
Output 170 168 94 = 42 32 118 18 194 166
(in '000)
SECTION - C
NN - T
Answer any two of the following. ‘ (2x15=30)
BONIDNVY, e A0 TINER LZORD. |
7. a) What do you mean by diagrammatic representation of data. . (3+12)

Beagorss, 20mseRd ?
b) The following is the distribution of IQ of 150 children. Draw ogives to the data

and find the median.
g FPNI BoHO3W 150 abw 1Q cshda Léwzda Wy R 333@506633

TORILROD. .
IQ 60-70 70-80 80-90 90-100 100-110 110-120 120-130 130-140
No. of :
children 4 16 30 52 34 10 2 2

8. a) Define standard deviation (3+12)
ByBRETZ DWUTTTY, 39,859, A0. '

b) Find Karl Pearson's co-efficient of Skewness comment on result. :

BT LODTIT TR OF0BH WOSISTI), 30B0HBOND. FOT0IT 3T, 0D

SPR0.
ClL 0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40
f 3 2 5 7 13 21 16 8

9. a) A bag has a tickets marked with numbers 1, 2, 3 ........... 9. Two tickets are drawn
at random from the bag. Find the probability that both the numbers drawn are
20T Weowy 1, 2, 3 e 9. Boainwors rHTHSTCT 9 wsewmm BeodT. 2

e3BEEF IR, 08T, zsﬁasaﬂ 1T 37?:36 &3 58erane Koydeneodndodn aﬁc@a R0s3,030
i) Even number tlckets

N&NO&ZO&J L3gees’
ii) Odd number tickets.

W% Mol o esdees
b) For the followmg probability distribution find E(x), V(x) & SD(x).

1 Bredat RoykEdecdndad HITHon B(x), V(X) @@ SD(x)ﬁJ FOEOEC0.
X -1 0 | 2 3
P(x) 0.2 0.1 0.3 0.2 0.2 (5+10)
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10.

11.

a) What do you mean by cyclical variation. Mention stages of business cycle.(3+12)
SRIFT WECORTH 0TTER) ? 3,T0C/@,WH0 BT BOINTIY, 39AD.
b) Following are the figures of sales (in '000) of a marketing company.
[WRODE BOTIOH WROME ©03e0BIIY B8 N0
Year 2013 2014 2015 2016 2017 2018 2019 2020 2021
SR '
Sales S5 60 63 68 70 8 8 8 95
S3002t3(000)
i}  Calculate trend value by least square method.
' 3R, INF BHIoWOR B8 WSNIRY FoRLRWO.
ii) Graph the observed and trend values
Swee BSnen eoresn e WAnY Jeso W A.
SECTION - D
4 Qpon - B _ :
Case Study (Compulsory question) ' (1x15=15)
®,8060 OFODI (FECDH FI) ’ '
The following data represents lives of two models of mobiles V, & V..
85 FINT TRTBY, TR INTOD B o' SoIOTDIY éracsemf\cﬁ v, & V..
Life ‘Mobiles

030, IOt

[in years] Vi V2

(B=FNYY) '
0-1 _ 10 04
1-2 32 14
2-3 26 - 24
3-4 14 40
4-5 10 16
5-6 08 02

As a statistician find out the following and give advice.

L) RBOWD,TOROON B2 FPNTRNGTY, FOBIGRBOWD 039 ROT AeRO.

i) Whlch model has greater llfe span ?
QIR WRE00DH Wod0FE, BN ?

ii) * Which model has more consistant ?
odns BREOID T, Rc:pdé BRODT 7

iili} Which mobile model do you recommend ?
CRE SRWOODTY, BRELO OB VB0 ?




Time : 3 Hours
Instructions to.Candidates:

10.
11.

12.

36328/C280

Reg. No.

HI Semeéter B.Com. 2 Degree Examination, March -
COMPUTER APPLICATIONS IN BUSINESS-II

*

1) All Sections are compulsory subject to internal choice

2) Section D is compulsory -

- SECTION-A
Answer any Ten questions. Each carries 2 marks.
Mention any two spreadsheet Applications

USE of Autofill option in Ms-Excel

. List any four text functions in MS-Excel

What is chart?
Expand DBA and MIS

What do you mean by Query?

- Give the file extension of MS-Excel 2007

List the Objects in MS-Access 2007

What is sorting in MS-Access 2007
Define Form in MS-Access
What is information?

What is online system?

2022

Maximum; Marks : 80

(10x2=20)

[P.T.O.
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13.
14.
15.
16.

17.

18.
19.

20.
P

22,

SECTION-B

Answer any Three questions. Each carries Five marks. (3x5=15)

Write the steps for inserting Row and colurnn.in‘MS-Excel worksheet.
Write the steps to apply F ilter in MS-Excel - | '
Write the Feetures of DBMS

What do you mean by Parameter Query? Explain with example

Discuss the eoneept of MIS ~

| SECTION-C
Answer any Two questions. Each carries 15 marks. (2x15=30)
Explain different types of charts with a neat diagram. |

Discuss the different data models with suitable examples.

_Explain Benifits and Limitatiens of MIS

Write short notes on:
a) office Automation system
b) Cell References -
¢) Relation ships | .
SECTION-D
Case study (Compulsory): : : (1x15=15)

Create the table “SNS Travels” with the following fields in MS-Access 2007. Ticket, No, -
No-of-Travellers, source place, "Destination place, Departure time, and price perform’ the
following quenes

a) Insert five records.

b) Display the details of Travellers who are travelling to “Pune”

©) Display the travellers details whose departure time is 9.00 am

d) Display the records whose source place is Delhi

e) Display the details of ticket whose price is between the range of Rs.1000 to Rs. 1500,
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7 Reg. No.
I Semester B.Com. 3 Degree Examination, April - 2022
RETAIL MANAGEMENT
Paper : 1 '
(Repeater)
Time : 3 Hours ‘ 7 Maximum Marks : 80

Instructions to Candidates:

1) Answer all the sections according to internal choice.
T,80800%) HEPRBYL €30308 B0dyob B50 TZNPN LVZ0RD.
2) Question No. 11 under section - D is compulsory.
opert ‘336, B3 11 Fwedmend.

- SECTION - A
Answer any ten of the following. (10x2=20)

1. a. Define market segmentation.
RRABL, DT (DPES) SoBBE 7
b. Give the meaning of retail management.
~ 308% T, 00 ASFBEOD OFFERY eRO.
c. What is retailing ?
4089 s,T0 20TTERd ?
d. What are Mandis ?
TORET DOTTETD 2 _
e. State any two methods of retail expansion.
$080¢ S9,@00 DFYTHOD DTR> IFNFIY, 2TOW0.
f. Define Franchising.
P, 08 R0 T.83, LT,
g. Define Price.
IS0 a8, B0,

[PTO.
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h. What is advertising ?

WToB) DOTTET) ?
i.  What is markdown pricing ?

e s B fnodd’eab ?
j. Expand : FDI and MRTP.

DFOX WOOWD : P°.B.e303F. B wo®.&0%.83. 4.
k. Give any 2 examples of super markets.

RRTT [RTBEN TR SUTOTTFRNRYRY, WTEOD.
. What is organised retailing ?

RogreIZ $0BY mdasad WDOTTBER> ?

SECTION - B

Answer any Three of the following. (3%5=15)

2. State the advantages of Mom and Pop stores (Kirana stores).
Bos* O3) T S0 SONRNG VRBROINYI), WS0WD.
3. What are the objectives of pricing ? :
W3S dnDessee m%@éﬁ%@@ 9
4,  Explain in brief the tools of sales promotion.
RNV B0 [RELO WHVS TGFIN (VT8Te) BRIy ?
5. . Explain in brief the irhpbrtance of Foreign direct investment (FDI) in retail business.
B3 ($0%9) T,TOTY, Hc3ed Fed WoRTY BeRICD FDBINWORHY ? '
6. Expalin the components of E-retailing. '
DD,V BTN m&mdw BONNYRY, WB0D.
SECTION - C
Answer any Two of the following. (2x15=30)

7.  What is 'pricing ? Explain the pricing strategies used by retailers.
23 ArOEFTED D0EBE> 7 ITRP R TTITO 236 ANOEBFCBY, euTcdpeNTT 08, NFIY
D3HRO. ' |
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10.

11.

What is retail cxpahsion ? Explain the need for retail expansion.

808 T,TH0 DHUS 20TTERL 7 308N TW,IT DTS LY, IINTR DHORO.
Explain the opportunities and challenges for retail business in India.
{R03BY, 308 T,T0E BTEINIRY, Tone IVEONIR), DSOR.

What are the advantages and dis-advantages of online retailing ?

SRS $0BW T, T0E BRBRGS B STRIPCIRTR) DTORD.

SECTION - D
Case study (compulsory question) ' | (1x15=15)

Saish Traders of Belagavi deal with the supply of vegetables and fruits at their retail
outlet. But due to COVID - 19 pendamic- the sales of the retail outlet has
declined.. As a marketing manager what - suggestive unprovements would you
suggest.
BRreoD TooWD® @R TR0 3050 B BeaRYR) $0EY T,TT Boernen RORToE
SRELD FoD) FIRREP0BTTT. ST i.faead -19 3 aaotsd) (BOBODBOD) 0B
DS "DCS“’ SORNR BP0 BRRJD @ ACWoeRD BREJTEIY QTTORITYT.
60’&# aa*add Roericd aﬂ:a@eﬁcaﬁ ARy odns Toxd BB wzﬂémfm Soered
SN amh waaxmmaea
a) Llst the advertising tools used by tin during the pendamic.

BT - 19 TG TSN WYSRAT TGINvoRw) ?
b) Suggest steps to improve sales.

WRTIITY, O Cbﬁ.ra@fow BRTOBROBRIEE B,3oNvoR) ?
¢} What suitable pricing strategy has to be applied to regam maximum sales.

RO%, BRARHHE, FRo0ks FRBLD WS ANDEBCEE, §RROBIT 302,08MTY DOR.
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III Semester B.Com. (NEP) Degree Examination, March/April - 2023

Business Statistics
Paper - DSC
(Regular)

Time : 3 Hours Maximum Marks : 60
Instructions to Candidates:

1) All sections are compulsory.
QR PN {=plewy 3
2)  Answer All questions according to Internal choice.
©OBOT WORNMON I TJROR LvB010.
3) Working steps should be mentioned.
DRT BRI, FOOIPN IFLOLD.
4) Simple calculators is allowed.
ATY MLeB0008, YVTOIRENTLD LFE. 2.
5) Question No. 11 Case Study is Compulsory.
TP~ Tyoee VTONT  IECDNT.

Section-A
g - & |
Answer any Five of the following. ' (5%x2=10) _

wess mdﬁd SVS0R0.
Lo e

b)

Define Business Statistics.

; wa‘was ,uosm mxw ::::ai Ne&E0.

For a frequcncy dlstrlbullon coefficient of variation is 60% and arithmetic
mean is 20. Find Standard deviation. :

WO &@ Aoy, DICHWOD NBOF MOB0F 60% B XTT9TO 20 &N, BNTY
Slover:] ebaseﬁ 60@3&&30@3@

State two methods of calculating cost of living index number.

e 359, AU OBHI), FOBODBOIVE DT DEOTNTS) S92,

Define Probablhty mass function (PMF).

JOPS Mo PoS 6535&35 QeR0.

What is Correlation?

ABBOWOT DOWIER ?

[P.T.O.
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f) State any two Properties of Median.

abr;saécﬁcs QOB @itaﬁ#aigl 89A0D.
_g) Find the Co-efficient of range for the following data.
x - 20 30, 32, 18, 16, 10, 50,7 24: i
BINT T2, B000 o,y THEI0BHHY FORLEBCWD.
2200, 30, 32, 18, 16, 10, 50, 24.

Section-B
_ Qgen - W
Answer any Three of the following. ' (3x5=15)

NSNS, ez Fopdd IJINn GUSoRD.

Calculate Mean, Median and Mode for the values:

20,28, 22, 24, 23, 22,.20, 23, 22.

39N SPY,RVT RTRO, TH, 08 W WRVBNIRY FORELEOND.
20, 2122, 24, 23, 22, 20, 25, 22.

Calculate Mean deviation from mean for the following data.

X = N 12 13 14 15
f - 3 12 21 14 7 2
33 NS TT203NRYOT XTROWOT NITIOY, FETOLRCWD.
X - 10 11 12 il 15
g 3 12 21 14 i 2
Construct the Consumer Price Index from the following data.

Group Index Number Weights

Food 352 48

Fuel 220 10

Clothing 230 8

House Rent 160 12

Miscellaneous 190 15
391 B0y, BRCHFT RBIoOROT 28I 33, ARSI, 0F Ros3, RFAD.

o) Roesd, 0% a’e% 28N

5500 352 48

Q0TS 1220 10

WEd, 230 - ' 8

VI W 160 W 1

QB3 190 15
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5. Using the following information, find the. Regression line of x on y. |
X |
Mean 40 50
SD 5 . 10
and Correlation coefficient= 0.8 And also estimate the value of x when y=42.
BINS SRbSoDI), tvmcdeein y @ e x B &Howme Bealotom) BomdEROWD.

X y
Floprile) 40 50
ITE 3od 5 10

B ABIOWOP 1oFseos = 0.8 =B y=42 AN X B aﬂci’cmab 0T WRRO.
6. Define Standard deviation. State any three propertzes of Standard deviation.
TRTF WOS W, ERRD. IR DBoSD od:a@csaddra TR msat;mrﬁ'éab
WB00.
Section-C
QYN - T
Answer any Two questions (2x10=20)
WeHnsE o m’Sﬁ@ﬁ SVS0ORD. :
7. Find Mean, Medlan and Mode for the following data.
Cl 0-10 10-20 20-30 30-40 40-50 + 50-60 60-70
f 3l 13 20 30 20 13 7
NI a'a"i XNTORO, aozp'a 0% &0 waﬂ:wﬁﬁ%ﬂaﬁo FOTOSHEOD. :
?dmrozd 0-10 / 10-20 20-30 30-40 40-50 50-60 60-70
COR 7 13 20 30 20 13 . 7
8. Calculate Karl Pearson's Coefficient of correlation for the following data.
Price 14 16 17 18 19 20 21 22 23
Supply 84 78 70 75 66 67 62 58 60
FINS R %ma‘rwwdﬁa‘d RBROLOT TOFF0TRR), TOWILRRBOWD.
wS 14 16 17 18 19 20 21 22 23
Buolef 84 78 70 75 66 67 62 58 60
9. From the following data, Calculate Price Index Number by using
i) Laspeyre's method
ii) Paasche's method
iti  Fisher's method

Commodity Base Year Current Year
Price Quantity Price Quantity
A 2 40 6 50
B E: 50 8 40
C 6 .20 9 30
D 8 10 6 20

[P.T.O.
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- 10.

I1.

FENT TANTOT

1) mﬁucmc:

ii) "'aéo:b Sy

iii) @Sc‘ amamm evIodeens B¢ s, 08 60@3&@0&36

WRONEL afma@ DRE WO T\
23e3 TOBRED 3¢ TORED
A 2 40 6 50
B 4 50 5 40
c 6 20 9 30
D 8 10 6 20

a) Define Normal Distribution. State the Properties of Normal Distribution.
TORNT, WITBODTY, T,AT,VA. RN, QWBTECD TOLOTLNTIY S9A.

b) Define the Probability of an event. State the addition theorem of probability for
any two events.
R0oIBRecBCD, W83 EARD. HTW VedF oD FOFOT FOYBRLOWSOIT), WIOWD.

Section-D
QLN ~B
Case Study (Compulsory Question) (1x15=15)

¥,30 BT, DI (F@oD-T,3)

The following table gives the Agricultural Production.

Index (x) and the index of wholesale prices (y) in 5 years.

;R 104 110 112 114 120

it 106 116 140 175 173

(1) Find r_ the correlation coefficient between x and y. Interpret the result.

(ii) Find the regression equation of Wholesale price index on the agricultural
production index. |

(iii) Obtain the estimate of Wholesale price index when the agricultural production
index is 125.

BINS BRETFY Fu LUIDTI BRU 0T (X) TR AN B3SNY Bew o8 (y) =3, 5

JRFNTY, ED‘EEJSd

?, R 104 SHU B0 112 114 120

A 106 116 140 175 173

() x S0D y IEIT TTIT FoWOFBIL), r,, 88 0rR&HR0WD. FITOTBI), SFFAERS,

(i) eru:-sardm R, oﬁd@ AN mj nuazs oﬁcd WP B RDOCTTEIT[I), ﬁomao@o:bﬁ

(iii) 5 & eroaacﬁam Zoed. 3 08 125 SAGTIR AR B nua?s 0333 womum BREDZRS,
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" Reg. No.

III Semester B.Com. 3 (Non-CBCS) Degree Examination, Aprll - 2023
BUSINESS STATISTICS-I
Paper - I
(Repeater) (2016-2017 Syllabus)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
1) Answer all the questions as per internal choice.
2) Working steps should be mentioned.

3) Use of simple calculator is allowed.
4) Statistical table are supplied on request.

Section-A
RPN -
Answer any Ten of the following. (10x2=20)

FINT cdnPYmmde B T,JNON ev3020.
1. a) Define Statistics.
NOIYTIIL | 239,35, BRRO.
b) »What do you mean by primary data and secondary data ?
D,FAT WA BB DSe0T WX Q0BTERD, ?
c) What do you mean by sampling ?
QTBFEEC 0T 7
d) Name different types of Bar diagrams.
‘oY Teasowdd, @ G @mﬁm 3930.
e) Define percentiles, give the formula P, in continuous series.
IBSROTNY a30,25; BRRD. IS J,erIoW0T P, AGT A3, B, 28000.
f) Define dispersion.
BOBONTOD 9,85, BRRO.
g) Define skewness.
DRTOBD 29,35, BRRO.
h) What do you mean by sample space ? Give an example
- ABBFE 9598 Q0BT ? GVDITOR BRR.
i) Define probability of an event 'A'.
A" Fe3J0D0 ROPTILODBODT), 39,85, ER@O.

[P.T.O.
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j) . Define Random variable.
ROy, BOIR 9,5, BRAD.

k) Name the stages of business cycle.
33008 W8BY, IO BosreRy BIORD.

1) What do you mean by seasonal variation ? Give an example. .
0BT BRVODT DOTTE 7 LUBTS BRB.

Section-B |
QPR - W :
Answer any Three of the following. : (3x5=15)

FINS cinPmende Bowdd FINeR «wIoRD.

2.  Explain stratified random sampling method with meris and demerits.
:d@ce%s ST ATTFF DHoSTIY TOTOTOLNGL0DN ITOXD.

3. Draw a percentage bar diagram for the following data.
S FINT JRE Besmomothd oyl Tearonss, |y WA,

Expenditure Family-A : Family B
DFTLD Boe0W-A Brvow B
| | (Rs) (Rs.)
Food (&%0) . 4,000 6,000
Clothing (u%ﬁ@&:) 1,500 2,000
Education _(éiw) 1,000 1,500
HR. (3 wan) 2,000 3,000

Others (239) 1,500 2,500

4.  Calculate Range and co-efficient of range for following data.
8INS ©@ Toussn TORWS orte WOWSDH THTHICBIY, FOBBRCWO.
¢, & 10 20 30 40 50 60 70 80
£ 5 7= L 15 19 10 8 2

5. Find Mathematical expectation for the following data.
BINS DSTEWA Nedzags A0eTFHODT FORLHROWD.
N -1 0 ¢ 2
Pxy: 1S 110 3/10 2/5
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6. Calculate 3 yearly moving averages for the following data.
33 FENT TG SR BAFead WOT FTHRDADTY, FORBBOWD.

Year : 1995 1996 1997 1998 1999 2000 2001 2002 2003
Yt: 180 165 210 200 170. 170 160 260 " 210

Section-C
YN - T

Answer any Two questions. : (2x15=30)
NS CIRPYTTAR TR TBINOR LvSdRD.

7. a) Distinguish between diagramatic and graphic representation of data. (6+9)

Oeaoould, @02 ©ded QpoSny SEOT BBYANTI) WIoWD.
b) Construct the histogram and frequecy polygon for the following data.
BINT TO,RE FHoreIE W) ¢ WYY SN, TLRD.

Class : 20-30. 30-40 40-50 50-60 60-70 70-80 80-90
S[nF: : - _
Frequency : S 12 18 . 30 20 15 7

3,8 xoe;tij

8. ,a) (Whatis skewness ? What are the types of skewness ? (4+11)
TR QOTTE ? AJSCD STHNDL o3RI 2
b) Calculate Karl pearson's co-efficient of Skewness for the following.
NS TRBEWOT TS FR0NTIT ARE30H 1OFE0s FoRLBED.

Profits: 0-10 10-20 20-30 30-40 40-50 50-60 60-70
(Rs. in Lakhs) :

Sptapler] :

No. of firms: 8 12 20 30 - 15 10 5

VATONT =03
@ )

9. a) Define mathematical expactation. (2+13)

nedeogs DOCTFODRY, 599,809, .
b) In the following probability distribution find the missing probability and find the

mean and variance. )
B3 FINT ToPIRAecDI DBTHR ITIBRT ToLIEVe0303 WSO, TR
ATORD #0B) DWOTODTY FoWoBHEAD.
X 4 6 8 10 12
P(x) : 1/8 1/6 - 1/4 1/12 (5+10)

[P.T.O.
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10.

I1.

a) Define co-efficient of variation.
DBOT TOTIIST W35, TRRD.
b) Which of the followmg two series is' more consxstant and why ?
& NS 20 THOPNY, cdnRYm ), %déa‘ba’).gl TRODT W) DT 7 Q0T

SDE, .
o 136 129 120 117 134 156 140 165 170 173 -
¥ 86 83 64 75  TBUHOT 96 T 123 137 - (3+12)
Section-D
) N} - B
Case Study (Compulsory) - . (1><15=15)

D30 egahs : (FEad 33)

. Mr. Suman and Mr. Pandu own a small company that manufactures portable TV. Tables

in Gadag since they started the company the number of tables thcy have sold is

representated by this time series.
Year 2000 2001 2002 2003 2004 2005 2006 2007 2008

Tables sold 42 50 51 75 9¢; . 1 2o/ 123 | 13D

a) Fit a straight line trend and Estimate trend | values for all the given years.
Estimate sales of Tables for the'year 2010.

b) Draw a straight line for trend values.

porn e m TR FSD NonNSE) ea TV eé’ewoﬁeda‘o smanoa D3T3, LI
sdorion 3cdnts SROT sewons 033 03 esﬁo_mdgl 2pedRI3.
2000 2001 2002 2003 2004 2005 2006 2007 2008

RIROT Hewe

ne doad 42 50 51 75 92 111 - 120+ Sd2F5430

a) DeRHEAT 0§ Ko NOR TYSeo TS0y WowHA zﬁdﬁ% BOROBOAD.
- 2010 d@ dnm&am Bewond Jo3, om), 9

b) ;ﬁlé UEnen eCedTd n»df;‘é’eaiodo@l ebeéoﬁob
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Reg. No.
III Semester B.Com. (NEP) Degree Examination, March/April - 2023
CORPORATE ACCOUNTING (DSC)
(Regular)
Time : 3 Hours Maximum Marks : 60

Instructions to Candidates:

1) Attempt All Sections according to internal choice.
B0Z0T SOICD T 50T O PRAST LVZOR0.

2) Simple and non-programmable Calculators are allowed.
AT B0V FoodeeFeans NEPBIR), GUTdReN.

3) Section-D Case Study is compulsory.
Deor - @ SR IS 9D,

SECTION-A
WP - &
Answer any Five of the following. : ' (5%x2=10)

Besos VT VOO,
1. a) What is Underwriting?
W BRORBRNT WIHOT DOWTE 7
b)  What is Firm Underwriting?
Do e, FREOT LDOB OTTER> ?
¢) What is Profit Prior to Incorporation?

BOTAOD PR [R0TS L3 0TBed 9

[P.T.O.
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d) Give any two examples for Intangible assets.
50T es?iﬁ.@ﬁ QRO wmﬁdﬁﬁ@é@* BRB.
e) Name two methods 6f Valuation of Shares.
ZeToNYRy, SPY,TRTI IRET TR TTENIT, BRORD.
f) What is Divisible Profit?
DPNTOBOD oL ROTTER 2
g) What is Interim Dividend? Who can declare it?

DF,ERSE TgR03 Q0TI 7 VT IR PREAROTIT ?

SECTION-B
oyRn. - W
Answer any Three of the following. (3x5=15)

NS s T GU3ORD.
2. Name five types of Underwriting Contracts.

LR TOIR 200N wTOBE DR TTONEY BFOD.

3. What is Sales Ratio? Give any three examples of expenses which are allocated on
the basis of sales ratio.

SINoILT BRTE V0TI 7 BRTT LRI SHOSE o TowWT [RED
=) BWNFE) BIOAD. (VBT BRB)
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4.  Anand & Co Ltd. issued 80,000 shares of Rs. 10/- each. of which the shares were
Underwritten by Vikas and Kavya was as under.

Vikas : 48,000 shares and Kavya : 32,000 shares.

The Public subscribed for 64,000 shares which included marked applications as follows:
Vikas : 40,000 shares and Kavya : 14,000 shares.

Determine the liability of Underwriter.

BIOT RV FoTD a3 80,000 JeTondd), WRdnd IRER) T8 303 TN B3S
dR.10 SE2S. FomRoh Jeconvs) DT T T LU IR BT LT3
RRBRROBED, AT FYNF0S AT, |

5o 48,000 Jeoonsd o= 5931 32,000 Beconieh.

), BROWBROBE) &TTY, MTSHOE (MOERTIST R0,
[OOB) Betond @S B3 FSNT03 QTTS. '

ADEBITD 64,000 Jeongd

D50%: 40,000 FerL T T,: 14,000, Fedorted

LN TOENmsY ARY BDIWROODI) AFFORD.

S. The following are the profits of Nagraj & Co Ltd. for the past five years.

2018- Rs. 3,50,000 ; 2019- Rs. 4,25,000 ; 2020- Rs. 3,80,000 ; 2021-Rs. 4,00,000 ;
2022- Rs. 3,95,000. :

L3

The Co. was decided to value the Goodwill at 3 years purchase of the Simple AVerage
Profits: of the past five years. Compute the value of Goodwill.

S 39 ERuchT oy TN W FTIALEG 5 800F SHFT CPTNDIE.
BRT ARVT TYNT0ITIH.

2018- dw. 3,50,000; 2019- Tn. 4,25,000; 2020- Gn. 3,80,000; 2021-cw. 4,00,000;
2022- dwe. 3,95.000.

se3F TPOTW WRNT, 3T 5 [AFS oW 3 TR, S0 DFFORED
SETRFITT0WB. &8 N apigevasilapisiont-3 OB FOTY DoDWBTER QG DATOZYT.

ST ATTN00T sedrPY,I OY IRRD.
| [P.T.O.
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6. From the following information, prepare note no.l1 for 'Share Capital' of the
company as prescribed in schedule 111 of the Companies Act 2013.

Authorised capital
Issued capital
Subscribed and Paid up

Calls-unpaid

Forfeited shares

8.000 Equity shares of Rs. 100/~ each

20,000 Preference shares of Rs.10/- each

6,000 Equity shares of Rs.100/- each

20,000 Preference shares of Rs.10/- each

5.000 Equity shares of Rs. 100/- each Rs.80/- paid-up
20,000 Preference shares of Rs.10/- each fully péid-up

- By directors and officers Rs.15,000

Rs. 10,000.

3 261 dnsy, SRB3CE0T FRCSeoD S0TANY w03 2013 B0bF, NI I ANGIRATIOS
5358 1 D03 5630 0BT T, SROR.

ez 3 LWOBTP

BNEINAT WOBTOP

2ROTEROT FOB

ﬁomcdamcﬂ LWOBWOY

BOT0DTING TS0 IEW:

TNLRRRELD TOIVLS
ed o) &d

B3¢0 W%

8,000 m;msﬂ' Bedoned T,8 Jeon 8».100 Tod
20,000 IFS B Jedond T,& IO gr.10 Cod
6,000 Z=RT, Feoonied TS 0T B[0D 23¢3 ©».100 To3

20,000 3’3)55.750 Eééai Jedonsd T,8 B0k RI0D B de.10
ofor:] '

5,000 mmaé 53&71&;3@3 Fe03 30D ¥S dwe. 100
Cod T30 ﬁdﬁ 32.80 S0T030TINT.

20,000 TFS> T Jecorid Ty Feo7 SIS ©n.10

303 TPEIF FOTIOIWING.

DBerdEcy TFy Beiedad AoodEdes 8e.15,000

drwoc 10,000.
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SECTION-C
PN - B
Answer any Two of the following ' ; (2x10=20)

desos adwﬁs GUS00.

7. X Co Ltd. issued 50,000 Equity shares of Rs. 10/— each. The whole of the issue ‘was
underwritten as follows.

Anand : 40% shares , Balachandra : 30% shares and Chandra 30% shares.

The applications received by the company were for 40,000 shares in all. The details
of marked applications out of the applications received is as follows. :

Anand : 10,000 shares , Balachandra - 5,000 shares, Chandra : 10,000 shares.

The remaining applications for 15,000 shares did not bear the stamp of any underwriter.
Determine the Net liability of each Underwriter.

X' R0 FoTICDIT 50 000 wms @3@:1«;;3 %)8 Je03 SwDS 8r.10 ToI
imcéﬁm@daerad TOTROD DR, é‘ecbﬁ@ab zu.sﬁ nodn ﬂm@éoa uwocjmdcb iraoabérww
u&ﬁ.rao@daaad R0 RT B8 %@Jﬁwoé <ac$’

ST : Fesmwo 40 Betorish; woersos, : Fesmo 30 Seconsd: 2303, : Bevmo 30 Jedoneh

FOZAN 1T EIFOOR 40,000 SeTonermdN Be2rodd 3end WORTBS. S50 ISR
Beon¥ [T B3 IWNT0ST. (MO&Rme08 0w ROTOZR, RRODT BBREN)

EI0T : 10,000 ecbrish, w0e30n, 1 5,000 Seconsd, 303, : 10,000 Jezdonsh
0003 15,000 BeSoremn wos serrds cnDe rHOTROVR), BeoOmRe,

S0eO8 HTMLOT W IR ERehT HERTTS DY HIRNPDOCHR), AFFOXD.

[P.T.O.
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8. Ambica Co Ltd. was incorporated on 1-4-2021 to take over the business of Aravind

Co Ltd. as from 1-1-2021. Balances extracted for the year ending 31-12-2021 were

as follows.

Particulars Rs.
Gross Profit 70,000
Expenses :

Salaries and wages 36,000
Rent and Rates 1.800
Office Expenses 12,000
Commission on sales NIRRT 8,000
Advertisement ' 2,000
Audit fees ‘ 1,000
De.pre&‘:iation . 4,000
Interest on Debentures 3.000
Directors fees 2000
Printing and Stationery 2.400
Bad debts ' . 800

73,000
Net loss (Expenses-Gross Profit) 3.000

Additional Information :

a) Sales for the first three months amounted to Rs. 80.000 and Rs. 1.20.000 for
the next nine months.

b) Rent was paid Rs.100 per month.
¢) Bad debts include Rs. 200 upto 31-3-2021.

Prepare Statement showing Profit or Loss prior to an after incorporation.
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0T FOT QODZY) D008 1-4-2021 Fomd RIVTOLT. D RO 58903
FOTR DODABIR) OT00F 1-1-2021 538 D0, TSI DOOAT. D008 31-12-20213
SEFT, S0 dennsh B3 FWNTeS Relevrcing

IBRD _ | dn.
FERES | 70,000
S
owe By B 36,000
War L o 1,800
gedeood Sy 12,000
BRoWT Foeds BeRened - 8,000
w0 g, 2,000
8, T0dRGRD e 1,000
Xesge ¥ 4,000
MO T Hoeds wE ' | 3,000
RATerzEd 20 ] _ 2000
Jrino W o5 e Py, 2,400
38 Doond 800
73,000
RSP TR (Sefpied-rany o) 3,000

TPOT IR&SD:

a) ©OIE ReBY Tt SonY [RoILT e, B08 dR.80.000 ) =od 9
8ort¥ InoRT Beg de.1,20,000.

b) woar T& sorsd BRI 8R.100
¢) Oz08 31-3-2021 3 mond wdrieor SR% TR.200 933,

I3 ATTBRYOT oI AIFIOL DO, o= J0ICHY, BRRT word T
TRVCT), FORBROTNT TEIODI) FodndRE.

[P.T.O.
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9. Following is the information of Manju Co Ltd.

Particulars 2020 2021 2022
Net sales 6,00,000 4,50,000 | 7,50,000
Operating costs 3.00,000 2,70,000 3.,75,000
12% Debentures 2,25,000 2,25,000 | 2,25,000
10% Term Loan 3,30.000 3,30,000 | 3,30,000

Additional Information :

48081

a) Share capital of the company consists of 30,000 Equity shares of Rs.10 each

fully paid.

'b) Rate of Income Tax is 40%

¢) The Normal rate of return is 12.5%

Calculate the value of on Equity shares by using Capitalization factor.

3 89r St FtedEH FH0 REHAT BTN, SNDIT.

DITHRD 2020 2021 2022
IS¢ TR 6,00,000 4,50,000 | 7,50,000
3,[0T Y, 3,00,000 2,70,000 | 3,75,000
12% %o TN 2,25,000 2,25,000 | 2,25,000
10% eooh mend | 3,30,000 3,30,000

3,30,000

ZP0E BRBSA

a) BoTACH woBTRY 30,000 BN, Jedond =3 Beos R0 23S 8r.10 doB

BRRTY, TPRF B ROTROTNTOB .

b) ewmocdh Sorcdd BT Jesmd 40 QIS

c) TORNTWT T epon ©T JeI@ 12.5 BIT.

F0BR0D TR, TG FeOF FPO,FR, WOBTYE onSob IR FORELRONO.
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10. (a) From the following information furnished by Amogh & Co Ltd. Prepare Note to
Tangible fixed assets as prescribed under Schedule 11l of Companies Act 2013

(1) Opening Balanc_es on 1-4-2021 : ' Rs.
a) ._Land (at cost) | 60,00,000
b) Buildings (at cost) 72,00,000
¢) Plant and Machinery (at cost) 24,00,000

d) Fumiture and Fixtures (at cost) 4,80,000

(2) Depreciation provided upto 31-3-2022

a) Buildings 24,00,000
b) — Plant and Machinery 6,00,000
¢) Furniture and Fixtures 2,40,000

(3) Additions on 1-4-202] :

Plant and Machinery 1,00,000
Furniture and Fixtures ' ' | 1,20,000

Provide depreciation on Building at 5%, on Plant and Machinery at 10%, and
on Furniture and Fixtures at 10%. Methods of Depreciation adopted Diminishing
Balance method. :

[P.T.O.
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B3 IR iraés m&oém& S30% “‘rieed ATRNER éS""i‘éQ‘ba’:o FOTAINY an'b 2013
w@éw II1 d X,500 Nﬁw&ru maoaccbm eﬁa’uaee,y BNV 603&0&) 03 t:ﬁﬁd)

hﬁﬁuﬁ)@?d

(1) Omoo8 1-4-20213 Fwd edoyds de: oR.
a) P (e BY) | 60.00,000
-b) ﬁégdd (Do 1336) 72,00,000
c) .m@aw ad:ég odao%e;dﬁdzaﬁm (Fone de) 24.00,000
d) BeeTITNsd (Sww ajej) 4,80,000

(2) om0 31-3-2022!% NSEOMON  Qoexen 3ﬂacm3%:

2) TUR 24,00,000
b)— Mmoo Sy cdods,ewEconsd | 6,00,000
)  2BRETITHN 2,40,000

(3) TN a)oemd% Qzoo% 1-4-2021 ﬂ‘ :
,'\%wdﬁ%mag CI00B R, CTTTEINTO 1,00,000
QTR CTITeaNEd 1,20,000

TEOA SOOI ﬁawi 5%, oDodr cTEToneR 10%, ENVEY ..Jdmeﬁﬁdsaw e
- 10% eﬁ&)@n@ 56@013313 SANY QEO o e’ c% To80.
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(b) Following is the information furnished by Sai and Co. Ltd. Prepare note to
Intangible Fixed Assets as prescribed under Schedule III of the Act 2013.

b)

d)

Goodwill (at cost)

Brands and Trade marks (at cost)

Depreciaiion written off upto the last year on this asset
Depreciation for the year

Patents and Copy Rights

Depreciation written off upto the

last year-on this assets

Depreciation for the year
Computer software (at cost)

Depreciation written off upto the last year

Depreciation for the year

Rs.
1,75,000
50,000
20,000
5,000

60,000

10,000

4,000
8,00,000
5,00,000

1,25,000.

[P.T.O.
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(b) =moo ab:‘b BOTRCZT é& NS maaoéoi:ab LBNATOZT. BB maosmm
emwodraem ©riRe3s Sy é:aeum (+33¢3) ﬁoe.‘u'i'\‘xr‘hf zmoc"o 2013 © wodx, III O’

T)ToT S03RDAD.
oR.
a) seF IPy, (Iwe BY) 1.75,000
b) w08 W) IS g (fwew ) ol 50,000

450 o Soed 0 IRrT deToHI KO Sk DA 20,000

0 IXFT T 5,000
Q) omEs W SwEed = 0 60,000

AE0 wRob S 39 ST ERdeRdR ASeY I @ 10,000

DO JTFS A0 8000
d) neazeddos, s m%ﬁfd (B 3d) é,O0,000

RS0 390 IRFD SRS AEe It sy

(RTO &R0 RBoed) ~5,00,000

WO SRS KT 1,25,000.
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11.

SECTION-D
NN - B
Case Study (Compulsory Question) (1x15=15)

300 SHODS (Sm0H T3)

Dayanand Ltd. was incorporated on 1-7-2021 taking over the business of Shiva as
from 1-4-2021. The following was his information for the year ended 31-3-2022.

Particulars Rs.
Gross Profit ‘ 2,80,000
Expenses | -
| Salaries - ; 1,44,000
Office Expenses 48,000
" | Printing and Stationery _ 8,000
Rent and Rates 7,200
Commission on sales - 32,000
Audit fees 4,000
Free Samples 8.000
Interest on Debentures | ' ) 12,000
Depreciation ; 3 16,000
Bad debts 3.200
Directors Fees - 4,000
Formation expenses . 4,000
Sundry expenses 3 _ 1,600
| | 2,92,000
Net loss (Expenses - gross profit) - 12,000

Additional Information:

a) Bad debts up to 30-6-2021 were Rs. 800

b) Rent was paid at Rs.400 per month. _

c) Sales up to 01-07-2021 amounted to Rs. 3,20,000 and there after Rs.4.80,000.

Prepare Statement showing Profit or Loss prior to incorporation and after
incorporation.

Comment on the working results of the cqmliany for the period prior to and after
incorporation. Express your opinion regarding the results of the company.

[P.T.O.
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TOITeT FOTR VOWIT) OJ0F 1-7-2021 Tomd R%&:ﬁ&;&id. ATO FOWACTL S
FOTI0L W, TWITRR), DT0T 1-4-2021 Tozd DOeDAT. BFos 31-3-2022 ﬁﬁ
ifaﬁmmﬁoé B3 FPNT m&oéaﬂaa“% WWNTSINTS.

FAof oR.
- W, ool 2,80,000
' dz{imb :
Jows 1,44,000
geSeocdd Seped 48,000
BT, Tone SeDT ToON, e 8.000
R W BN 7,200
SRTWT e TRY 32.000
I3, TIPS () 2o 4,000
@wz R0 TRWO 8.000
WO TYne Boeds W& 12,000
TP 16.000
6% TOONTO 3,200
QTeFTFT Eboem“b 4,000
Ty Sepied 4,000
BT3B 1.600
2,92,000
ITF TR (aswzpvo—&,% <o) 12,000
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TPTB IS :
a) ®Erd Mo 008 30-6-2021 3 tR.800 IS
b) T8 Somsd AR oz TR.400 ERLEY

c) O 01-07-2021 3 INow INRT Heg ©°.3,20,000 T I0ITS DIV,
82.4,80,000 =33

DT D[TBOWOT FOTACR) 09, C0PT TPRFT DoY) Tone To,0oRE J0STT oY/
BOROD  TEIODY), BOIROAD. FOTACIL [RRT 0,00 TRTFT YT TR
@9,00%I8 [0IT BRRT TOIBIY (FOZ03T wj\) WRSFRD. TR VRT wi 3]
Y, 00T, SPA0.
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Reg. No.

IIT Semester B.Com. 3 Degree Exammatlon, April - 2023
CORPORATE ACCOUNTING - 1
Paper - |
(Repeater)

Time : 3 Hours . - . Maximum Marks : 80
Instructions to Candidates: ! B -
: 1) Attempt all Sections according to internal choice,
SOB0F $03), B,590 D€, amrimfm wsaﬁea
*2) Use of calculator is allowed
o) v%deaacf WYTED STFIE.
3) Give working notes wherever necessary.
OIYDBY, &35 64 WTWD. i
4)  Section-D case study compulsory.
®,8060 &5, 0D Qyn-ad peplesel

SECTION-A
- AN = & :
Answer any-TEN -of thie following. | | (10x2=20)

BN emoss 10 BINOR evZdR0.
1. a) Name two fundamental financial statements prepared by the company.
FOTACTD TWROFRTTN BoIndRE 0D DEFTORD w&Sﬁ%’RﬂJ FBAOAD.
b) What is preliminary expenses‘?
STOPT Seisd 20udesd 2
¢) What is goodwill ?
ded¢ PO, 2oTded 7
d) Name two types of goodwill.
$e3F SPYT 0 FFONYs) B020.
€) Name two objectives of valuation of shares. :
HEDNYIY, SR, BRTI SNES 20 QU EBNY) FIHORO.
f) Name two methods of valuation of shares.
RN SR IRTS TRES TR TTSNIS), THOXO.
g) What is Bank ?
239,080 (Sezotied) :a‘oﬁ@r{%) QOTBE 92
: [P.T.O.
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h) Name two principal books maintained by banking company.
23,0807 BOWIOD BEUIETHT HTW [0, YIBNFH) BIORD.
i)  What is performing asset ?
VT VBT BAND DOWTeI ?
j)  What do you mean by liquidation of a company ?
BOTIOD DRHFS 20T3eI 2
k) Name two types of liquidation of a company.
BOTAOH DIBWEIOD TR F,FONTI), BAORD.
1) Give two examples for preferential creditors U/S 530.
B0 TRRD BoYes 530 8 FFO THIYT MERTTTHLNST BT, BA0RD.

(eVToTOAD)
SECTION-B
wen - w \
Answer any THREE of the following. (3%5=15)

85 TINT BRI, B nen LwSo0.
2. | Name any five factors affecting the valuation of shares.
Redond)y, SPQ,TRTT VRN Ty WeddT 0 FoNSHTE) BHORD.

3. From the following information prepare note 1 for shares capital of a compfmy as
prescribed in schedule VI of the companies Act 1956.

Authorized Capital : - 8,000 equity shares of Rs.100/- each.
: _ 20.000 preference shares of Rs.10/~ each.
[ssued capital : | ~ 6,000 equity shares of Rs.100/- each.

20,000 preference shares of Rs.10/~ each.

Subscribed and paid-up capital : 5,000 equity shares of Rs.100/~ each paid-uli
' Rs.80/- paid up

20,000 preference shares of Rs.10/ each fully
paid.

Calls unpaid : By Directors and officers Rs.15.000/-
Forfeited shares : ~ Rs.10,000/- '
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BINT BRWEAD) ©FOH FOTING SR 1956 C3RD VI 0, JNB TBTBO3 L¢3
18 B5o0 “‘Hed woEmVS" U3 IoanoRE.

¥ WoEmeY : 8000 mIRT, Heodrisd T Fedrt Do WS
100503 5
20000 Iz BIS TeTONd T8 Heo w3 1038,

BRESRAT WoEY 6000 moBRE, Hedrsh T #eox B 100 T,
20000 =30 B3 Fecdrish T8 FHeoI BoD BS
oe.10

Sed SRad W3 RIREOL, .

VOB 5000 TR, Reddrish T, Heod B0D 23S
0e.100 3 T & Heort 80.80 To3 Fomodemnd.
10ow. n$ 20,000 e:ﬁtjééoda' "w’d)ﬁ%fﬁad
NOTRERF TN  TOBSKONS.

30 SNRBT &T3 BomeodwnS _

330D Beo (WoBTY) : NTeFITD ) BHTONYOT T.15,000/-

Bowoteeey SRRE XeOF Teo ¢ 0».10,000/-

4. X Co. Ltd proposed to purchase the business of Mr. Vikas for this purpose it is
agreed to value the goodwill at 3 years purchase ‘of the post 4 years profits, the
appropriate weights to be used being: 2015-1: 2016-2, 2017-3 and 2018-4.

The profits for the above 4 years are -

Year Profits
Rs.
2015 10,000

2016 25,000

2017 30,000

2018 35,000 _ :
Calculate value of goodwill under weighted average profit method.
@T (X Co.) 20w FOTIACID Il DT 02 oD T THTE, DOEOTLD LUTIEART.
[TTN ST wToTT T5o 3eFRPO T, TORN SRBTRRE S0dS T WRT
TOLI0 WARTO TED, S0 IFFOTRNT. 308 5 008 WS SR 2015-1; 2016-2,
2017-3 =20 2018-4.

DO, JAFT P B OeE WT.

SR 3
an.
2015 10,000
2016 25,000
2017 30,000
2018 35,000

ATTO RYT 208 RN wc%aab@t BTOROX Fe3F 50‘3@?5&3 23&30635.3{ TOWOLROWD.
' [P.T.O.
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5. -

Prepare schedules to P and L A/c and P and L of a Laxmi Bank Ltd. from the
following information for the year ending 31-3-2018.

Particulars Rs.
Interest earned 20,00,000
Other Incomes 5,00,000
Interest Expended 9,00,000
‘Operating expenses 6,00,000
_ Profit and Loss A/c (Balance on 1-4-2017 credit) 5,00,000
Rebate on Bills Discounted 50,000
Provision for doubtful debts 75,000
Proposed Dividend 1,50,000
Provision for Taxation 3;000

Note: Transfer 25% of the current year profit to the statutory reserve.

g 39NT [nkIoDRY GVBREN B8 (31-3-2018 i@ér{me}%woé O 0 W08
DOHRT- QTS Go-TR 98 T T FOWORHAT CARONYEY FOIRORD.

AT o] on.
W&, RRAT, : 20,00,000
QB0 Hmecd 5,00,000
W&, EVSnigialany 9,00,000
w088 OF DT DUDFT | 600,000
Y -ToR 08 (BWRR S QTo03 1'4'20175.3 facsaoé) 5.00,000
Deony Soed Aoed VT 50,000
RogoInRE MU QxR 75,000
RIAA O R0 _ 1.50.000
gortmon QOeRODAT, 3,000

Beus: W [RFT YD Boes Jedwo 25 ToZ ToIS WG 201 SreFoAD.
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6. The Unlucky Ltd. went into voluntary liquidation its assets realised Rs. 70,000
excluding amount realised by sale of securities held by the secured creditors. The

following information is available.
a) Share capital : 2,000 shares of Rs.10/- each.
b) Secured creditors (securities realised Rs.8000)
¢) Preferential Creditors
d) Unsecured creditors
e) Debentures having a floating charge
on the assets of the company
f)  Liquidation expenses
g) Liquidation Remuneration

Prepare Liquidator's final statement of account.

Rs.20,000
Rs.7,000
Rs.1,200

Rs.28,000

 Rs.50,000

Rs.1,000

Rs.1,500

Hon'od 0T FoTAIN BO00 T, 055N BOUWOLB. FoTDD LA Tr. 70, 0008,
B pleni ! aﬁm:-sotsa" tgcsaa '?:amdcb @ROOT mmﬂm BRODTEY 83 ée:ﬁa aim&oéﬁvo

gt ucﬁmmﬁd
—a)" He wommee: 2,000 Fedorisd Tr.10/- o

b) I_z;c_sJa'a BT (W3,30 BANQOT WH0TE3 [
Wom ®ed dw.8000)

C) WIT TIOTOD

4 g, mEw

€) MO [Ynd cInde YNy oed TRy
BRODTVTOBI)

f) BoTIoh FWESoDd 3%,

g2) AIWFITO0D oLIES

©r.20,000

8».7,000

0».1,200

00.28,000

0».50,000

0n.1,000
0r.1,500

003 SR&HSODT), SO VR TPTOD B0 Tewd TE,BI), W3O SadRORD.

[P.T.0.



ARt (6) 36323/C230

SECTION-C
; : wen - ¥
Answer any TWO of the following. (2x15=30)

3 IINSYNY, Wesors 28 v30R0.
7. Prepare the balance sheet of Prabhat Co. Ltd. as at 31-3-2013 along with the relevant
notes to accounts in the prescribed form

S.No. Name of accounts ' Dr. Cr.

(1) Shareholders Funds Rs. Rs.
Share capital: 1,900 equity shares of Rs.10/- each -- 19,000
Capital Reserve - 1,40,000
General Reserve --  2,50,000
Surplus (profit): (balance on 1-4-2012) 20,000
Surplus for the year 1,00,000

(2) Non current liabilities
Debentures (secured) : -~ 40,000
Loan from banks (secured) - 20,000
Loan from others (secured) -- 12,000
-Deposits (unsecured) -- 10.000
Deferred tax liabilities - 10,000
Deferred tax assets . 2,000 --
Trade payables -- 20.000
Other payables -- 5,000
Provision for employees gratuity - 1,500

(3) Non-current assets
Depreciation on furniture for the year (Provision) -- 50,000
Furniture and fixtures (cost Rs.6,00,000) 5,00,000 -
Investment in Govt. and Trust securities (quoted) 1,00,000 -
Investment in equity investments (unquoted) 20,000
Capital Advances 60,000
Security Deposits 25,000
Trade Recoverables 8,000

- Other Receivables 2,000

(4)  Current Liabilities -
Loan payable on demand bank (securities) .- 40,000
Loan payable on demand: others (unsecured) -- 19,000
Trade Payables -- 40,000
Other Payables ; -- 17,000
Interest accrued and due on borrowings ' -- 600
Income received in advance L ! 400
Unpaid Dividends -- 30,000

Unpaid matured deposits and interest -- 21,500
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(5)  Current Assets

Investments in Equity Instruments 2,000 -
Investments in Govt. and trust securities 3,000 -
Closing stock of finished goods 1,000 --
Trade receivables ' 18,000 -~
Other receivables 3,000 Y ee
Balances with banks ' 1,200 --
Cheques, drafts on hand - 500 --
Cash on hand 300 --
Fixed deposits with banks (short term) : 2,000 --
Loans and advances to related parties 30,000 _ -
Security deposits - 20,000 --
Prepaid expenses 8,000 --
Balances with excise department 40,000 -
Unbilled Revenue = 7,000 .-
Lease Rental receivable : 1,000 ; -
Claims receivables 12,000 -, &
Total 8.66.000 | 8.66,000

Additional Informations: :

a)  The authorized capital of the company consists of 2,000 equity shares of Rs.10/- each.

b) The depreciation of Rs.50.000 which is already adjusted in the books pertains
for the current year on furniture and fixtures at 10% on the written down value
‘of Rs.5,00,000 <

¢) The appropriation of profit of the company is to be made for the year as under:
(i)_ Transfer to general reserve Rs.70,000
(ii) Proposed dividend and tax thereon Rs.35,000

B 89N dowl, TRESDT SFO T,T08 FoTIOD 5 @& 5o, Q08 31-3-2013

g 83Re=02 Scinda Bne wEess TSR TowoRT LTI INOS IBRFORNY.

30300. : :

SNo. 293n¢ I3 AWDE | mE®

(1) RecomBZ ONRT - dn. an.
sledo womaY: 1,900 IR, Hedony S e
oR.10/- 003 B8 Heort o 19,000
WOBTT onehd ‘ol - 1,40,000
TINT, QAW i -~ 2,50,000
Sod: QToos 1-4-2012 g atod 20,000
2O I3 ooy 1,00,000

[PT.O.
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(2)

3)

(4)

)

1300 T3 2500 ONned

O TN (P3,IBHHND) 5=
23,0800 VAT IT, TOTED : 2
330000 FTET W, FONTL 3
BeSedned (€9233)) ; b
R00RRREOL, FOTt T | o
BOOBRBOL, 301 GATIED 2,000
39,70 BZREITRNTO T
980 FRBEIFINH e
POTSOA 0eROE, VTR eNNY TeD --

0T e

BRETBTLANGTON a”ﬁmgd ARFTLOD RN -
QBReTICED TR Rcapd"g (Fwo @S ©r.6,00,000) 5,00,000
X050 BNRE TINYY, BeaE (D37 Tons

B9, IO TAATY) 1.00,000
WERE, ReDATO, BAATD (AOTERRT) 20000
20BHVE BOORE : ' 60,000
35,30, Feayried ( — 25,000

-0 BT | 8,000
233 €TIFIND 2,000

O BEmOTnsd

233,08° JeRIR esOMOEATN ﬁmzﬁzﬁ* OO

(PRI -
BT 3BT AL, ST ZRE BREE UMD -
39,90 BRBIFIND : --
QBT BRWSTR)NTD | --
FOONBN TBE FOT [eOT WA, BREITED -

T Q

NONTsoN A eEOAT S3TTOL o

 ROTRod WRBT. &LI003 --

ROG HoedT Besrd DI s FeT BT WH, -
W  SANned

FRBITTT RN, TelT ® 2,000
om0 TRy DBF NS TYNeS, HeRs 3,000
£50833) ATCBNY TR 1,000
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40,000
20,000
12,000
10,000
10,000
20,000
5,000
1,500

40,000
19,000
40,000
17,000
600
400
30,000
21,500
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T, T0 WO 18,000 o
9IS LoD | 3.000
239, 08T9TOB S, TeD 1,200 ", i
35, EIND §oDAWHRD 500 e
$oDOLR S, Feo 300 -
méoasgdaa’ SRS ﬁwcée‘g BeRY - 2,000 --
HOWORATROT Bk, TOL WBY [OONBRT 30,000 4
HEE BesedriEd 20,000 T
S0ONE DDFRLTPA FRKE 8,000 =
Lm0 ARBODAT de, Beo | 40,000 -4
@ FrcheRds ST ot e
LT QEFIE DR WIRN 1,000 %

PN BRBT udéﬁﬁ STONW (e Bﬁaedue{) 12,000 .-
kD) 03 | 866,000  8,66,000
ZPOT e

a) FoTROD VRFZ WommYsy 2,000 TR, Meddnd T8 WeoS @0 WS Te.10/
- 003 wenieolcd3d.

b) ssmnd ITFPomd Tr.50,000 [T TRODREET [IRATY BT, VWO
2BRETFTNIT 130 THET FTFYOIRNE, ST, 3eswe 10 T3 v TS
236 ©R.5,00,000 & S0ee3 RQOISHNG.

c) oy é@omtéé’aba‘% FoIROTW B BPND0Z IR@eIeds.
(i) =R, R ©R.70,000 SroFoloxeIeTONE.

(ii) =R wuoZ TR ©E8 O oM 8R.35,000 3ROOTLIEE.

[P.T.O.
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8. The following particulars are available in respect of business carried on by a trader.

(i)

(i)
(iii)
(iv)
v)

Profit earned for the following three years

2014-15 : Rs.52,000 |

2015-16 : Rs.59,000

2016-17 : Rs.54,000

Normal rate of return is 10%

Average capital employed in the business Rs.3.20,000 -

Present value of an annuity of Rs.1.00 for 5 years @ 10% : Rs.3.78

The profits included non-recurring profit on an average basis of Rs.3,000

You are required to calculate the value of goodwill of the business on the basis of

(a)
(b)
(©)

Five years purchase of super profits
Annuity method of valuation

Capitalization of super profits.

mémdﬁﬁﬁ B, WTOTE WOWORATOZ S8 FINT BRSCTY ~LBNITNT.

(i)

(ii)
(111)
(iv)
W)

ToRTY JRFNTWER S0 NPAT-ITT
2014<15\; |82.52,000
2015-16 : ©w.59,000

2016-17. : T2.54,000

RRY, BePOT T8 Sesmo 10 :
W.STTBY, FTHRO TR womss Te.3,20,000
BT DoxFs IPY, dr.1.008 5 IRFAYSSK Sesmo 10 SoZ dne.3.78 [T,

R R,TF0ET PR, WIRRORR), ¥ IR0 HEE Foee T0.3,000
[T,

068 Beos TSI YFOY FITIT tedr TPO,TRY SFT0.

(a)
(b)
(c)

D TR DOLOVT ARTT TRPNRW
TOXFT [P, BRT ©3é (Annuity method of valuation)
XRTO* COPE WOBRIPEBTOED aa’c‘jgéodooé
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9. The following are extracted from the books of a company.

Rs.

Share capital:
10% preference shares of Rs.100/- each 2.00,000
1,000 equity shares of Rs.100/- each fully called up 1,00,000
1.000 equity shares of Rs.100/- each Rs.50/- called up 50,000
Total share capital 3,50,000
Reserves and Surplus _ 1.90,000
General Reserve : 60,000
Total funds 6.00.000

On fair valuation of all assets of a company it is found that they have an appreciation
of Rs.50,000

The Articles of Association of the company provided that, in case of liquidation the
preference shareholders will have a further claims to the extent of 20% of the
surplus assets.

Ascertain the value of each preference and equity shares assuming liquidation ignore
expenses of winding up.

Z NS m&)u@@b?\% FOTROD PFFOOE AN WSNRTDNTS.

on.
Hedd  woEIY
10% 3,333 dedonisd @8 Feds =0 IS Te.100/- 2.00,000
1,000 momng, Xedoneh && Heds B B cira 100/-003
TPERF 5:3063&3?\53 (3B0ERNT) 1,00.000
1,000 = TR, we_dom;b %) ReOS oD 233 Twe.100/- '
003 #e3© TR.50/- 3BeHINS. 50.000
2E, Fed 0BT : ~3,50,000
ARNH D ooy ) 1,90,000
AOBRT, QN | 60,000
2E) QML 76.00.000

TOTOD DR, Eﬁ&rieéa‘b da‘at: TRBOIN, SANSY m’ao ©3908r.50,000 ézs%sahci’ 20T
3¢  FOTROZD a),-qzamowd 03D Naaofocs@ Twa?DOd) QD3 weu?ﬁe;b T, IR
Jecomason éaazﬁ em@cx:baa B30 B3e5t 200 T BROTOS BB (clalms)(ﬁfzb)
Reloving

2003 BRLECHT) ST BE @ 530,37, Reo :n:ab ARRT, RHeO IPe) TR, BORLEOWH.
aﬁae: ) ﬁommo&m FOTAOD DIZEIN SN0 ﬁzsasa: 58 éﬁmﬂmﬂaﬁ B. V0.

[P.T.O.
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10. Following are the balances extracted from the Basaveshwar Bank Ltd as on

31-3-2015.
SL. No. Name of Accounts Debit Credit
Rs. Rs.

1) Capital

Authorized -

7,500 equity shares of Rs.100/- each

2;500 preference shares of Rs.100/- each

Issued and Subscribed

5,000 equity shares of Rs.100/- each Rs.80/- pr:;id --  4,00,000

2,500 preference shares of Rs.100/- each fully paid -- 2,50,000
2) Statutory Reserve - 2,25.000
3) Capital Reserve - 25,000
4) Profit for the year .(be-fore appropriation) -- 3.55,000
5) Profit and Less Aceourt (as on 31.3.2014) - 1,00,000
6)> Fixed deposits ~ 2,50.000
7)  Savings deposits ' -~ 5,00,000
8) Current deposits | - 12.50.000.
9)  Recurring deposits -~ 1,00,000
10) Cumulative deposits - 25,000
11) Borrowings from other banks - 2,00,000
12) Rebate on bills discount | . 25.000
13) Provision for income tax | - 75,000
14) Advance income tax 25,000 --
15) Outstanding 'expenses - 10,000
16) Unclaimed dividend . ~ 15,000
17) Cash-in-hand --

3,75,000
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18) Cash with RBI 4,75,000 -~
19) FD with RBI 75,000 --
20) Balance with other Banks (current A/c) 7.50,000 i
21) Money at call and short notice ' 1,50,000 %
22) Investment in Govt. Securities - 2,75.000 -
23) Investment in Treasury bills 1,00,000 o
24) Investment in shares 75,000 --
25) Bills purchased and discounted 3,50,000 -
26) Cash credits overdrafts etc. 9,00,000 50,000
27) Term loans 2.00,000 -
28) Provision for bad and doubtfil debts -- 1,45,000

(10% of total advances of Rs.14,50,000)
29) Furniture (cost Rs.37,500)_ 25,000 --
30) Stationery and Stamps 12,500 --
3D Non?Banking assets (against claims) 1,37,500 --
32) Prepaid expenses 2,500 --
33) Advances to contractor 45,000 -~
34) Electricity and phone deposits 7,500 --
35)‘ Advances for expenses to staff 20,000 -~

Total 40,00,000 40,00,000

Other Informations:

(1) Bills for collection amounted:to Rs.4,00,000 and acceptances, endorsements etc
Rs.6,25,000°

-

(2) 25% of the current year's profit should be transferred to statutory reserve.

Prepare the balance sheet as at 31-3-2015 and relevant schedules.

[PT.O.
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w?dﬁea'f_sd 23, 08T OF0s 31-3-2015 3 ﬂmﬁﬁm@%&ioé 03N étl%ﬁ"éﬁgt TYTICDY

[ae]

WLTNAT. _
&, 03nY JID DWoF DR
0. oRn. OR.

1) wodsee: w@%é WOBTOY
7,500 mRRE, Recoried T3 Reon 6e.100/-803
2,500 2,333 Reand T[S HeoF ToH S
cn.100/- o3
IAERRAE B FodRAIRT woBTV
5,000 MRRE, Redorio B FeOF 23S 8R.100/-

d.80/-R0T3000moNS. - 4,00,000
2,500 T,3%,3 Ren T3 FedS [0 WS
8n.100/- Z[peor T FOWICTINT. -- 2,50,000
2) IS ucjp QRN _ - 2,25,000
3)  WOBmEE PN -- 25,000
4) 120 IR oo (BRoword ARAERWSBRB PRFRY) -~ 3,55,000
5) oo B TR a9 31.3.20148 25303 - 1,00,000
6) =od@ Sesesned - 2,50,000
7))  uPSD éeaﬂséﬁﬁ: -- 5.00,000
- 8)  w® BeSInTd - 12,50,000
9) =zowechH3 BemeAnsh (OZOONY) - 100,600
10) 8,300, Ge3 B (SeRe3rivd) , -- 25,000
11) Jed méoaari@ocs TRET TN -- 2,00,000
12) Lepns Soed el VU 4 125,000
13) oD Sormn eIV £ 75,000
14) Sooons smecd 301 T[S 25,000 --
15) 30BEUcE DWBFD IR - 10,000

16) @008 TEBRERYR - 15,000
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17) 3009003 b)) ®ed ' 3,75,000 --
18) omzF méoﬁﬁejmdaa éwﬁ DD 4,75,000 -
19) duIF 1w, 0sROTOS BT Fea3ed ' 75,000 --

20) =33 @, 03NV, Y WD AT de) Jes  7,50,000 --
21) 3 =T Stﬁ‘a BORES Boedn ArdE Beo 1,50,000 -=

22) RSP0 NG TNV IPET B0 80000 . -
23) R0 DS VRS IRBALT Bes 1,00,000 =
24) " Feoondd), FrBENAT Bro | 75,000 -
25) eIiY DOEO i ARed W 3,50,000 s
26) s BT WY, LI, WO Y BIS Wt 9,00,000 50,000
27) &80 Ond - 2.00,000 do

28) ﬁéaw B NOBOINAT RORYMN QT

&

3(’.5)@21&5% (Sesmo 10 To3 WED, JonzEnY

Soes 8%.14,50,000) - | - T
29) edpemECnR (SoRe B ©r.37,500) 25.000 2
30) =onc TPnsh DI word Wekdind deo 12,500 -
31) wo,080me3T WA (239,087 wd:-sﬁa ©EEN) 1,37,500 --
32) DDFATRY oonETN BAREY 12,500 =
33) mIRTTOR Jwor@ EEKE 45,000 3
34) OREF I TeCTOSHA, BeRed AL 7,500 e
135) 2e000HB3 DeroN Foona oL 20,000 -

Wi, 03 40.00,000  40,00,000
230 SRbEnd:

(D) wo;,ﬁ#dgl A0m, &R0 im&auzs% T°.4,00,000 SONETORT) 02 aﬁmro&aﬁqﬁa;
B8 Tr.6,25,000 '

(2) WY ITJT P Jeswo 25 OFF), TR uc% AR DFoRY.
QJo0z 31-3-2015 iﬁﬂﬁéﬁmﬁaoé 2:)350&:‘6 (STwpoN] wgéodma SRR 'A' @REoohE).
SCUROAD R TE FOLRAT CIRANYR) ATBERD. :

[PTO.
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SECTION-D
wgn - &

Compulsory. (I1x15=15)

3O BJ

The following are the particulars relating to a Limited Company.

Rs.
Total Assets 5,40,000
External Liabilities -2.,52.000
18,000 equity shares of Rs.10/- each fully paid 1,80,000
Proposed dividend at 20/- from the above ; 36,000

a) Compute the Ex-dividend value of each equity shares of the company.

b) Compute the Cum-dividend value of each equity share of the company and also
give the treatment of proposed dividend.

g1 3ot BT DITBRH ALY, ToTRR FEWOPRT AT,

ow.
w3, BAND 5,40,000 .
mﬁé BRBNODIND 2,52,000
18,000 mowmng, Heconed I8 Heos S dr.10/- .
Qo3 Fpeor ROTS00ONG. 1.80,000
RRWT Coss B0 3esrE 20 To3 36,000

S0eS Bk3, [R&SCWOT
2) T8 IR, ReOS 2T -BIBOE BIPYWEY FOROLRAWD.

b) @3 IR, HedI TR BOBOE BPOTI) FOREROWD [T eSS Optaplerstat
2, DY R, DT EVAD. (Give the treatment of proposed dividend.)
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I1I Semester B.Com. (NEP) Degree Examinatidn, April - 2023

COMMERCE
Cost Accounting
Paper - DSC
(Regular)

Time : 2 Hours =i Maximum Marks : 60
Instructions to Candidates:
1) Attempt all the Sections according to internal choice.
2) Use Simple Non-programming calculator.
3} Section-'D' Case Study is compulsory.

Section-A
AN - &
Answer any Five of the following. _ (5%x2=10)

FINTZYNYY, 3T DWE LVZOAD.
1. a) Whatis Cost?
3%, Q0TI ?
b) What is Prime Cost?
B,5os 3B, DOTTE> 2
c) What is Purchase Requisition?
0D IR POTTEI 2
d) What is Idle time?
NEodeess D6 Q0TI ?
e) Write the formula to calculate the earnings under Rowan Plan.

dRe3T* cdpesdcddd, nvd < @RS AR, LICD.

[P.T.0.
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o

) What is E.0.Q?

WITJ,eD DOD FBRZ HoTTeD ?

g)  What is Scecondary Distribution Summary?

Re30 EIRNNY 00D SWPIY, =0T Boesd [IRTET QSLODL WTCT TS, 20TTER?
Section-B
N - W

Answer any Three of the following. (3x5=15)

TINTZNYY, tiesom BweTT LZORD.

Explain the advantages of .Cost Accounting.
SETIRT STTRVSNIRY, DWORD.

Calculate 'Material Turnover Ratio' from the below
a) Opening stock - Rs.70,000

b) Closing stock - Rs. 45,000

c) Purchases during the year -Rs..2,05,000. .
BN TRLSLTOR TN, WO 1Y R TR0,
a) wooy &y - Tw.70,000

b) ©08x0 &ooﬁ - on. 45,000

¢) Dok - Tr. 2,05,000.

In ABC F-éctory 20,000 units of product were produced in the month of July 2020.
From the following figures obtained from the cost books Prepare Cost sheet showing
Cost per unit.

Opening stock of Raw materials- ' Rs. 5.000
Closing stock of Raw materials - Rs. 10.000
Purchases during the year - Rs. 55.000
Direct Wages . Rs. 25.000
Factory overheads : s e Rs. 40.000

Office overheads - Rs. 20.000



I

.
2o% 2020 © A[S(_ T, D8
— — G :,.,..c..._-.\ ~ 0 P . P T; -
Blé el 1880 teniSiTla. S
'J -
coxtme= Suesy o FOERNA Ton
S0TW SO TS, Aol it
= o
& =3
ecARede Reas _ Faxm TR &
- B Uy rinidot
- 3
et e
N o TN S SN
Bt
T e
e U T e DN S
o s LInd v CULENT 2N

Minimum consumption
Maximum consumption
Re-order quantity
Delivery period

Normal period

Consumption during the year

Calculate

a)  Minimum stock level
b) Maximum stock level
¢) Average consumption:
d} Re-order level.

NI HWon "R" w02 =W

A)

-

y ‘__ &

0.000 FwINIRY WWTOAT. BETE BT
FO), SCIRdA T8 a;&sﬁd ma'a':g SRedA
= . 5000
10,000
55,000
25,000
40,000
20,000

il

588565

Details below relates to consumption of Raw materials "R" in a company.

‘320 units

400 units

400 units

2 weeks to 6 weeks

4 weeks
4800 units

ST emwodraerﬁ ToWODAT Re&d FENT0ST.
320 oRREFNTO
400 cDRILFND
400 0DRJEFND
2 SO0R0T 6 FTNF
4 0N
4,800 cRRIIFNT0

48083

[P.T.O.
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OB

2) 80T TORRD W,
b) no% TRmED 0L,
c) XooxD wed

d) W wTE Dy,

6.. "The following information relating to Jayashree Ltd.
Calculate Machine hour rate from the following.
- Cost of Machine - Rs. 47,000.
Estimated scrap vé;lue -Rs.7.000
Repair charges per month - Rs. 300
Standing charges allocated to the machine per month - Rs.140
Effective working time of machine - 10,000 hours
Run;]ing time per month : 200 hours

Power used by the anachine is 7 units per hour at Rs. 6 per unit.

NS TR&ENGD wWOD e IO FoTIN FowodHIT. oo, 3 |,& nosdod dcssa‘;;;g*
TOTOLBOD.

obog, 3 P, - Rs. 47,000.

02033 ev¢8 3P, -Rs.7.000

SRAE WOy &g, - Rs. 300

RRAE 4T SR - Rs.140

008, FCdFRATF&AT Noddned - 10,000 (Life time)

S0Nen PO[CDATON D - 200 RoLdnRd

Relolatsin] ﬁagd WOTD 7oL 7- VTN 2,008 BRVEFR Rs. 6.
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Section-C
QNI - T
Answer any Two of the following _ i (2x10=20)

SINTIJINTY, e DTFE evgoR.
Write any ten differences between Cost Accounting and Financial Accounting.
dzidﬁd T, T BEVTORD YTIAT TF, T CIRWTREIR TR 0,3, ANYY 2380200.

From the foll-owing transactions -relating to SCS Co Ltd. Preparc a stores ledger
under LIFO method.

Receipts , [ssues

06-01-2020 - 800 units @ Rs.10 each 03-01-2020 - 50 units
12-01-2020 - 300 units @ Rs.12 each 07-01-2020 - 300 units
18-01-2020 - 100 units @ Rs.12.50 each 15-01-2020 - 320 units
25-01-2020 - 209 units @ Rs. 10 each 20-0452020-< 120 Aunits

On 01-01-2020 Opening balance wag 260-umits k@ 'Rs.10.50 each
On 08-01-2020, 20-unitswere returned to stoie which were issued on 03-01-2020

Further on 22-01-2020, 40 units were returncd to the vendor which were received
on: 18-01-2020.

B3 39N TERT IR &0 LIFO oo ;uﬁé SYDRY [T WISCHRD ScIROR.

20eONT i DTTRIV

06-01-2020 - 800 chedwrivs Te.10 To3  03-01-2020 - 50 CHRREFTED .
12-01-2020 - 300 odweRurisd e.12 To3 07-01-2020 - 300 cHRVEFRES
18-01-2020 - 100 o%xeRwRYS 82.12.50 Jog 15-01-2020 - 320 cHanBeFrie:
25-01-2020 - 200 oW .10 JoF 20-01-2020 - 120 cdmReFned

01-01-2020 o> ,00%3 50 250 oBRALINTO TT 82.10.50 =8 cdweRur [B.
03-01-2020 Te 2303 %8 20 muwﬁib 08-01-2020 Toz> TN TR BRAT.
18-01-2020 Tot> D0eHAT chRRLFHFY 40 chwnerndmy 22-01-2020 ) TOT> 59,500
SOCELB. '

[P.T.O.
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9.  Prepare the Statement of Reconciliation from the following data.

a)  Net. profit as per Cost accounts

b)  Works Overhead charged in Cost accounts

¢)  Works Overhead charged in Financial accounts

d) Income Tax provided in Financial accounts

¢) Value of closing stock in Cost accounts

f)  Value of closing stock in Financial accounts

'g)  Provision for Doubtful debts

h)  Dividend on investments not included in Cost accounts
1) Preliminary expenses written off

1) Stores adjustment credited in financial books

B TINT RRESOVOT ITToD TS B SOIRORD:.
w~ = <

a

g FoZoings med ed IREOITE 0
h) &3 B3O rboseoss B RO SpIaplebBlotaleboylalo]
1) IPTEL0 aﬁwm@;a‘% FRBRPI TN,

)  @etoas gENY momRd Bromordd SR ==R BN3.

EAE IR

Rs.
30.000
S 100
4.200
9 000
2.800
100
000
600
1.300
150

wJ

Gad

oRn.
30.000
5.100
4.200
9.000
2.800
3.100
3.000
600
1,300
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10.

ABC Lid. has three production departments P, Q . R and two service departments X
and Y. Overheads as per primary distribution is as follows

Production Department Service Department
P - 50,000 : X - 6,000

Q - 30.000 Y - 4.000

R - 10,000

The expenses of service Departments are allocated as follows.

Particulars P Q R X Y
X 20% 30% 40% -- 10%
Y 40% 20% 30% 10% --

Prepare Secondary distribution Summary by "Simultaneous equation method".

QWA FOTIONEY, TIRTO LVTDTT WINATD TR, UT. TN TR Femo i X
Tonwe Y 9. Tn,pa08 Sowdold %,500 daeegaw@% Q03.

SRTTO DTN Jewo  Degortned
P - 50.000 X - 6,000

Q - 30,000 Y - 4,000
R - 10,000

Be QPN DIUNIR) VDT WPARA FINT0E BoeodHYD,

QWINTD P Q R X Y
X 20% 30% 40% -~ 10%
R 40% 20% 30% 10% -

20T TR&ECVOT Q3e0d (X¥8om0) doefzzi TT0THBI),  "Simultaneous equation
method" 5,590 =0230.

[P.T.O.
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Section-D

N - @

(Compulsory Question) _ (1x15=15)

¥,8000 o5, b (Swod TF)

The following are the particulars given to you.
Standard Time : 20 hours

Time Rate : Rs. 20 per hour

Time Taken by workers :

O - 8 hours

P - 6 hours

Q - 5 hours

_R - 4 hours

S - 3 Hours
You are required to: . _ )
i)  Prepare Comparative statement earnings under Halsey fand Rowan Bonus plan.

i)  Suggest the Bonus scheme suitable~ffom the point'of management and workers.

q

B INT TRl Sor) LORSSING.
WRREYPE LT 20 notdnsd :
3e¥ ©o - dr. 20 T8 nodn

FORMOD SATVERITE Jed:

P - 6 not3ned

Q - 5 nowdnsb

R - 4 notinsh

S - 3 notdnwd

JED)

i) TRYCLET Tone dRETTORNt tess cdrekd ©%0 fORMoT netod Breds

T30 SoIROAD.
i) CEIROONY Torie FOIMUT FAcorn cdnRs teess odeexdody e
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11l Semester B.Com. 4 (CBCS) Degree Examination, April - 2023

E-Commerce - (SEC)
(Repeaters)

Time : 2 Hours : Maximum Marks : 40
Instructions fo Candidates:

1) Attempt questions according to internal choice.
0308 SoNOR IR O T, Or eVZ0RD.

2) Draw dmgrams for explanatlon wherever necessary
STZDTY, Teamdd, nv'y, wOo00.

Section-A
QTN — €
Answer any five questions of the following. (5%x2=10)
81 3INS UwaT 5 JInen «vgoR0.
1. a Define E-Commerce.
Q-TooA Sﬁsmiaﬁe.
b.. What is E-Governancé?
Q-TWY 000D ?
c. Write the difference between Credit card and Debit card
BB REF D) BewtF BEF IBDT IFTYR SPR0.
' d What is digital signature?
RV 3 0T ?
e. Expand UPI and NCPL
UPI ab& NCPI ESED DFOA.
f.  Write the shortcut key to make font as bold and" 1tahc
ool o) et SO RO JOnvon BREeO ToWFTL SecdE) WICWD.
g What is work book in MS-Excel?

MS-Excel 8¢ &8s 00308 ?

[PT.O.
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Section-B
SNTN - W
Answer any two questions of the following. : (2x5=10)
CIRFYTTR TB JINer Lv30A. .
2. Explain concept of E-Commerce.
Q-BoOR’F ToTUZodRY EOA.
3. Explain payment gateways core-banking solutions.
| Sedows Hersiest #ot0* wR,080n° OGO wif, DIOR.
4. Write the features of MS-Word.
MS-Word ©8ronds), wioddd.
S.  Write the advantages of MS-Excel.
MS-Excel 2638 ©,0dpessnds), 1x8000.
Section-C
TN - B
Answer any two questions of the following. (2x10=20)
IRFYEAR 0B BIRER IR, |
6. Explainthe different types of E-Commerce.
D-FROFES T, 50N, II0A.
7.  Explain the different methods of E-Payments.
Q-TWoNENY &)Epajl &)mdm‘faigl WA
8.  Define Mail-Merge. Write the procedure for mail-merge in MS-Word.
oecr-TDrE T, W%, MS-Word 39, Soee-2onr Sobr SRRy 3c0.
9.  Explain MS-Excel window in detail with neat diagram.
MS-Excel Q0@pe33) st Seamnesd 3o IS0 JSOR.
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"III Semester B.Com. (NEP) Degree Examination, March/April - 2023
ENGLISH (AECCO)

(Regular)
Time : 22 Hours Maximum Marks : 60
Text: Chandalika '
L Answerany five of the following questions in a sentence or two. (5x2=10)
I.  Whatis the name of Buddhist monk in the play Chandalika? |
2. Whois the mother of Chandalika?
3. Whatis the name of the village Buddha preached in the play - Chandallka‘?
4. Whois Prakrati in ‘Chandalika?
5. What does the monk teach Chandalika?
6.  Onwhich legend the play Chandalika is based?
7. Where did Anand meet Chandalika? ,
I Answer any two of the following in a moderate paragraph. - (2x5=10)

1. _“Comment on the ending of the play Chandalika.
2. The songs in the play Chandalika.
3. Prakriti. _
IIl. A) Sketch the character of Anand. (1x10=10)
| (OR) ' ' '
B)  Explain the self realization of Prakriti. -
IV.  Write short notes on any two of the following. (2x5=10)
.. Swami Vivekananda views on ‘The Hindu - Religion’.
2. Visionary leadership in Kiran Bedi’s speech.
3. Whatis the call of Gandhi in his Quit India Speech? -
-

Comment on the opening remarks of Dr. B.R. Ambedkar in his address at constituent
assembly.

[P.T.O.
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V. A) Explain the presentation skills and their importar_lce. (1x5=5)
| (OR)

B)  Organise a speech for your presentation in a paragraph using the Karnataka population
facts in the given pie - chart.

2R7T7331
VT aypys
U779.66| s
( Belagavi populariond FJN*“
ngﬁ:ﬁ" ahe
(OR)
C) Write a note on effective use of Body - language in presentation. - :
VL. A) Write a note on different types of writing. (1x5=5)
' (OR)
B)  Write areflective essay on ‘ Your favourite meal’.
(OR)

C) - Write an essay on your experience‘of attending a “Village - fair’. |

VIL A) Writea letter of complaint to the Municipality Commissioner regarding the bad road

conditions in yourcolony:. _ (1x5=5)
(OR)
B) Prepare a brief resume for the post of manager in bank.
(OR)

C)  Write a letter to the manager, SBI, Bengaluru for the post of FDA.
VIIL A) = Draft an advertisement copy for an imaginary mobile - phone highlighting its unique

features. (1x5=5)
(OR) e
B)  Prepare a poster on Kabaddi - tournament to be held on 26" June, 2023 in Belagavi.
(OR)

C) Prepare a brochure for ‘Welcome for Freshers’.
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III Semester (NEP) l)egre'e Examination, April - 2023
OPTIONAL ENGLISH
Indian English Literature in Translation
Paper : II D.Sc.VL

(Regular)

Time : 2% Hours | Maximum Marks : 60

L Answerany Five of the following questions in a sentence or two. (5%x2=10)
What is “source text’ and what is ‘target text™? :
Which animal the driver and the king are seen in pursuit of in the play. “Shakuntala’?
Who are Ranganna Master and Basavlinga Swamy in the story “The Silent Rattle”?
In which business Tansukh was a well known broker? '
Who was very proud of her silver jewellery?
Who appealed “Not toquarrel over caste™?
IL  Writeashort note on any Four of the following: -(4%5=20)
7.> Akkamahadevi Vachana 199, ‘For Hunger’. ;
8.  Allama Praphu Vachana - 556 ‘If It Rains Fire’.

Bl s )

9. Anasaya.

10. Tansukh. _
11. KingDusayanta. :
IL Attempt any Three of the following questions. : (3x10=30)

' 12. a) Translation and its benefits. £9)

~b) The various types of translation. ' (5)
13. a) Sakuntala. 5
b) Kanva ' (5)
14. a) Tansukh, the broker. - ' (5)
b) Yamunavva. : (5)
15. a) Thetheme ofthe ‘Poisoned Bread’. : : (5)

b) Angoori. ' | (5)
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Il Semester B.Com. (NEP) Degree Examination, March/April - 2023
ENTREPRENEURSHIP SKILLS
Paper - OEC
- (Regular)

Time : 3 Hours Maximum Marks : 60

Instructions to Candidates: T :
1) All Sections are compulsory.
2) Attempt all the questions as per internal choice.

Section-A
: AN -3
I. Answer any five of the following questions. - (5%2=10)
81 3N Wewd 0id FIRer w300,
a.'— "What is the meaning of Entrepreheurship'?
T Bodewdad LgrEed ?
b.  What is Regional Rural Banks (RRBS)?
350, 13638 19,0860 W05 AT 0TTed ?
c. Expand : i) DSC 1) OPC
QOO : i) B.OFFA. i) WAL
d. Name any three types of monitoring.
coRPde Do HFT Sedudon’ eE) FIOKO.
¢.  What are the different types of feasibility analysis?
TOODF G BB DY R0 DPF B)TIONRT 0D ?
f.  When was NSIC set up? |
NSIC =) cdnson mgp&:smoméo ?
g  Which type of business is easiest to start?
C3RE DESC TTOTRRY, T, BoRRD OIS 9 _ -
[P.T.O.
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h.

Name any three types of evaluation.
TPO,BRTIT CINFTe B WENTIY, THOA.
What is a feasibility study?
2000 FoORFANG,B0H BT CHT 0BT ?
Section-B
RPN - W |
Answer any three of the following questions. (3x5=15)
8 TINT Vs TR JyINen evgo0.
Explain the steps needed to become an entrepreneur.
VT, CDCIRNED &7, DTH TOBNTFY, VOR.
Explain the various schemes promoting entrepreneurs in India.
PROIBY, LUBRONYR) LUERRIT DG CdRerSnIR) DTOR.
Explain the main purpose of MUDRA Loan.
F0TY, TOT B8, YVT W), WFORD.
Explain the process of setting up of an Enterprise.
DOLTFTLIRY, | A RROB-T, 80300y, DIORD.
Explain some important government schemes that provide financial support to start-
ups in India.

WRUSTY, WIFF-UTNOT Beotoss WowoRD), LONS FoFH T[I0D IFFo
oSpeanay HFOX. |

Section-C
dgon - 3
Answer any two of the following questions. (2x10=20)
B3 FINS WeTT DT BIRVR vR0.
Discuss the various qualities of a good entrepreneur.
S msézi@zseda&)oja QG mmuisaw?&% 3IFA.

Explain the role of Regional Rural Banks in pr_oviding financial assistance to
Entrepreneurs.

YT R0NIN BEOTIAT ITRY JeROTY, T2,TedT M, Q0860 WR,0NY 708, By DFOR.
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10.

1§ =

Explain the factors that affect the growth of business in detail.
iovsspleley WSesriodd Boed O WeTVT WOBNYR) DFTemaN 0.
Describe the comparison of successful and unsuccessful entrepreneurship.
BBy, FoB) DFOTT GUG,DodeocD BredFHRY HTOR.

Section-D
PN - B
Case study (compulsory question) (1x15=15)

- &,8000 PRI (ﬁm%aﬂa @%).

Miss Avani is a B.sc graduate. Now she wants to start the start-up business for
herself employment. You have to advise her by giving answer to the following
questions. : : ;
Q0T BT V.. adaez;tﬁoahm%d. B BIW TIY Bo%0 QUTR, ETEIN M - ST
99,503, &B,00RRe0 WoDROTT. B NS HINER YVIT VBT WRVT Ve &8
ROB QeTLIeR0. | :
a.  Elaborate the steps in setting up of a-business unit in detail.

o, T FASR, WEB TSR, HBTTON HBORD.
b. _Explain the challenged before Indian Entrepreneurs.

RT3 GUT, Q0T 0BT FTCOTIRY, DEORD.
¢. Government schemes supporting Entrepreneurship in India.

LRUBTE), oededn, ¢T3, :mRY WOWORD XFOFOE OdReHINTD. .
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No. of Printed Pages: 8 Booklet Serial No.

120787

Reg. No.

| §1 Semester B.Com. (NEP) Degree Examination, March/April - 2023

FINANCIAL EDUCATION AND INVESTMENT AWARENESS (SEC)
(Regular)

Time : 1% (90 Minutes) Maximum Marks : 30
Instructions to Candidates:

1. Check for complete printing of 30 questions.

2.  The last page of the question. paper may be used for rough work.

3. Each question has four multiple choice answer and choose the correct one.

4. . Darken the appropriate circle with the ball pen.

5. Damaging/overwriting using whitener on the. OMR sheets are strictly prohibited.

6. No candidates will be allowed to leave the examination Hall till the end of the session
and without handing over his/her answer sheet to the invigilator.

7. Candidates should ensure that the invigilator has verified all the entries and that the
invigilator has offixed his/her signature in the space provided on the OMR.

[P.T.O.
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1. GDP stands for
A) Gross Domestic Plan
C) Gross Domestic Process
B.8.8. HOTT
A)  TedoD wtd) cdpewd

C) Dedod i %,5,0D0

2. Father of Modern Economics
A) Adam Smith
C) Alfred Marshall
STOVE UTFTOAD WTITOT
A T A .
C) e-scz_v e IR’

3. Savings=
A) Inhcome+ Expenditure
- C) Income + Expenditure
PUPSOCD BOTT =
A) SROD + DWDF

C) &ocdy+ s

2)

B)
D)

B)
D)

B)
D)

B)
D)

B)
D)

B)
D)

20905

- Gross Domestic Product

None of these

de&ccb'ms_zd mc‘%ﬁ
OBRJTR Q).

Paul Samuelson
None of these

T T, WSO
CIRNRTR Q).

Income - Expenditure

None of these

SDI0L - WOF
CIRRTO e,

4. — What is the compound interest (CI) on Rs.10000 for 2 years at 10% per annum compounded

annually ?

A) 2,100 B) 12,100

C) 2,000 D) 12,000

8.10,000 3e. 10 003 2 SRENON 238,208 HTWIOST ?

A) 2,100 B) 12,100

C) 2,000 D) 12.000

5. TDS stands for

A) Tax deducted at source B) Taxdeduction from savings

C) Taxdeducted at services D) None of these

83.8.9%° . QW0 VT TS

A) smoD BT o1 363 B) ¢wwsecnd) 3on &3
D) oclngce o

C) Besdned) Sort 363

o
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6.

10.

Which of these in not considered as a technological factor under the macro environment
factors ?

A) Wireless charging B) Engine efficiency
- C) Security in cryptomology D) None of these _
83 TENTRINTQ, CINFPH0 AR, TORTT T208,7 9033000 TWONESHORRTOY,
A) WD NZen | B) o033 csgé
C) 3 -gﬁ%drat}azs D) ocnaa@e o
Custom duty comes under which type of tax in India
A) Direct Tax B) Indirect Tax
C) Provisional Tax D) None of these -
&0T ROOF YITBHE 0InE T,Fa0T SOrICIBNT.
A) Jeo 3R B) ﬁdmei 3on
C) ==z 3on D) cndae ©e

Which of these is/are Scheduled Commercial Bank (S) ?

A) Union Bank of India B) Indusind Bank

C) Standard Chartered Bank D)- All of these

VRNTQ, IR [ BRI BB, © eSS, LI, 0BOMPINGS.

A) CINVCIT® 239,08 &° QORI B) aomex w08

C) m,OBEF WWFREE 10,08 D) R0ed3aqnsd

RTGS stands for

A) RealTransaction Gross Settlement B) Real Transfer Gross Settlement
C) Real Time Gross Settlement D) None of these

S0°.83.23.0%°. OTT | :
A) O 1,00 M Lo B)  DoDeF 8,370 mE Aueradows
C) O g7 mo,x* XWeraddoes D) cinmne v

RBI was established in the year

A) 1934 ’ B) 1936

C) 1935 D) None of these
odecdy DTPRE 239,08 O30 BRFTY, m@aémmm

A) 1934 B) 1936

) 1935 D)  cinmyue we

[P.T.O.
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11.

12.

13.

14.

Assets are equal to

A) Liabilities + Shareholder's equity B) Liabilities + Current Assets

C) Liabilities + Debentures D) None of these

@A RSOTS —----

A) TRBOIND + 33000 WoBmY  B)  BR\Broddned + 39 SRS

C) TRBMOINWD + WOTZND D) odn3ce v

When current ratio is 2:1 , an equal increase in current assets and current liabilities would.
A) Increase the current ratio B) Decrease the current ratio

C) Not change the current ratio D) None of these

2500 ©HTI 2:1 RE 330 B T 230 FRBPOINY B TRREOTO, Beggaownt - - -
A) T ETEEY B B) 0 ©s@mesSa) avs

C) 0 eDTTTO WBRTEWY, D) ocngce e

Liquid assets include

A) Only cash

B) Cashand debtors

C) Cash and debtors (except bad debts)

D) Cash, debtors (except bad debts) and marketable securities

3,3 SN QRYNTSY, piolelleb oy :

A) . eI IN |

B) nch &dE woEE monsd

C) RoBLRIT WO BRTOTRL SRR T 2TTF OND

D) Zo30iR3E mw BRTTAY SN WITE WO 0T 65, oM TRTLTINWIOTT

=%}

TEITIRO T, NY0.

You require Rs.20 lakhs after three years as down payment for a house. What will be the
future value of this goal assuming a rate of inflation 0f 6.5% p.a. ?

A) Rs.24.16 lakhs : B) Rs.20 lakhs

C) Rs.89.84 lakhs D) Rs.16.55 lakhs

DO 3 TTFTIY SOITVOD 2,030 IR TR.20 ©F TNOME TTIOWT TOXFT Be. 6.5 TETLTT
CORY, PE §3 BRY, ST - -~

A) Tr.24.16 Oi B) Tn.20 ’E‘Ji

Ld

C) ©r.89.84 o3 D) dr.16.55 ©8
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15.

16.

17.

I8.

19.

PMVVY investment scheme is for the

A)  Senior citizen aged above 60 vears of age
B)  For minor girl child below 12 years of age
C) For Small Scale Industries

D) Nom of these

®.00635. 60, 9. TO0NF BRBRE ClReFoID 0XROTIA — -~ -
A) 60 TRF 0L &OCD TROTOR B) 12 33 3850 SoiRennE3 W
C) ,-Jsﬂ gmeosnen D) cnlcs oo

Sovereign Gold Bonds scheme was introduced by the government in the year.

A) 2001 _ B) 2020
C) 2015 i D) 2022
RWOT® 1160 RO """af“c:ﬁ&i}?ji ATTI0Y cITvearn T, do
A) 2001 B) 2020
C). 2015 D) 2022
Investments made in hated equity stocks provide for
- A)  Better liquidity _ B)  Guaranteed capital appreciation
C) . Safety of C’lp]taf D)  Allofthe above

CROEE AORRT, LYY Teis IREIHTOS

A) wgm 5,58, Bl Rg'Tommevs duy
C) wommes PBssd D) o8 auznd
-

In Investments. ELSS for

A)  Equity linked savings scheme B)  Exceptional Liquid and safe scheme

C) Enterprise linked social safety ) Allofthe above :
TRATCDG ELSS menmon

A) equty linked savings scheme B)  Exceptional Liquid and safe scheme

C) Enterprise linked social safety D) All ofthe above

Risk appetite generally - when the number of dependent family members increases.
A) Increases

B) Decreases

C) Does not change :

D) There is no correlation between risk appetite and the number of depedened family

memebers. _
CAI2TIOM 2WOTH BRVOWT 53300058 TS .0 xcai @3 S9TN MOTIOBT B I ms SN —=—~
A)  TBEROT

B) -3R3DcIRREE

C) womsrzoe.

D) romooes @) SR WOTO BOLDOLT 5300093 :dd:&asd SRS o3RI Bowors peleoEnal
- | [P.T.O.



ARV RO \ (6)

20,

21.

22.

23.

24,

Risk appetite is higher when

A)  Life expectancy is smaller B) Life expectancy is longer

C) Life expectancy is lower D) None of the above

MOTER0ET TAY BURMIST 1 THNT ROTWPFTY,

A) B3 EGE:@% BTN B) 223 V068 DEFFIF SR AWIT
C) e i‘fof& ﬁ&ab "acbsa D) &oeds b =0}

NSDL stands for

A) National Security Defence Lieutenant

B) National Stock Derivative Limited

C) National Securities Depository Limited
D) National Securities Development Limited
NSDL ©058 83 390 eveiesd EF OB

A) National Security Dcfence Lieutenant

~B) National Stock Derivative Limited

C) National Securities Depository Limited
D) National Securities Development Limited

Which of these is not a money market instrument?

A)  Certificate of Deposit B) Commercial paper.
C) Treasury Bills D) Bonds ;
& INSYNY, CInTw Tt m&ﬁﬁ BN SNNBOY,

A) Tede wﬁ@é& STE Do B) 5&&360:53@‘ w(’wO‘

C) . soaay D) mocs

Securities receipts defined under

A)  Securities contracts (Regulation) Act 1956
B) SARFAESI Act

C) Company's Act2013

D) None of these

roﬁf" 083 Nﬁ SNe 53 FINT0E 39, SL)"J R0,

A)  FEr, @tox‘ TOOLR), B, (8?'{) cj‘ea’ass) ©3-1956
B) SARFAESI Act

C) zox ug -2013

D) oIRmem s

A Mutual Fund is a body corporate registered with

A) SEBI _ B) ROC

C) Company Law Board D) All ofthe above
BB Fow'R) T3 IYNZRODT SROTICVITNG.

A) SEBI B) - ROC

C) 3D oo BreaEr D) S30¢08 20
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25.

26.

27.

28.

29.

30.

IPO stands for

A) Indian Post Offering - B) Initial Public Offering

C) Initial Private Offering D) Allofthe above

IPO e0w8

A) Indian Post Offering B)  Initial Public Offering

C) Initial Private Offering D) Allofthe above

SEBI was established as a statutory body in the year

A) 1993 B) 1994

C)y 1992 D) 1995

ARIOIN FoRTUT N mba;amd TRE

A) 1993 . B) 1994

C) 1992 D) 1995

REITS stands for |

A) Real Estate Investment Trust B) Real Earning Investment Trust
C) Real Earning Income Trust D) None of these

REITS <033 :

A) Real Estate Investment Trust B) Real Earning Investment Trust
C) Real Earning Income Trust D) None of these

Imperial Bank of India became

A) State Bank of India B) BankofBaroda

C) ' Punjab NationalBank - - D) Reserve Bank of India
PRTST Q0RO 1R, 08 FOBTTY, 54 19, 08 LT, :

A) ?u;fés R, 0% OF° Q0803N B) ,05° o5 wiatwE

C) Howpw J,IIC* W, 08 D) 0B, we, 05" ST |oRI®

stands for systematic investment plan.

20905

A) SIP ) B) Health Insurance

C) Mutual Fund D) Policy

aisﬁﬁgas BRAT 03RS HoTT ——————- -

A) SIP B) Health Insurance

C) Mutual Fund : D) Policy

Which of full form of AMFI ?

A) Avid Mutual Fund Investor B) Association of Mutual Funds of India
C) AdityaBirla Mutual Fund Inc. D) None of the above

AMFI 20%8 :

A)  Avid Mutual Fund Investor B) Association of Mutual Funds of India
C) AdityaBirla Mutual Fund Inc. D) None of the above '

[P.T.O.
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III Semester B.Com. 4 (CBCS) Degree Examination, April - 2023

Innovative Banking
(Repeaters)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1)  All the sections are compulsory.
2) Answer all the questions as per internal choice.
3) Question No.11 case study is compulsory.

Section - A
RN - & :
Answer any TEN of the following. ‘ (10x2=20)
IINT cRPTe BB BINOR, GUZ0AD.
1. a Give the meaning of Bank.
29,088 LFPFSR AeB.
b. Write the meaning of Garnishee order.
MoJFd BTEBT BEHFRETY, WIWD.
c¢. Mention any two functions of Modern Banking.
SEOVT W, 080N’ CIRFTe DTRED FoODFNFRY, v edA.
d. Define the term Customer.
Mo, 38 BHIDY, 39,309, A.
e. Write any two objectives of Crossing a Cheque.
B85 e ﬁdﬁvagl QRPOINT cIRPTe TR emz:é’;easrie;faigt WBD.
f.  What are the types of Bank Accounts?
23,08 230D TFORD IR ?
g. What do you mean by material alteration?

=oe3ooder* wqﬁdws Q0TTE ?

[P.T.O.
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h. Define Endorsement.
SEOBRETHODI), 99,30, VR0.
i.  Give the meaning of Lien.
TRBMOFOD e;sagr::;igﬁ ReE. .
J-  Mention any two principles of sound lending. _
POTR ToO Ve CIRPYTe AT ITNTA), vegdedr. |
k. Write the meaning of E-Banking.
9=LR, 080" STHFRT) WHCD.
I.  Mention any two disadvantages of E-Banking.
Q-23, 080T IR AVR> SRR, oD,
Section-B
TN - W
Answer any THREE of the following.
9NT cIRTe TR0 GVIOR.
Explain in detail the Evolution of Banking.
LI 0F0TFE TR, DSTmN JEIORO.

o

Define. Banking and write-its features.

T, 030 ) 339,209, D% BT Fo: MYy wdewod.

Explain the general relationship between Banker and Customer.
t3,080° S MMFET IR IR, FOWOFIIY IFOXD.

What are the characteristics of Ideal Securities?

STIF 33,3 mea@'imr{m SRR ?

What is the difference between Tradition Banking and E-Banking?

ROZTIHOWE 139, 0307 T Q-1 0301F FROVT I T, "FeD 2

Section-C
on - 8
Answer any TWO of the following.
FINS cdncde OB, GVZORD.
Explain in detail the modern functions of Banking.
132, 030N T0ORF FOORFTR) DF[TN DTORD.

(3x5=15)

(2x15=30)
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8.

10.

11.

-
il -

iii.

iv.

Discuss -the special relationship between Banker and Customer.

W, 080" TR 70, BIC IR DR ﬁo&:ot;asi;;‘_ 1R3IFA.

Define Endorsement. Mention the types of endorsement.
ERORRERDEOLT, TRV TRy FORTHOD BEONYRy eodedh.
What are the types of E-Banking?
Q-39 080TV'S X, ToUNTOTY) ? _
4 Section-D

NN - B
Compulsory question (case study). (1x15=15)

FEOD T3 TI0e 5 obT _

Indicate the answers you would give for returning the cheques mentioned below give
reasons for your action.

591 SEXC WSrTiYRY tbodthiRen Deey R eugosRy Aeely, Py Yol momT
ed. '
Cheque dated of February 2021, presented on 1% March 2021.

F0,FO 2021 8/ 15 1 Fe Wner 2021 Sod [RSTRIGING.

Cheque dated on 3" June 2021, presented on 4% December 2021.

W¥5° QR0T 3de WA 2021, 43¢ BRow 2021 TOTL F,ROITRICING.

Cheque dated on 12* March 2021, presented on 7% _March. 2021.

oo Bm08 128 IR 2021, 7 wIHO 2021 Soch HRSHBIENG,

Cheque dated on 17% April 2021, presented on 8" July 2022.

wE* D0 178 D, 2021, 8¢ W 2022 ToR TBRIZTAITNG.

A torn cheque pasted together is presented for payment.

Wi BoAE o W), TOVEMN TRISTRRANS.
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11T Semester All UG Courses Degree Examination, March/April - 2023
KANNADA
%@9‘39# Gddd
Paper : OEC
(Regular) :
Time : 2 Hours Maximum Marks : 60
Instructions to Candidates:

) oop IFJAIR B[RS ©osn. oo IJNene w30R0.
2) T03R0W TJOHR 4 WITAT, LIReoRIT. FOOIRT LITH,
[P, TORERD.
1. 3IRFWE XV ai;mréeﬁ waegﬁ@ﬁ B IS QWOD TEYODZONT.
A) &od B) 3@
C) =odexR D) oc»adade =9

2. "eT W DR W [oud DPod sord(Hod) om) Fosnvd SEINIHBT
A) 4 B) 3
D) 7 D) 5

3. BooFWE ATWOUT New ' WP W DDPNG Tocoda, & IENS awnad
SBDIT. _ :
A) Fa B) #a.0%.a.
C) [FRD Q.. _ D) oc»zmde g

4. OBPFAL SDORBen  TOIND  CRFYT?
v A) dRA. JoT B) S, waow
C) 2F.8.2. D) «o®

- 5. SYOTIR’  20TTeN? _
A) T msga QP[] B) agdmdmc&
C) wodhen [ D) iy g

[P.T.O.
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b.

10.

11.

12.

13.

14.

FO0&oD AN  ReRBODR, TYTORATI. :
A) U BeAT, B) 29cdho oisEE
C) IFFOT D) mesea

BooFwss Wi RRYBRTO . ARH eriaegesj 8 nogods.
A) ToWPORED B) =vzeze0s
C) axs =Rokwo D) iea

gmored  deeddem  sodeensy S BUNS oIS HoRciRnd.

A) =omd :do% B) mpodbe xo%
C) «38xos0 m‘o-:u; | D) Sexozs :do%
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Reg. No.

I11 Semester All UG Courses (NEP) Degree Examination, March/April - 2023

PHYSICAL EDUCATION
Physical Fitness for Career (OEC)

Time : 2 Hours Maximum Marks : 40
Section-A
QYN - €3

L  Answer any ten in two-three sentences each. (10x2=20)
NIJNTY Lewos BIE 20D R WYY, €UZ020.

1.  Write any two importance of Yoga.

 clermd ciREmREdR 0R) SDBSATRY WT00.

2.  What is the minimum height requmed to men and women for recruitment in Indlan

- Air Force?
Po08ecd TocdoTEn edw PR T &P S RFND DR, HFTNTEB ?

3. How many sit-ups need to be perform men and women for recruitment in Indian Air
Force?

: PoU3ead Fod0IABER Jedew PR D =&vD U OF O D), WAy BRWoDLIER 9

4. What is the minimum weight required to men and women for recruitment in Indian
PoU3eoD FRSESR Jesed FPOR B F&wo S RFND D, ZRTIIY, TRODTLIES) ?

S.  What is the minimum circumference of chest required for recruitment in Indian
Pooseod Priesn Secen F T DI ATLIEBO ?

6. What is the timing and distance of running requlred to perform men and women for
recruitment in Indian Army?
PROSec giRdednt Fecw0 YR L Dkvo &1 HFA 2R, ADTY, 2T, WY
LBt ? '

7. How many push-ups need to be perform for recruitment in Indian Army?

R03e0d) Priedn Jeden cDenO 5%) 504 sfoazzejesa ?
[P.T.O.
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10.

1k

12,

What is specific v?ann—up?
QOFS, THTEORT 330, BRI HOTTED ?
Write any two importance of general warm-up.
TOBRT, TFEORT w3, CINTT 0B BINEY, WBAD.
What is Speed in relation to physical fitness?
Q&8 ITEIR TowoPamod Bder HoTTed ?
What is Flexibility in relation to physical fitness?
&3 ISR BoroRamod B8 D0BTeD 2
Write any two of the coordinative abilities.
CIRTTRTAR DT FOARRTD TITOF, FRYI), WICWD.
Section-B
Q:)apar{ -w
Answer any four questions of the following. (4%5=20)
FINS el TOF wvIdRD. '
Write any five importance of physical fitness.
53505 dzﬁécm CONRTTOR VT mssmsm Wi,

What are the Physical standards and Fi 1tness tests to men and women for recrultment
in Indian Navy?

RU8IAD) SPFONTEN FeCwd PR W Tk BPYHFNOR IR s s®mFS S
Gt B FI0D Toed INOTRITINTS ?

What are the- physncal standards and Fitness tests to men and women for recruitment
in Fire Fighter Force?

SNTIRFTY FeOwd PR TBY WLWD WP QNN Q’imas F&3 OB ma:; 3 %8

AT, Cé‘é’&'b w@ﬁi ANDTRITAT 2

g What are the Physical standards and Fitness tests to men and women for recruitment

of PSI? 3

PO e QOeTF "‘mnc;ﬁ PYOOR DB Db SPHFNIR cdns G&s sBFE wDB
T 88 AT EI0D TOE ANOTEITING ?

Write any. one of the agility test in relation to physical fitness.

G&% RGBS TOWORATOZ CINTTOWAR 2000 WTRSIT Toe3 2B000.

Write any one of the coordinative ability test in relation to physical fitness.

c’é&ﬁ xcét;i'e’ﬁ TOWONATOZ CINTTOTTR WOTD RO0IRETDD AT, aoei 2000.
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Reg. No.

IIl Semester B.Com. 4 (CBCS) Degree Examination, April - 2023

Quantitative Analysis for Business Decisions - I
Paper - DSC 3.6

(Repeater)

Time : 3 Hours : Maximum Marks : 80

Instructions to Can didates:
1) Working steps should be mentioned.

2) Answer all the Sections accoerding to internal choice.

3) Simple calculator is allowed.
4)  Question No. 11 (Case Study) is Compulsory.

Section - A
WPON - &
Answer any TEN of the following.
3INT clnYmende B BJNON) LVBORD:
1. a.  Whatis quantitative techniques ?
TORNEIZT 308, 0TI ?
b.  Write any two classification of quantitative techniques. .
TORRTIZT 30,3 weTT TR BNEFTTENTT),  2WTOWO.
c. What is a positive correlation ?
20088 F0LI0T DOTTERD ?
d. What do you mean by control chart ?
RO, 233,T 0TI 2
e. What is process control ?
ROXTEd QOR0E,ED DOTTER ?
f. What is a time series ?
XTOPT [0Ed 0TBe ?
g. Expand : (i) AM (ii) S.D:.
DFOXD : (1) AM (ii) S.D.

(10x2=20)

[P.T.0.
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h.

@ | A A
41, 48, 36, 47, 46, 49 then find the median value.

41, 48, 36, 47, 46, 49 FOVIO TPY,TJI) FORLAD.

Write any two components of time series.

TR FOLICD odNJTontR T SOINTTY, WBOWD.

- 16, 18, 24, 36, 20, 27, 23 then find the mode value.

16, 18, 24, 36, 20, 27, 23 Roew' WPO,[I) FOBLAEWD.
Write the formula of standard deviation.

T =R APosT RRZEHIY wiowo.

What is a rank correlation ?

3 erdod> [OBT B0 0BT 2

Section-B
| AR - w
Answer any THREE of the following. (3x5=15)
NS cIRPETR Swedd TINTR HZ0R0.
2. ' Explain the limitations of quantitative techniques. :
TORRTIFT (08,0 SOENTR) ~D30AD.
3. Calculate'mean for the following data.
on 8P, FTIXO TEUTIRY, BOBEBOND.
X 0-10 10-20 20-30 | 30-40 40-50 50-60
E 2 3 8 10 7 5
4.  Calculate 3 yearly moving averages for the following data.
FINT TT]OINYOT 3 Jarod WO ATIRONTR)  FORGEBOWD.
Year 2011 | 2012| 2013| 2014| 2015 | 2016 | 2017 [ 2018] 2019
Profit 36 39 48 47 41 43 46 51 45
5. Find the Spearmans Rank correlation for the following data.
397t 808, MRS AODTRT Fes8 BBI0WOR MOR0TBRY, FOBERND.
Raju 25 15 20 19 18 24 26 30 { 28 23
Sanju 16 25 24 30 | 28 15 17 2041 21 19
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6. Draw suitable control chart for the following data and givé the conclusion.
BUNS D,RT ARgmer AoD0Z, o WITUTY T30 =B Q) DEIFORTRY Bewo.
Sample number| 1 2 3 4 5 6 7 8 9 10
No.of defects | 23 | 25 |26 |24 | 23| 22| 21 | 24| 22| 26

Section-C
QLN - B _
Answer any Two of the following. : (2x15=30)

NS Wems DTBF HZOD.

7. Explain the scope and functions of quantitative techniques.
BOBREIY J0FMY T TR TPOFNTR) ITOR.

8. The following data gives ages and height of 10 students.
FINS Betmy) 10 I, HFNY TOWR), PFTI), AeTIT.

Age (x) 121 23 ¥ 25 22 |'18 [ 20 | 24, |29 19 28
SR, (x) | |

Height (y) | 165 I56(| 170 1727 155]| 160 | 166 | 170 [166 | 168
235 (y)

1)  Calculate regression equation 'x' on 'y’ and 'y' on 'x' and estimate.
80BOT AT X' B 'y R Yy e X DY Som INB.
ii) Estimate the likely height of student when age is 30.
30 SHF FODRT DTPFNY AT, LoD [RB.
9. a) Write any two properties of correlation of co-efficient.
WONT FOWOT TOHI0FE BN TR MOEOT NI, WICWD.
b) Two cricketers scored the folloWing runs in the 10 innings.
QW §,FNT 10 VY NN, ISN SR NI, NOATTD.

Cricketer-A | 10 | 10508 (65 |5 |14 | 115]| 25 |74 | 25
3830%-A

Cricketer-B | 42 | 12 |72 |38 [ 03|51 [35 | 44 [15 | 02
8,8830°-B '

Find who is better scorer and who is more consistent. ;
IR LVBD fuaéedc‘ B CRTd &zs% ,%édmﬂa%d aowda‘% FOTBO&BROWD:

[P.T.O.
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10. In a textile mill, at regular intervals, cloth is inspected for knitting defects. The

il.

results are recorded as belwo.

%B? NOEIoDY, FOWRT 05,0883 Y, WEIODR)  TESTE Nﬁﬁ‘ri@mh wb&f@"&:)rbécs
FI03NTI, B8 FINT0Z TVIITING.

Sample number | 1 2 3 4 5 6 /! 8 9 10
S[RCO Ross, |

Defects/sqmeter [ 0 | 1 | 0 | 2 | 0 | 1 I 1=k 3 |- 3
Bresned/3.a0e.

a) If on average 0.7 defects are expected per square metre, draw c-chart and
interpret. :

T8 0 WO BORO 0.7 BREAWY, DOJTS c-chart ) HPoWd ) eaz@m
b) In the absence of given standard analyze using c-chart.
QBT T,0698 0F eSO &553&:’?%&0:13@0 c-chart w¥A.

Section-D
: Q- B _
Case study (Compulsory question). (1x15=15)

SO BFADS | (B )

The following are the figures of production (In thousand quintals) of a sugar factory.
AES TARFICD TRTIT SOERTNY GUEBIoD Wos woBndR) B I BRBOINT.
Year - | 2014 | 2015 2016 2017 2018 | 2019 2020
SR . ,

Production 77 81 88 94 94 96 98
NIVTS

i)  Fit a straight trend line by least square method and calculate trend values.
3% IRFIGIoWoT FoYSean T IONRY BHOORD Y Bd PSR
FOROLEROWD.

ii)) Draw the graph of trend values against the original values.

S Bsnen erbemh ST BOne s duko.

iii) Estimate the production of sugar factory for the year 2022.

20223 XFT FoWFICL NVBDTSODI) SO0,
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III Semester Degree Examination, February/March - 2023
OPEN ELECTIVE
SPEAKING AND LISTENING SKILLS

Time : 2 Hours : ' Maximum Marks : 60

L Answer the following questions in a sentence or two . . (15x%2=30)

——
=

5
12.
13.
14.
15.

o A < . [ ) SR

What is Phonetics?

How many sounds are there in English?
What is a vowel?

What is a consonant? ;
How do yoh greet a man when you meet him at 9 pm?
What is good listening?

How do you start your presentation?

How do you conclude your presentation?
What is the purpose of presentation?
Write any two types of Listening?

What is summerising?

What is ‘vote of thanks’?

Write an example of instruction.

Write an example to show direction.

Write an example for an apology.

I.  Write short notes on any two of the following. : (2%x5=10)

L

.k
3.
4

Phonetics.
Speech mechanism.
Types of listening.

Presentation skills.

P.T.O.
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III Semester B.Com. (CBCS) Degree Examination, March - 2022.

ENGLISH
Timel: 3 Hours : - Maximﬁm Marics : 80
Text:Who Moved My Cheese ' '
L. AnsWer the fol.lowinvg qdéstions ina wof'd, a phrase or.a .sentence‘ each. (10x1=10)
, 1) Who are the two little people in the story? |
2) W_ho‘says “We resist cﬂange because we are afraid of éhahge’?
3) Whosaid -‘The Cheese story was Waste oftime’? - |
| 4) . Who continued to waké up early every -day?
5) B Mention the writer 6f the stofy “Who Moved My Cheése”. |
: 6j ‘What do the four characters in the story represent?
7)  Name the two mice in the story.
8) Who ére ‘hem 5nd haw’ in thé story?
'9) Who feels ‘Tt is better late than never*?

10) Who gather for the lunch inbhicago?

II. Write a short note on any four of the following:

1)
2)
3)
4)
- 5)
N 6)

The Maze.

The narrator of the Story.

The writings on the Mazc whll.
The Gathering,of Classmates.
The ‘.disCussioﬂ intheend’.

Hem.

" (4%5=20)

[P.T.O.
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b)

a)

b)l

A)

'B)

)

D)

T

ML a.).

ET

‘Who moved my Cheese is a motiVational‘fbusiness fable’ - claboratc.'

i - OR)
Sketch the charactef of Haw. h
erte a bnef note on ‘Sniff and Scurry
(OB ‘
Write a brief summary of the story “Who Moved My Cheese”. .

 Substitute the following phrases with one word_.
1) Movement forward or towards achieving something.

2) Very unhappy fora long period of time.

3).  Very silly orunreasonable.

4) Something that makes you to reﬁlember something.
5) Liked more than any other thing, |

- Convert the followmg sentences as directed.

1) Heattendedall the papers. [convert to passive voice]

2) Hewas warned by his parents. [convert to active voice]

3)  Cutthecake. [convert to passive voice]

4) Coluymbus discovered America. [convert to passwe v01ce]
5) Let the door be opened. [convert to active vonce]

(1x10=10)

(1x10=10)

(5x1=5)

- (5x1=5)

Draft anotice informing your college students about the ‘Patrlotlc Song’ competmon .
orgamzed inyour college highlighting the details of the time, place, date, prizes, rules,

etc.

(1x5-5)~

Write a paragraph on the ideas mherent inthe followmg saymgs |Provcrbs| Precepts/ o

Maxlms.

i) “All th'at glitters is not Gold”

- (OR)
ii) ‘Barking dogs seldom bite’.

(1x5—5)-




 memmmE ® . usa

Do the proof reading of the following passage for the pﬁblication. (1x5=5)
The ‘Madhya Nisheda’ Andolan is 2 group of NGOs and rights activists who have

- been campaigning to ban alcohol in the state for nearly a decade. The campaign by

F)

women in 2018 chief minister Siddaramaiah dismissed the demand of women’s group
too ban alcohol in his trademark Jocular stile during a speech in Raichur, which led to
them seating on dharna’ and than a padayatra,(March) demanding prohibition in the

state Karnataka has seen four chief ministers since then, but little action on their
- demand to ban alcohol Ironically it was the pandemic which handed the Andolan a sort
- of pyrrhic victory when their was now alcohol sail for a entire month in April 1 2020.

Make a ‘Review’ of the following article or a Cinema seen by you. (1x5=5)

. Bamboo is perhaps the most useful plant in the world. It grows in almost all .

tropical and subtropical countries. The only continents in which bamboo does not
grow are Europe and Antarctica. In India. It grows extensively in the north east and.in
the Western Ghats. There are varieties of bamboo that grow to a height of 40 metres,

~and bthers that reach a Height of only a metrp. Bamboo is among the fastest growing

~  plants of the world; one plant in J apan recorded a growth of 121 centimetres in ohe

~ day! youcould almost see if growing!

-'The Bamboo is a variety of grass, with a Woody, many - jointed stem. The stem

itselfis hollow and is connected to a rhizome network which spreads out beneath the

‘surface of the soil. Roots grow out of this network of rhizomes and help the plant to

. -absorb and distribute food and water from the soil. Many species of Bamboo flower
~ once in several years and then die. One of the species flowers regularly once in 120

years: Bamboos of that species all over the world flower together in the same year,

~ and then die.

‘Bamboo is a versatile plant. Men have found several ‘uses for it. Bamboo
shoots are a staple diet in many Asian countries. The shoots are pickled or stewed,

- apd served as delicacies.
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miig Semoster B. Com. (CBCS) Degree Exammatlon, April - 2022
CORPORATE ACCOUNTING- I ' '

Paper - I
* (RepeaterlRegular)

‘Time : 3 Hours | o Maxi_mum«Marks.:,so :
Instructtons to Candtdates .

1) - AttenqptALL Sectwns accordmg to Internal Chotce.
- 2)  Simple & Non-programmable Calculators are Allowed.

SECTION - A
e - e
Answer any TEN of the following. ' , B ‘(1082.=20)

. e 108 eu3080.
1 2 Whatis fim @der@riﬁng.? ‘{

,. | 93&33 ;%@Qw_lugod.aoﬁdeab ?
b) Deﬁne preference shares.

B B4 s@;m =3, a:aaa |
c) Give therjournal ently for'tﬁe reissue of forfeited Shares at‘- discognt. :
o Am&g’ﬁraeen_ aﬁ&d 8ed>ri;:§oq ;’xm&ﬁ@aﬁ Rerdoss Spez NG wdowd.

d) V}ha_,t is underwritting of shares ? |

SeOTITRy, LAEAR LDOE SOTTERD ?

- [PT.O.
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b

k)

| Romsbod w3, ea.

N @ 363230230

What is final dividend ? Who declares it ?

8030 CoYR0E SOTSED ? BB GIR AFFORTRS ?

" Expand FMP & ACE.

PMP 253 ACE 20h 2300,

What i is the max1mum remuneration payable to managenal personnel when the
company is having adequate proﬁts ? "

foe.a:oo:m 1&9 C)D?{fﬁ@nad *‘morbcso o m*ﬁaﬁ Wb, 'éaezzos Natpaﬁéo:b 27,

: 3@».)8

What is meant by effective capital ?

BOmIRITI0 LBV aodﬁeﬁa 9

Define Goodwill: =LA

Gif/e-two factors effecting valuation of goodwﬂl

#omdoe:b ﬁi?gaiagt QPFOR 2 abmma | 03N 23920.
Wilat is ’fair value of sﬁare_s '7 o

cdner, Bedoned TP, Soddess 7"

What ére the objectives of underwrittirigv;?

2.LDERTOT: z.,a":'ocf QTR T EBRYID. P0.
X} [ %) ,Q ol .
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. SECTION - B.

o - w
- , AnsWer any THREE of, the fblloivin‘g. o o i (3>'<5='15)_

tiewors 3¢ emga\kb.x |

2.  Prepare a statement of profit & loss as per Part-Il of revised schedule. | )

8 Revenue fiom opertions ©20,00,000
. b) | Other I'ncome-. o B | '_ .7'2,00_,0007 R
& Cost of materials consumed: 15,00,000
b)) .Employee i;eneﬁt‘expenses B 3,20‘,&;00-
€) Tax expenses t 1,80,000
& B StntoB0%003 oor-ai, Taebey apaml Satn, o -VI agm —
2) [STOMD Ymd o -20,’00,006 -
B w0 emmad R S 200000 |
O Ly B AR T issame f
) oS Pogs Sd 320000
¢) :éoﬁ' Sy R " 1,80,000

[PTO.
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3. Rajlaxmx Ltd. issued 100000 equlty shares of Rs.10 each, the whole of the issue was
underwrltten as follows :

P-40% B-30% and K—30%

| The applications received by the company were- for 80000 shares in all out of which
marked applications received as follows ,

P-20000, B-8500 and K-6500
Determine the hability of underwriters.

- oomed, é. awm dr.10 m»aa w3Sad 100000 *amaas 3edm¢ab soasd s eg]bt@?’
a’oz&é‘orbab B N3 rodn DBONT.

P-40% B-30% and K-30%

243, 80000 - SRR A&eﬁo.-'soand% SIS, | S00,3 Lerd S NS

B3 — \: ‘ L - _
P-20000, B-8500 and 6500

g z{:sﬁmdcs esmzsao@m soma.

4. Anagha Co Ltd dec1ded to issue 20000 Equlty shares of Rs. 10 each, 1ssued at a
.premrum of Rs. 2 each. The money is collected as follows.

Rs. 4 on application
Rs. 6 on allotment (including premium)

Rs. 2 on first & fmal call All the money recelved except 2000 shares held by Mr.
_ 'Rahul of final call pass the Joumal entries. . :
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'esaram 50. REHI. faada dra 10 308 " LSod 20000 3@607#30 TdR.2 T & 0030
oond, mﬁ?&:‘c’bﬁbﬁ wENE &3@&336 &3 Ssadaﬁ & WNI03 3}'&90 ai)odmrbdd)' :

ge. 4 wRFod Xwe3, ge. 6 60235033'2-:’@3 (a,emcmo)'mm adn.2 FFH R

03 8308 HedoHd ) Fedone &a To3R 8T LTOAS OB DRSS 2000

- Bedond 30D T 2009,
droensd mawmfagt pm. o .
.. The proﬁts of Rohit partnershlp firm for the past 5 years was as follows
- 2014-950000, 2015-60000 2016 72000, 2917-66000 and 2018-72000

- It was decided to value the goodwrll of dn fimm at 3 years purchasc of the average

profits of the past five years under snmple average proﬁts

Compote value of goodwill.

draesoa_‘ me)rra_o% #oﬁeod:» aootos Swairﬂ#oamée éﬁ?ﬁsoé’ aeée:ond.
2014-90000, 2015-60000, 201’6-72000, 2017-66000 3 2013{72000

390 00 SRFAY CoR YoURed ROYRE ooyl T BRFT DOCD sPee sesr ‘

‘53‘30:3 3 m’ao mno’ozd éeérm’am 3553 aocsoaoaom

:r"Fror"n' theféllowhg particulars of Avani Co Ltd. you are required to calculate the

managerial remuneration in the following situtations.

1. There is only one whole time director.

. 2. There are two whole time director.

Net profit before provision for income tax and managers remuneration but after
depreciation and provisions for repair is Rs.13,50,000

[ET.O.
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Depreciation provided in the books Rs.5,25,000
~ Provision for repairs on machinery Rs. 50,000

' Actual expenses incurred on repairs during the year Rs.40-,000-

o3 3030 O, B3 39N QeRTVI [TNYIY, esqsax: B 903 ~oc$z;3s-‘zwo 5maﬁbﬁ
e omszc:bﬁa ciﬁ To80. B

1. mmrlsQ 28 dTerBech A3
2. st aush e BETy age

tsmcda 3ot B 5;3*3&'6 ~ozpa5§ 3ROTOR a&mdo S8 e ) 300D
- 3038 aw.f o3 awebmn 13, 50 000

A 5033 T'..:jmfdeﬁdad ssse 5, 25 000
: Q‘boé o oBéonen wWod ﬁuﬁ-‘d@ 3nooA, 50 000

3R rcScD bwebmh é’oﬁdmn &0 DWF 40000
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* Answer any TVlIO.r - S L (23’15=30)

| zﬁe%'ad. adds erusa&ol' o |

7.~ . USW Ltd. 1ssued 2000 shm of Rs 10 each the share amount bemg payable as
: follows T TS _

 Rs. 2 on apphcatmn Rs. 3 on allotment :

Rs 3onﬁrstcallandRs 20nﬁnnlcall

€

- Apphcatlons were. recelved for 1590 slm'es whxch were alloted The DlI'CCtOIS made :
~all calls except 150 shares all money were reoelved These shares were forfeited &

o relssued at Rs. 8 per ‘share.’

. USW e, eaada 2000 semmso do m dod wz!oﬁd anacbaw & smm &
$9ngod sOobeand. |

e, 2 ertrab e, o, 3 Foaleodt de. 3 D 90 Bt de2 sosh b

o ;-;1500 secbmﬁ mg eﬁs‘ﬂ% uoacbsdm e@ﬁ% BorBOIRNES. JTIeFTTI ).
: soo:brm: RREN STOQF 150 Jedoriv 830D Fro WOBTTOY, TN & SedorivRy
. aaaesamwo TAHET. SRR, de.8 dos o 3 wRNB amadnaad

Broewd ma)e?ﬂ% wdcn0 @orte e:p'.)ss aﬁgéodaaigl B0I0RD.

[P.T.O.
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8.

Jyoti Co Ltd issued 50000 equity shares of Rs.10 ‘each-to the public. The whole |

issue was underwritten by PQRS as- P-20000, Q-ISOOO R-IOOOO & S-5000

The applications received for Rs. 45000 shares of Wthh marked apphcatlons were.
as follows. :

*

P-22000, Q-9000, R-11000 S-1000

' Find individual liability of underwritters.

268 0. DobR0SY Te. 10 Go3 50000 Bechrivady MFEION HIVING. e,
Bedonid), Bedd rharcd YRR Hed PQRS wayconer @ows SnEoNT.

. P-20000, Q-15000, R-1oooo-.&_s-5000

_ R EIBOOT AT, Smd 2430, Bedonie? s 45000 mg SBY, 2,830, ma ma:m:su- ‘

mdaﬁraoaﬁ wocs e923e e 6& é:maoaa

P.22000, Q-9000, 'R-’11000 $-1000

| 60 THIRECT. FoDEE BARMOOBEDRY, FomeR0I0.

Following is the trail balance of Vidya Ltd.

 Particulars »/ o Qc.bl!  Credit
.Shar_e cgpital (50000 Eq. shares of Rs.10. each) - ~— 500000 _‘
Calls in a;rears o o . 7500 -
General reserve | , o - , - 20000
Profit & Loss Alc | o " - o | ~ 32500
Bank Account . . B o 35650 o  -_




mEmmEE 0 0 3enyese
| Sundry Debtors - | »: - o :8.700(): ‘ -
Reserve for doubiful debts . - 8350
Sundry cediors - L g0
G@wiii I | | | | . 20000 . -
Bmldmg o - 400000 -
Machmy o - R o 33._000_0' .
. Depreciati_oh' on:Machméry _' EU —' '3;3000 |
i{lv&snnents R R ‘ | R | '47506' | _ -
I;r\‘?lilnatzmy,,m—ipé"nm : e\ : - : 4-506_ - .
12% debentures M o - 3().60%50
| Outstandmg '7 i-i.xtérest, ._Ton debentures R | ; '-  - | ' 1'40_'00 o
Loans & advancesr | - . 42500 - -

Closing stock o ' | - 5000, ] -

J"Prepa_.re statement of ‘Assets and Liab.ili‘tics as on 31/3/2020.

‘om0t 31.03.2020 dom D, O. AHAE > VBRI TV FNFOIS.

[P.T!O.
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oo S s
" Beco worme (G0.10 8 50000 ecbriwd) - 500000
808> 18 | '-, | - . 7500 -
oot 3 =0 - 32500\'
mRny, 00 B, 20000 |
S - . 35650 -
S | | £7000 e
dogeb mod e 4350
m'aa’o@.ddd o | on : Y P ghon
ROROED 1, L= . .‘2'0606' - :
sz L o 4l(')000'o'~. SR
obos, | o - .3)300_00 .
2edpenEcnTd TR | no -
Do RIT9 | R | C e 133000
a%aao&meﬁ u | : B | - 47500‘-  -

T, Cops Ppivd I 4500 -
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12% mosgnh S - 300000’
OB 000 038 | - R ~ 14000
DO m;g:mémm. 3 | s -
oodp X | | | 00 -

A |
10 The bai'ance sheét of CSB Ltd‘as‘ on 3’.1/3/.2020 is as under
Paniculérs : - ‘Note No. k | - Amt,
I Eqﬁity and liabilities

(1) Share holders funds

‘Share capital | 1 400000
' Résel_'ves & surplus 2 134000

@) Current liabilitics
Trade | payables L(creditdrs) S | 376000
- Total - | 910000
i ASSétS'

(1) Non-current Assets

[PTO. |
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. Note 1

“Note 2

" Note 3

The expert valuer valued land & bulldmg Rs 300000

Tangible ﬁxed‘Asséts. coe 3:

intangible fixed Assets (Patents) —

B

Current Assets

Inventories (Stock)

Trade Receivabiés (Debtors) _

Cash & Cash equivalents -(Baok)

Share capital

4000 _eqixify shares of RleO each L

Rese-lfve:& Surplus ) |

General Reserve
Profit & Loss A/c._

Tangible fixed assets

Land & Building

Machinery

. 36323C230

-, 450000 -

'7f166666'f—f°
,1  j12oo0ol";

'f9ooooo“‘f-

400000
80000
44000

124000

200000
250000 .

450000

Goodwill @ Rs.350000 and Machlnery at Rs 220000 The Proﬁts of the company
were 160000 140000 & 180000 ' | : L
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N The'_ 'compa‘ny follows the praCtiée : of tran#fering‘ 20% of the profit to general
reserve. Similar type of companies earn at 10% of their shares, '

Assert'ain‘ thevalue of, shares u'nciler, | -
b Intnnsncvalue method -
: 3) i:;ir--v;l,.;g;neqiéd -
B 0. sy 512000 4 6 et 8 taons
|t o e
O w50
a"edouozsmq . o1 : 40(_)00()'
am abag o . 2 134000
@ wﬂvm
(maanm) S | 376000

LA .9710’0‘00‘

[PT.O.
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I eansd | - .
1) u0 agg égnéo :
| _ﬁ;aezsd%oa&nd) o 3 ‘4'5‘0000
| ertensd wook i (Hoer) 70000
@ 50 o -
| oo : -~ 100000
momd®> .~ A: 160000
o o - 120000
ey |5 500000
i 1 B oy
4000 RORRT, Jedorisod
60100 So8 SR . 400000
wEs 2 0 e i | 80000
matng, 90 o o

o3 oy B a8 124000
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8% of the net profit to Miss. Ashu Manager

One part time director Mr. Siddent was given 5% of net profit as honoi‘aﬁum.

*

Two Managers Miss Amruta and Miss Nikita got 14% of net pfoﬁt.

The totaI Jr‘e_:mune'rat'i‘on»paid by the compémy w‘it,s'25% of net profits.

| Comment Ac'm_,cgch of ihe élbove payments.

2,3 LB 900 ©. aderss womeosd Rex, ot i aeacs m 263 oM
*:bmmnmmamn ozpaaaos:m 8 svnao:; tedons. ,

.a_).

b)

c)

—d)

@)

Be. 7% Z»)af# oaz;juab wmm aderoacS &e. demos essson mdoand

Q0x° 35+ aaoﬁ aﬁ?_mz;d sé. 8%.%9&363?\:3 (B a?eud).

'eemsc’,) :bderd%oad X &mos eﬁoﬁ ﬂadasqmcf cﬁawdd) 5% :om# VP, .-
' ﬁ:azsemnd :

- goodd waa's'md)mad MlSS emaa m Mnss ;)aoaa fadbﬁ 5e 14% :0;3#
ooy, irazsemnd

cSer s sbodeab e, ATT0N 190 Bor0vE L, S CorD 325% SR,

oed AT ROGRSINY wor}, ey eI, CrvRy UKD,
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III Semester B.Com. 4 (CBCS) Degree Examination, April - 2022

- E-Commerce
(Regular)

Time : 2 Hours Maximum Marks : 40
Instructions to Candidates:

1) Attempt questions according to internal choice.
©0308 &SoNoR wWITY, 2, BINOR LUZOAD.

2) Draw diagrams for explanation wherever necessary.
13 OB, Seanug iy wOowd.

SECTION - A
apn - ©
Answer any Five questions of | the following. (5%2=10)
BINS Iesos 5 JINReR LuZ0R0.
1. a) What is E-Commerce ?
| Q-TORIREE Q0TTERY ?
b) State any two examples for C2C business model.
C2C B,3300 [REeR IRFYRTTR TR CEETRAYRY, 9%,
c) What is digital wallet ?
RUBS TSE H0TTE ?
d) Expand E-CRM and E-SCM.
E-CRM =03) E-SCM e, £30A.
e) What is digital signature ?
BIST B Q0TI ?
f)  What is Mail-Merge in MS-Word ?
| MS-Word 89, 060 &omF S50 2
g) State any two features of MS-Excel.

MS-Excel 8 cdna)teutn S8R &3& nVI) 39A.

[P.T.O.
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SECTION - B

opont - w
Answer any Two questions of the following. . =x5=10)
ARRETAL 0B> BIAGR GvIOD. |
Explain B2C Business model.
B2C #3500 Snmdabay DEoR.
Write a note on Core Banking Solution.
BRET" 230,080 TWOTOT s}, TS 2ToND.
What is Digital Marketing ? State its significance.
BB Indrudon’ 008 7 BEo BOBIFTIY, 9.
State the advantages of MS-Word.
MS-Word 2wt &cdeendned) &oxo.

SECTION - C
open - o

Answer any Two questions of the following. (2x10=20)
CURIIRET OB BIOT v3oR0. | |
Explain the advantages and dis-advantages of E-Commerce.
A-TOWAFT SDTROND ) UFORRRUNT), D3O
Briefly explain the methods of E—Payments.
[-TRDENY IPINTR), NOBTION DTOR.
What is E-Goverance ? Explain its types.
Y-VBYS S0TO ? VWO T,FORGRY, DTN
What is social commerce ? Explain its uses.
RORRET TTT FOTTED 7 BT evBcdRenneR) HHOA.
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III Semester B.Com. 4 (CBCS) Degree Exammatlon March - 2022
Practicals on Skill Development

(Regular) ‘ -

 Time : 2 Hours L ' AR “ 'AMoximllm'Marks_:‘ttO
Instruct:ons to Candidates: B o o
' 1) Attempt questions accordmg to internal cholce
T &0308 e:so:’oﬁ@ﬁ L9 DY, ZInen £030RD.

| 2) Draw dlagrams for explanatlon wherever necessary.
eﬁa‘daqbq Beaooes3 Ny, WS0000.

 SECTION - A
- Qdegert - _
SR - S o (5x2=10)
_ Answer any Five of the following -questions. '
3 89N s 5 JFRen evsono. In2aUnd
1. a)° What do you mean by underwnttmgs of secuntles ?
et &3 "3@&"3 ne i), SRl)s LBOTFOTTERD 7
b) Expand RTGS and NEFT.
- RTGS &3 NEFT Q%oa w3oD.
c) Define Enterpreneurship.
ooy obeed Q0GR 2
d) Define Skill:
- PBOT 539,8; udo‘wo
e) Write any four Socm-cultural factors affectmg a busmess. .
RSB Foed TOLFI WTOT WY, I RN T *ao,oﬂaﬁ eosm?ab é@ﬁoo
f) What is quantitative analysis ? |
 DomnmngE A3 Houded ?
2 What is an e-wallet ?

e-wallet Q0T3O 7 | \
| [P.T.O.
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SECTION - B
| o - W

- Answer any Two of the following -questions.
31 #9913 CIRYTTAR SR FION CUZORD.

~ (2x5=10)

Mention any 5 successful enterpreneurs in your region.

aa%ﬁdeﬁd SRR 5 0B, LOBFTHCTRY, Bewd.

. . Prepare SWOC analy31s report of any imaginary company.
CIRJTRTTR ﬁawa)cﬁa SWOC adaodoab 280000. -

Draw a specimen of Debt card and Credit card.

BT B R 3 QLT TRFNY Seasotss, WRRD.

Calculate value of” share using intrinsic value mcthod from give mformatlon
Rs.1,00,000

a) Land and buildings

b) Plant '(agreed value)

c) Assets . (less depriciation)
d) Trade Receivables

e) Goodwill_ (agreed value)

f) Cash equivalents

g) Workmen's deposits :
h) Sundry Creditors
i) No. of equity shares

a) a0 S sms
b) o (w@on Bed)

c) AN (V9 Tt3)
d) =o,ze0 ToesANeL

e) Romosd (2.0 83)

) Inch ZRRS

g) TNOFES BOT

" h) D07 monedd:
i) ?@W&ﬁﬁ Jedony ;1305335

Rs.
Rs.
- .Rs.

" Rs.
Rs.
Rs.
Rs.
Rs.

60,000
25,000
10,000
80,000
35,000
26,000
54,000

10,000
 ©50308 SPY,T TFI0D. Fews Bedors [P, FoTEHACWO..

on. 1 00 ,000

_%

5656655

60,000
25,000
10,000
80,000 -
35,000
26,000
54,000
10,000

1]
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SECTION: - C
. | ot - i ‘ ,

AnSWer any Two questions of the followhg S (2X10=2ﬁ)

NS Qmmmaddra Q0 ZIRER ¢UZ0AD. ,

6. Draft a statement of assets and habllltxes as per Schedule-IH of the companies
Act-2013. : |
oD moty -20130 3a,, Il O ’m oy sy AommOiY Byt
30332040. - L e ' ’

7. List out the prbblems faced by'Rural Entrepreneurs.

e SNty REHORT IR NYR) TLRRE.

8. Calculate mean, median and mode from the following data.
81 39N TeIoN0T e, WAL TRy BeednvRy Oy aaaa
80, 145 90, 50, 105, 175 95 120 145, 165

.9,

| Compute trend values by ﬁndmg 3 yearly moving -average for followmg time

series and draw graph. 7 _
8 NS TIPS 3 JAFAY BOVS FoWO et BFE IPO,IN

- BORROWD.
| Year 2011 2012 2013 2014 2015 2016 2017
Sales 412 438 446 - 45\41 470 483 " 490

- BRoW
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I Semester B.Com. 4 (CBCS) Degree Examination, Aprll 2022

- Quantitative Analysis for Business Decisions
~ Paper - 3.6
(Regular)

Time : 3 Hours B _ | " Maximum Marks : 80
Instructtons to Candzdates y '

1 Workmg steps should be mentioned.
- 2)  Simlpe calculator is allowed.

SECTION-A

dpnt - ©
' Answer any ‘ten' of the following. : - '  (10%x2=20)

9N CIRRHTREAR TH @,Znon w36~&

1. | a)
b)
c)

d)

Define quantitative techniques.
TORRIGE 03,33y A,

~ What is a secular trend ?
A8,00° BH 20ETED ?

Write any two classification of quantltatlve techmques
woabang 303,03 esol 0@ BNEFBOLINTIY 280000.
What is a negative correlation ?

5@03%5 ,oouoqs epocsdem ?

Expand: (i) GM (ii)) HM

23020 : (i) GM (i) HM
32, 36, 48, 52, 40, 54, 46 then find the mode value.

32, 36, 48, 52, 40, 54, 46 Feew' IPO,TI F0BRRBOWO.

’g)

State any two limitations of quantitative techniques.
TORRIEIYE 308,53 T TR WSRTR), LISWO.

[P.T.O.
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1))

k)

H

- Answer any THREE of the following:

@ © 44874/C0240

Mentlon any two uses of SQC. : L
~oa.m zsax;eo:‘o ] VoD, e cdnde adm emﬁo&raeriﬁ#aa emde.:nxa

State any two essentials of good average.

3 XoURD0d) odRHTSe TR »@ﬁ@%éﬁ#@t W30,

Write the formula of weighted AM.

3R8E e50BREIIs RooRd RRZERY, WAKWD.

What is a time series ? - |

T30 [oedSersBesd ?

82, 96, 72, 94, 95, 98 find medlan value.

82, 96, 72, 94, 95, 98 =ToxD 53’90 ﬁﬁa ﬁozﬁo&:@o‘wa
SECTION—B
S~ B

(3%5=15)

#NS caRRERRdR Fco TERER GUIORD.

Write the functions of ‘quantitative techniqués. |

TORRERYE B0BRE FODFATR], LSO,

Calculate mean for the followmg data:

B9rt 80k, XoORO emmcsasm FoROLAD.

X

f

10 20 _20-30 3040 | 4050 | 50-60 | 60-70
4 7 | 16 20 | 15| 8

Calculate 3 yearly moving averages for the folloﬁving data:

39NS TIOBRO0T 3 BAFoDH WOT FoULONTDY Fom> HAOWD.

| Year

1971

1972

1973

1974

1975

| 1976

1977 -

1978

1979 |-

Profit

72

78

96

94

82

81

92

102

90

Find the Spearmans Rank correlatlon for the followmg data.

B9 8ek, XY, AOHORN'T B eed IBTOWOE TOFOBBRY S0maE0.

FPed

Dhoni

29

28

17

T1s

20

26

27

25

34

19

' Kohli

31

32 -

25

29

42

15,

43

32

20

40|




Draw suitable ‘control chart for the following data and give the conclusion.

BN T4 ROYTHE doboY o WSTUIT) TuD X zoai DeoroddaRy, Bewo.

INNENEE, ® . 44874/C0240

39NS Yewor HURE LvBORD.

The following data gives ages and height of 10 mens.

NS Betwy 10 PYOows Sobmd DB VTR, DeRIT.

ample No 1,, 2 3 1 5 16 8 9 10
IS .-0033{ ' N : ' , :
No. of defects{i3 | 15 16 14 13 | 12 11. | 14 | 12 16
DBewng Road:. - | ' : ’
' : SECTION-C
‘ oyen - ¢ ;
‘Answer any 'two' of the followmg : (2x15=30)

15)

Ree (. [ 56 | 42 [36 [47 [49 |42 [60 172 ‘63‘ 56 |

o). (X):

[Height (y) 147 [ 125 |118 128 [ 145 140 [155 | 160 | 149 | 150

71) Calculate regressmn equatlon XonYand YonX& estimate.

&H0WOTD [TV X eﬂas’: Y ab& Y em X & 900030 RnG.

ii) Estimate the likely helght of men when age is 45

45 SRF IDdAZ PHooms aécﬁa:fab LH0DO%D  WIRR.

FWORT RO TOEse0ses 03TYTIC DO msaoa’saﬁ%a WBOWD.

b)- Two crlcketers scored the following runs in “the 10 innings.

QD0 §,8NC 10 BRONNTYY, TN SRYRY ROATTD.

Cricketer-M [12 [115 |6 |73 | 7 19‘119’36 84 129
388 -M |

Cricketer-N [47 [ 12 |76 42 1 4 | 51 ] 37 _48 I3 |01
$8ud -N - |

Fmd who is a better scorer and who 1S more consistent.

‘a) Write any two properties of correlatlon coefficient. - (2+13) |

evipiev) wgmuraaedc‘ W) R BT %doanmd ROUOTRY FOBIBRY, -

Following are the . figures of production (tosses) of a wheat ‘factory.
RReD FRCIoD, LUSBSoD (83a°) eodwosnd 83 FPNTosd.

- | Year -} 2007 2008 | 2009 2010 | 2011 2012 | 2013 |
Production 77 | 88 | 9% 85 91 928 90 -
- [T | ' |

as)

[P.T.O.




10.

11.

i)

it).

iii)

b)

LTI O o 44874/C0240

Fit a straight trend line by Least Square method and calculétc trend values.

| 8%, St g3c00z BOY Sear BIB00I erjpe % 353 ety

60:&360@0030

‘Draw the graph of trend values agamst the ongmal values.

Roew WSnen abrdessn '*‘asg WSne edesd TR0,
Estimate the production of wheat factory for the year 2015.
2015 § Reed TorSod LURTICHR), 0T,

- Write the scope of quantitative techniques. ' _ (5+10)

BORREEZE 303,nY - 39,80, WIoD. :
Eight samples. of size 100 each were inspected and the number of defectlves

~ in each of them were as follows (prepare np chart):

20830 ~o:o’oda %3 1003 oot B deesnenmn Soedamern dreany Kosd,olm),

560:33&:@0300 (np 3B):

Sample No. . |1 [2 |3 475.6 718
QuBrg o, S N

No. of Defectives| 4 |8 |2 6 213 |5 |1
Geesnd Joad, |

- SECTION - D
o -3

Case Study (Compulsory question) L Lt o : (1X15_=15) ,
TEom G obT (FEmad TF): |
Construct X chart and R-chart for the following data and state your conclusion. -

39NS MR X W@ B R uTSI) Sund 30T dmy :asas-oaaasab BewDd.
Sample No Sample Values .

S[RTO NO&S am:ib ab’ae) ned :

1 ] 6 13 14 |

2 9 g8 13 15

3 9 . 8 | 11 10

4 16 | - 18 13 8

5 13 21 19 - 17

6 18 . 16 20 22

- (Given for: n=5 A~0.58 D=0 Dg=2.12)
(NN dedeRnd: n=5 A,=058 D=0 Dz=2.12)
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Time : 3 Hours

Reg. No.

IIT Semester B.Com. 4 (CBCS) Degree Examination, April - 2022 '

Entrepreneurship Development
(Regular)

-

Maximum Marks: 80

Instructions to Candidates:

N 1 a)

1)  Attempt all queSﬁons ‘according to their internal choice.
DR, DYPANTR), 80308 SONOT SONOETN GUIOLD.

2) Section-D question No.12 is compulsory.
B3, Xoss, 12 313’%0&&33?\@3.

Section-A
azgéri -
Answer any TEN of the following. — (10x2=20)
SUNTRIIVY, L3003 @IE 20FORO. \ | —
» Define Entrepreneur.
emqsabécbai 9,35, 2eR0. _
b) Give the meaning of Entrepreneurship. -
'emc:gwaaeoébi) szﬁrﬁagl NERD. | |
c) - State two objgctivgs of entrepreneurship development.
o Rodendon GO GOR> CUETR) 398D,
~d) Expand: TCO and CEDOK. '
- TCO mon» CEDOK &xord.
e) Who is drone entrepreneur ?
ﬁ:aewac T TBeZonT iR 2
- What is venture capital ? .

m&*’fo:aeqsaﬁo WORNY 200 ..?

[P.T.O.
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'g) Give the meaning of angel investor.
SOBE* BERIROT TR DeaD.
h) Define rural entrepteneufshipr. |
- TRQ0er eunyEbeodal 28 Read.

i) - Name two industries started by Dhirubhai Ambani. -

Qedazpaoaa 302700 ‘awbod *ae.wms o1 b tmmdarw aﬁ‘n»dﬁa 3920,

" j) State two: objectives of Digital India.

AR BORMIRG FUB> VEBnYR) S98D.
k) What is business mcubator ?
%00 FoUFo WO aocﬁdem ?
1)  State two government schemes that 'support entrepreneurship.
o bt REad RRES ROSOE UR> ceeEndsy 30R0.

Section-B
Qg = B |
Answer any TI-IREE of the followmg ' ) | 7 - (3%5=15)

NSRS, e Bn0E, EVZORD.

‘Briefly explam the characteristics of Entrepreneur.

VBBV TORFHFNTRY, ROFTTON HIORO.
Explain the functions of NIESBUD.

~ NIESBUD 8 gocdeniva), 9040,

Explain different sources of finance to stimulate, support & sustain entrepreneurship.
B Ehdeodol BReas, FEoh Brte EbeEoD aaqs BEaBORE a:b:aoﬁ#ab DIORD.
Write a ‘brief note on Ratan. Tata. ‘
des 1mim B0 e, Fod 1 L300,
Explain the salient features of start—up-India. :

W -OT -080373 ‘rbeaoasm#mq DTORD,
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10.
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- Section-C
: | wPPn - ¥ .
Answer any two of the following. (2x15=30)

PN 83863(5 QO wﬁﬁ@ﬁ SUZOAD.
Define Woman Entrepreneurshlp Explam the problem faced by Woman Entrepreneurs

- D& emd mwéoda maSoi:& :oeae =& emd QN 00T F:0F rie;fafo

QWORD.
Define entrepreneurshlp development Explam the problems faced in entrepreneurshlp_
development programmes. -

- eugEdddeudod ezpagao:b ma.’i CddR, Nea@D. emd Bodew3od o QoD FOORFE,E0TE,
adaoamas ab,o no, &)aia,oo

Explam the need and objectives of rurat Entrepreneurshlp

(UDRASORC A aéwécxb esses ALY emdedrieéao 2IOAD.

Explain the role of self-help-groups in stlmulatmg and supporting Entrepreneursh1p
i aaéeoéicm 2,WReTS HoNe ~aao‘.bﬁ#eb R -RBo03 moag;m* T, dab WORO.

Sectlon -D
, &)zpari 3 g |
B Case Study (Compulsory questlon) — = (1x15=15)

®,300 e-.sqSofos (fcsao:b a")

‘Mrs. Shanta is a graduate and has finished her tralmng in Entrepreneurshlp & wants

to. start a business in her town. As a trainer you are adverted to provide suggestions

for the following.

Q0RT BOOTD 2t BEDEFCOIRNGY, w23 Qdewdod 3dz3eaomgt TG, BN BB
3 BB VTR, TN Rep, TR GORFDODIY YRR WODRSTHT. I BT
Qex) e3ont B NS IZNeR LUBOWIET Soews TRNFSSFS JeRD. :
i)  Explain the challenges she may face in selling her business.

U0 AERIT DI, ST HBORBEHT ILOTVRY DFORD.
ii) 'What are the opportunities available for her to start the business.

B8R B3 DB, WS eswmnem 3Q2D. ‘

iii) What are the government schemes that are available for her to start the
- business. -

- o8 sz ai‘esarba:f‘;td@dd Toood odeexSnsd R ?
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_ Reg.No. |
CIII Semester B.Com. 4 (CBCS) Degree Examination, April - 2022
INNOVATIVE BANKING
(Regular) '
Time : 3 Hours | L Maximum Marks: 80
Instructions to Candidates: ' ‘
SECTION - A
SR - o

1. Answer any ten of the following.
(10><2-—20)

Bezows Ssg'gzﬁln@ﬁ SO0,
a. What is Bank ?
‘zaésos‘; D0TBe 7
~b. Who'is a customer of bank ? .
3,088 MR,TBS0BTeD> 2
~c. Who is a bailee 7~
| Beas3 Q0TS cIARE ?
d. Define crossing of a cheque.
143 SeDRRAVRITED HoBBeR> ?
€. Define endorsement..
| *to0w0E Ry, 9,200,000,
f.  What are post dated cheques ?
. Roods Omeoss WendondeRd 7
-g. What do you mean by scheduled banks ?
LB Wy OB 7 |
h. What do you mean by matenal alteration of a cheque ?
| zﬁéaﬁcfg,,oﬁa Bowew (W=F) WHOORTE DOTTERD ? |
[PTO.
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i. Expand : i) RTGS (ii) MICR

2308 280000 : i) RTGS  (ii) MICR

N _] What do you mean by e—bankmg ?

.ac&: aga m odon® QOTIBES> 7

| 'kk. ‘What .is an order cheque ?-

©3es s Q0BdeR> 7
. What do you mean by wrongﬁxl dishonour of cheque ?
' zSiab ITHN LPCADJH 2003 ?
| SECTION - B -
;R - W

Answer any three of the followmg o ' - (3x5=15)

desod o0 VZ0R0.
Bneﬂy dlscuss the primary functlons of commerclal banks

'm:ézs o), 0Bone: *aqS&)aﬁ BRIV, :o‘oéwmn 23350,

Explam the. sub31d1ary general relat;onshlp between banker and customer |

| ,000 Ty MG FDT DTN TR, RowoFSRy 20R0.

Distinguish between general crossmg and special crossmg N
RIT, BeDeBr TRy DBER BesdeeSro G, FEIARY WS

- ‘Banker is called a dignified borrower' ‘Explain.

"o osc"aab PSR RoOTRISed 580333338’ ~ IO,
What is ATM ? Explain its advantages to customers. ;
‘DLIR0° Q0TBER 9 ™ sseﬁ BTOOTNS W, oiraeassmfm WTIOXD.
SECTION - C
R - 8 . : ,
Answer any two of the fdllowing. | c ! :‘ (2><15=30)
Bees 20w, HUZ0R0. | o

Define terms ‘Bank' and 'Bankel‘ Explam the modem services rendered by commercial
banks. -

‘w057 B mo#o" Sum*m mm oD, msém zaaoabmb aetz:af e:sana)s ,

»edﬁ#ﬁa &)dbkb

(8
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" 10.
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‘Expl‘ain the special reletionship between banker and - customer.

EA08 083 o) M,IE0 IRW [dOd amw aouozsrt@z& DTOD.

- Explain the dlﬁ'erent types of loan prowded by the banks to its customers.
230,080 35 ,3Eon aewm DG FT0E ONT i, SO0,

What is online bankmg ? Discuss the advantages and dlsadvantages of e-bankmg -
sé,da‘ wa 20T OTBER 7 DT, zsg; 239,033 ©TARY ao& em&ﬁme@ﬂm zswrﬁac
| " SECTION - D
aen -8 7 |
Case study - compulosry questlon : : o I (IXI5=15)
BEom SELAbS : SEed B, | P o

- As a banker, how do you act in the followmg cases.
‘samzo moﬁdmn 1 NS & ﬁoﬂrt#e) Bert wéméeb ? R
a) -A cheque dated 1*July 2020 was presented for payment on 10® October 2020.

1 e md 2020 aaceaam BROOT zse‘asw aaaoe 10 esﬁ:aewd 2020 doci:
BARAC YY) 0N ot AR e'and

b) A fixed deposnt of Rs. 10 lakh for a period 2 years presented for with drawal =

just after 1 year by the customer.

dn.10 oﬁ a’nan QOB marm wooda‘ é‘e@ eL.Jalers 0] ieado z..oda I
ICI03T aooa';’dot‘ooa 23, 08NRQR erond

¢) A cheque dated 10% March 2021 was presented for payment on 1% March 2021.

10 Snese 2021 20D, BR00T asmm 1 &nede 2021 Jord TBERLD
- wp08n "dgp»e:and

'd) A crossed cheque is presented at counter and customer demands payment at

counter. |
BeDeomy, BRodT t.omd zée‘asag P00, a‘e?_g; 0,38 ,e’aoasc‘ﬁq,o&e
TBRITOL 8T CWRITS. ' '

e) Mr. Rohan has given a cheque to Miss Avani but cheque has been presented for
payment by Mr. Abhinav. - :

d:aeas T Fiodn 36 2L ) ewzo DOWION VBTN, BT © zss‘afo eszpaas
0Ly F 050 mﬁé e zua o3t Qg:ma" |
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- Reg. No.
I Semester B.Com. 3 Degree Examination March - 2022
Banking Law and Practice :
Paper - I |
(Repeaters)
Time : 3 Hours | , Maximum Marks : 80
SECTION - A
atpari -9
Answer any 10 of the following. | | (10x2=20)
Bens B BINOR Cv3oND. | |
1. a) Who is Banker ?

239,080 Q0BT 03RTD ?
b) Mention any two functions of Central Bank |

86033, w083 CARFTRTIL OB TOCDFNFRY 890,
¢) Mention any two objectives of R.R.B's.
 RRB's alnaimncs o0 euesnesy 3980,

—d) ‘ What do you mean by dormant account ? o o .

ST 203 Q0BT ? | |
e) What do you mean by state cheque ?

@D 8 0TTERD | B kS W¥e 20TBED ?
f) What is mutilated cheque ?

D% 85 QomdeRd ?
g) Mention types of ATM,

 ATM 8 OGvRy $9%0.

h) What is E-banking ?
O wR0don aod_deéo ?
i) Mention any two demerits of debit card.

B TOBFS QTR BTROBRONTRY, 39AD.
| o | [P.T.O.
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j) What is special .power of attorney ?
 ofex SF00 F300 SoTded 2
k) Expand: NEFT, RTGS.
D%0% wdowo: NEFT, RTGS.
) What is cash credit ?
SN B womSeRd 7
SECTION - B
o - W
Answer any Three of the following. : ‘ (3x5=15)
desor Roedd JInvid Lvgono.
2. What is ATM ? Explain its merits and demerits.
 ATM 0T8> 7 ATM 8 6308003 303 omIBeesdns wif HE00.
3. Distinguish between particular lien and general lien.
QOFF, FPST TR, T FWRT; FWPST TINY JF AN 89D.
4. Explain briefly the primary functions of commercial banks.
Jorde, 230, 080Ny @,qsaoﬁ TOODFNIVSY, BTN TOD.

S. What do you mean by material alteratlons of cheques ? and mention in what case
alterations are allowed by bank. -

BIP (PS8 LT SOTTHD 7 o) CART WETHSRE FBIR WETRHD
SUSHETS | |

6. What is EFT ? Explain the advantages of EFT.
EFT @0mgedd ? EFT o esbgeedndsy O=od.
SECTION - C
_ | e - ¥
Answer any Two of the following. ‘ (2x15=30)
tewos SOB TFMeR wZoRD. |
7. Explain the new services of commercial banks.
WL, 13, 0BONT IRSI Ae[NTTY, DB|OAD.
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- 10.

11.

Explain the circumstances in which banker can close customer account.

o, BIS a):)so:bab 39,085 03RS NoTPFnvd, mwﬂra@"u&dowdm QF[OXD.
What is joint stock companies ? Explain the Precautions to be takne incase of
accounts of joint stock companies.

BB WO Noz':’riv.b 0B8R 7 tiracsb LT feo,qrw 233N wr;‘ mo&

Sﬁm&wdmﬁ maommi B,30nVR), SO0, _
What is internet banking ? Explam the merits and demerits of internet banking.
DTS 139,08 0BT 7 AELTYS W, 088 BRTROIND =3 @aaabmwrt# e,
QTIOAD.
SECTION - D
_ RN - @
Case Study (1x15=15)
T80 W00 : ,
As a bank how you deal with the following situations.
QeY I, 080TON FINT BTN, Berd 3, BTORDD.
a) Mrs Gupta call to bank and ask account detail of her husband without his
consent. :

Bedd oy w08t IORRG I VAL Lo aete BEs WS J[N Wit
WIOATDN.

b) An account payee crossed cheque has presented for the payment over the

counter.
TRATIFAN TN, wow TFedeo QT WIS, IROMON 139,083 PoLTIY,
DOToTBRATN. ,

¢) A cheque dated 01-10-2021 presented for payment on 15-09-2021.
01-10-2021 OFo08 BoDT WY 15 09-2021 Do s WoTHOFTN womeri/
pnlaeratetanta® :

d) A cheque dated 01-06-2021 is presented for payment on 03-09-2021.
01-06-2021 o008 BROOT W), 03-09-2021 Somd .69 HOWOIE, wWower.

" e) A customer sent his bills of exchange for collection. Can you apply

garnishee order on the bills of exchange.
W) TR, BB DITOD BI,NPRY [TRACEMRN FWLATN & DT HZne Soed
‘BN e:stiezi’aﬂaﬂ\gi BROBRWIIB. -
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III Semester B.Com Degree Examination, April - 2022
Business Statistics
(Repeater)

Time : 3 Hours - . Maximum Marks : 80
Instructions to Candidates: ' .- _

1) Working steps. should be mentioned.
2) Simple calculator -is allowed.

SECTION - A
OYRn - : _
" Answer any TEN of the following. ' | ©(10%2=20)
deoss BB BINeR e0gon0d. |
1. a) Define Business Statistics.
B, [B0F RO, TIRT @23, JeqO.
b) State two limitations of statistics.
AOSIR,TIRT CBRJTWAR T TREENTS), S90.
c) - What do you mean by random sampling ? -
. uBys Swdestn oomded 7
d)  Mention the types of graphs.
Beasous3) T3 T Fo0NERY 8920.
e) What do you mean by partition values ? Give the formula for P,, in continous
series. , '
DewE WSNL Q000 ? AP G erdoon Py, a8 Beg@Esy wickwd.
f) Find the range and co-efficient of range for the following data.
BINT TYAOT TR, DR TG TOTOBHT, FoRELRBOWD.
X-10 15 16 9 8 5 25 12
g) What do you mean by sample space ? Give an example.
DTEBFE S5 20BSed 7 LUHBTR B
h) Define Karl Pearson's co-efficient of Skewness.
PO LTS DRWBD 0TS Ty, Ve@d.
i) If E(x) = 8 find E (3x+10).

E(x) = 8 G0 E (3x+10) & B8 omb@owd. |
[PT.O.
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j)  Define probability mass functions (PMF).
Roys ooy POI w8 Je@D. '
k) What do you mean by time series ?
w08, erd 20TTER 2
) - Mention component of time series.
Fow3,eed0d VONnYI) E9A0.
SECTION - B
NPt - W
Answer any THREE of the following. . (3%x5=15)
NI, wiems e B,BNerR Gu30AD. :
2.  What do you mean by census survey ? Differentiate between primary data and
" secondary data. '
Ron, B0 2oBdeR> ? THAB W TRGE BIoBNT ST 2,393 W0,
3.  Draw suitable diagram to represent the following data.
& 9N DFORIY AR e Bessowd R, 1S00D.
Monthly Exp. (3ori$ &:=30)

Item Family A Family B
€903 DEDOW A oW B
Food 1000 2800
Ehaple] '

Clothing - 600 1500
uaﬂ“

Rent 300 400
woldnn , '

Others 1500 2700
2338

4. Calculate mean deviation from mean for the following data.
B $UNT TIOBNRPOT FTIROO00T DIOBCHI) FOBO&LRONWD.
X 10 11 12 13 14 15
f 2 5 10 15 12 6

5.  Find mathematical expectation for the following data.
R BYNI DIOHBR NedzoTT QOEFFBOT) BOWoEEBCWD.
X -1 0 1 2 :
P(x) 02 04 03 0.1
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6.  Calculate 3 yearly moving average for the following data
39N A8 3 SHFNY 230 FToROODRY  FoELBOD.

Year 2013 2014 2015 2016 2017 2018 2019 2020 2021
Output 170 168 94 = 42 32 118 18 194 166
(in '000)
SECTION - C
NN - T
Answer any two of the following. ‘ (2x15=30)
BONIDNVY, e A0 TINER LZORD. |
7. a) What do you mean by diagrammatic representation of data. . (3+12)

Beagorss, 20mseRd ?
b) The following is the distribution of IQ of 150 children. Draw ogives to the data

and find the median.
g FPNI BoHO3W 150 abw 1Q cshda Léwzda Wy R 333@506633

TORILROD. .
IQ 60-70 70-80 80-90 90-100 100-110 110-120 120-130 130-140
No. of :
children 4 16 30 52 34 10 2 2

8. a) Define standard deviation (3+12)
ByBRETZ DWUTTTY, 39,859, A0. '

b) Find Karl Pearson's co-efficient of Skewness comment on result. :

BT LODTIT TR OF0BH WOSISTI), 30B0HBOND. FOT0IT 3T, 0D

SPR0.
ClL 0-5 5-10 10-15 15-20 20-25 25-30 30-35 35-40
f 3 2 5 7 13 21 16 8

9. a) A bag has a tickets marked with numbers 1, 2, 3 ........... 9. Two tickets are drawn
at random from the bag. Find the probability that both the numbers drawn are
20T Weowy 1, 2, 3 e 9. Boainwors rHTHSTCT 9 wsewmm BeodT. 2

e3BEEF IR, 08T, zsﬁasaﬂ 1T 37?:36 &3 58erane Koydeneodndodn aﬁc@a R0s3,030
i) Even number tlckets

N&NO&ZO&J L3gees’
ii) Odd number tickets.

W% Mol o esdees
b) For the followmg probability distribution find E(x), V(x) & SD(x).

1 Bredat RoykEdecdndad HITHon B(x), V(X) @@ SD(x)ﬁJ FOEOEC0.
X -1 0 | 2 3
P(x) 0.2 0.1 0.3 0.2 0.2 (5+10)
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10.

11.

a) What do you mean by cyclical variation. Mention stages of business cycle.(3+12)
SRIFT WECORTH 0TTER) ? 3,T0C/@,WH0 BT BOINTIY, 39AD.
b) Following are the figures of sales (in '000) of a marketing company.
[WRODE BOTIOH WROME ©03e0BIIY B8 N0
Year 2013 2014 2015 2016 2017 2018 2019 2020 2021
SR '
Sales S5 60 63 68 70 8 8 8 95
S3002t3(000)
i}  Calculate trend value by least square method.
' 3R, INF BHIoWOR B8 WSNIRY FoRLRWO.
ii) Graph the observed and trend values
Swee BSnen eoresn e WAnY Jeso W A.
SECTION - D
4 Qpon - B _ :
Case Study (Compulsory question) ' (1x15=15)
®,8060 OFODI (FECDH FI) ’ '
The following data represents lives of two models of mobiles V, & V..
85 FINT TRTBY, TR INTOD B o' SoIOTDIY éracsemf\cﬁ v, & V..
Life ‘Mobiles

030, IOt

[in years] Vi V2

(B=FNYY) '
0-1 _ 10 04
1-2 32 14
2-3 26 - 24
3-4 14 40
4-5 10 16
5-6 08 02

As a statistician find out the following and give advice.

L) RBOWD,TOROON B2 FPNTRNGTY, FOBIGRBOWD 039 ROT AeRO.

i) Whlch model has greater llfe span ?
QIR WRE00DH Wod0FE, BN ?

ii) * Which model has more consistant ?
odns BREOID T, Rc:pdé BRODT 7

iili} Which mobile model do you recommend ?
CRE SRWOODTY, BRELO OB VB0 ?




Time : 3 Hours
Instructions to.Candidates:

10.
11.

12.
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HI Semeéter B.Com. 2 Degree Examination, March -
COMPUTER APPLICATIONS IN BUSINESS-II

*

1) All Sections are compulsory subject to internal choice

2) Section D is compulsory -

- SECTION-A
Answer any Ten questions. Each carries 2 marks.
Mention any two spreadsheet Applications

USE of Autofill option in Ms-Excel

. List any four text functions in MS-Excel

What is chart?
Expand DBA and MIS

What do you mean by Query?

- Give the file extension of MS-Excel 2007

List the Objects in MS-Access 2007

What is sorting in MS-Access 2007
Define Form in MS-Access
What is information?

What is online system?

2022

Maximum; Marks : 80

(10x2=20)

[P.T.O.
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13.
14.
15.
16.

17.

18.
19.

20.
P

22,

SECTION-B

Answer any Three questions. Each carries Five marks. (3x5=15)

Write the steps for inserting Row and colurnn.in‘MS-Excel worksheet.
Write the steps to apply F ilter in MS-Excel - | '
Write the Feetures of DBMS

What do you mean by Parameter Query? Explain with example

Discuss the eoneept of MIS ~

| SECTION-C
Answer any Two questions. Each carries 15 marks. (2x15=30)
Explain different types of charts with a neat diagram. |

Discuss the different data models with suitable examples.

_Explain Benifits and Limitatiens of MIS

Write short notes on:
a) office Automation system
b) Cell References -
¢) Relation ships | .
SECTION-D
Case study (Compulsory): : : (1x15=15)

Create the table “SNS Travels” with the following fields in MS-Access 2007. Ticket, No, -
No-of-Travellers, source place, "Destination place, Departure time, and price perform’ the
following quenes

a) Insert five records.

b) Display the details of Travellers who are travelling to “Pune”

©) Display the travellers details whose departure time is 9.00 am

d) Display the records whose source place is Delhi

e) Display the details of ticket whose price is between the range of Rs.1000 to Rs. 1500,
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I Semester B.Com. 3 Degree Examination, April - 2022
RETAIL MANAGEMENT
Paper : 1 '
(Repeater)
Time : 3 Hours ‘ 7 Maximum Marks : 80

Instructions to Candidates:

1) Answer all the sections according to internal choice.
T,80800%) HEPRBYL €30308 B0dyob B50 TZNPN LVZ0RD.
2) Question No. 11 under section - D is compulsory.
opert ‘336, B3 11 Fwedmend.

- SECTION - A
Answer any ten of the following. (10x2=20)

1. a. Define market segmentation.
RRABL, DT (DPES) SoBBE 7
b. Give the meaning of retail management.
~ 308% T, 00 ASFBEOD OFFERY eRO.
c. What is retailing ?
4089 s,T0 20TTERd ?
d. What are Mandis ?
TORET DOTTETD 2 _
e. State any two methods of retail expansion.
$080¢ S9,@00 DFYTHOD DTR> IFNFIY, 2TOW0.
f. Define Franchising.
P, 08 R0 T.83, LT,
g. Define Price.
IS0 a8, B0,

[PTO.
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h. What is advertising ?

WToB) DOTTET) ?
i.  What is markdown pricing ?

e s B fnodd’eab ?
j. Expand : FDI and MRTP.

DFOX WOOWD : P°.B.e303F. B wo®.&0%.83. 4.
k. Give any 2 examples of super markets.

RRTT [RTBEN TR SUTOTTFRNRYRY, WTEOD.
. What is organised retailing ?

RogreIZ $0BY mdasad WDOTTBER> ?

SECTION - B

Answer any Three of the following. (3%5=15)

2. State the advantages of Mom and Pop stores (Kirana stores).
Bos* O3) T S0 SONRNG VRBROINYI), WS0WD.
3. What are the objectives of pricing ? :
W3S dnDessee m%@éﬁ%@@ 9
4,  Explain in brief the tools of sales promotion.
RNV B0 [RELO WHVS TGFIN (VT8Te) BRIy ?
5. . Explain in brief the irhpbrtance of Foreign direct investment (FDI) in retail business.
B3 ($0%9) T,TOTY, Hc3ed Fed WoRTY BeRICD FDBINWORHY ? '
6. Expalin the components of E-retailing. '
DD,V BTN m&mdw BONNYRY, WB0D.
SECTION - C
Answer any Two of the following. (2x15=30)

7.  What is 'pricing ? Explain the pricing strategies used by retailers.
23 ArOEFTED D0EBE> 7 ITRP R TTITO 236 ANOEBFCBY, euTcdpeNTT 08, NFIY
D3HRO. ' |
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10.

11.

What is retail cxpahsion ? Explain the need for retail expansion.

808 T,TH0 DHUS 20TTERL 7 308N TW,IT DTS LY, IINTR DHORO.
Explain the opportunities and challenges for retail business in India.
{R03BY, 308 T,T0E BTEINIRY, Tone IVEONIR), DSOR.

What are the advantages and dis-advantages of online retailing ?

SRS $0BW T, T0E BRBRGS B STRIPCIRTR) DTORD.

SECTION - D
Case study (compulsory question) ' | (1x15=15)

Saish Traders of Belagavi deal with the supply of vegetables and fruits at their retail
outlet. But due to COVID - 19 pendamic- the sales of the retail outlet has
declined.. As a marketing manager what - suggestive unprovements would you
suggest.
BRreoD TooWD® @R TR0 3050 B BeaRYR) $0EY T,TT Boernen RORToE
SRELD FoD) FIRREP0BTTT. ST i.faead -19 3 aaotsd) (BOBODBOD) 0B
DS "DCS“’ SORNR BP0 BRRJD @ ACWoeRD BREJTEIY QTTORITYT.
60’&# aa*add Roericd aﬂ:a@eﬁcaﬁ ARy odns Toxd BB wzﬂémfm Soered
SN amh waaxmmaea
a) Llst the advertising tools used by tin during the pendamic.

BT - 19 TG TSN WYSRAT TGINvoRw) ?
b) Suggest steps to improve sales.

WRTIITY, O Cbﬁ.ra@fow BRTOBROBRIEE B,3oNvoR) ?
¢} What suitable pricing strategy has to be applied to regam maximum sales.

RO%, BRARHHE, FRo0ks FRBLD WS ANDEBCEE, §RROBIT 302,08MTY DOR.




